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1.2
1)

2)

3)

5)

6)

7)

1.3

ux
X
2
Y

FJ
of
x 2
o

mEr A FubigrAssefeEn

nLsg HEn

Aa 18.600 m

5 2500 m ( YMZEO| WE(Wc) = 2000 m)

YHxA Al™ ArZE 76 , BEAMY = 76 , HOoEM = o
HH=0| 0.700 m

stsx=

ndstE

233 E 25.00 kN/ms3 E A 2000 kN/m3 (T= 0000 m: &
P2 | 78.50 kN/m3 z % 2300 kN/m3 (T= 0050 m: I
AEF &E5F = X EEotE HIHE

7|El &S5

L HESIE 10.000 kN/m?

BrgslE 3500 kN/m2(FEHEA) , 5000 kN/m2(HFEHIHEA)

EY

LS Op&Z} ®= 35

ESENEE c = 0 kN/m?

FEEQUAS : Ka = tan?(45 - 9/2) = 0271

TSEYLAT: Kp = tan2(45 + ©/2) = 3.690

HRELAT . Ko=1-sind = 0426

2o}

2 HoEf + 25 °C  (-10°C~40°C, 7HEA| 2 £:15°C)

FH2EX + 10 °C

Hxsxm

RS B a.= 000001 (E3ZEW) , oa,s= 0.000012 (EMEAHAHD)
HEFZE e = 0.00015

X|™HEst

INESESECI=, 5= 10 mm = X FZ220M 232[EQ H|FO0| 222 EHE(ELN X|
LI AEA =2

HWrls= I §2d ( YHEA=+ = 14 )

N N 1 79 ( XZFYAs = 011 )

AHSF o X|gt XA = = 12 )

IEEA A = 0154

SEFEA S AR SEije gl HAWZHR=10), 7|5 & B2t 7|E(R=1.0)

Sl Ad Hp e @ e AHES M ( SINGLE-MODE SPECTRUM ANALYSIS )



1. 4 AFEI =
1) Z*
A. ZY0IEAYH

s R SM490

SELE fsy = 315 MPa

BRI A= Es = 205000 MPa
B. %

T = STK400

gEd: fsy = 235 MPa

Bt A= Ep = 205000 MPa
2) 23g|E

MAZE : fck = 30 MPa

A+ : Ec = 29500 MPa = 0.077xmcAL5x(fcu)”(1/3), mc=2350kg/m?3
3)) EZAHEZ

T J . SC400

S=2Z4E . fry = 400 MPa

EbgA+ : Er = 200,000 MPa
4) x|

HIA EOI = 2800 xN (kN/m) = X|X|&
= 2800 xN (kN/m) = FHXMSE (N= 15 )

5) 7|E} 2|4+
HEHE Zxjet 232 EQ| EHdA|$H| : nsc = Es/Ec = 69

1. 5 A 7|t

ZE20|EXHH, T5 SHAMEREA ™
HFEHE, el w2zt SHA| A ER A A
1.7 #1029

ERIAEATIZE oo ZESIYE
EE2DMAT|ZEAMEFEAE) e ITES|LE,
EERMEAT|EEHAMEI AL e AhSt2 YRR DS
23z E7xH St 232 EET,
TEE 7|2 H (Ahst=R|Et3 kg,
CEUAAREE HELER,
R ETED e TESLE,
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3.1 3CHHE
-
18.600
EL:73.650 zelojam EL:73.650
T=50mm H-180x150x7x10  1—488x300x11x18
3| ot— E___g'ﬁ__ = — i |5 —3 2
S _—— e e e e e e —_ S
T2 f ’_ﬂzc uﬂu_ = ﬁ H-294x200x8x12 H.W.L EL:72,800 g = = fm
2| o — ol @
_ o -
2 PILE 2 PILE
©508.12t, L=6.00m ©508,12t, [=6.00m
760%.0001 z{ob .SAOJ 4.300 l 3.000 J 2.000 l 2.000 l 3.000 J 4300 lw.aaoio}) Fooo{mo
500
26.600
-
3.28thHE
-
== (0] =
s 7] [H F O]
2.500 5.000
250 2.000 250 250 4.500 25p
OF SLAB OF SLAB
ZoOtA2 ZetotaE
: T=50mm : T=50mm
o f ! o ‘ 1 ! l =
\, o
S L/I T y. S L‘:':mﬁ [ m:':'#\ T
H-488x300x11x18/ H-488x300x11x18 /| \ \.200x200
- \H=-150x150x7x10
501.200559 2‘5% 650 ‘w 200/ 1.650 EHJ




L— ——
J A7 Le) [
2) CHR =Y THHEEX| 2
CtHE A(mm?) I35(mm?) L,(mm4) J(mm?)
™1 CHHA-A 12,618 545,097,246 64,840,107 1,093,550
A CHHB-B 16,618 741,176,343 85,673,441 1,626,883
o |28zt CtHA-A 112,618 4,628,833,921 13,085,673,441 16,334,426,883
CHHB-B 116,618 4,867,834,586 13,106,506,774 16,334,960,217
m | AF |} EHEC-C 2,090,084 294,353,558,679 272,146,411,500 1,177,414,234,715
o | 38 ¢ HHHECC 2,090,084 294,353,558,679 272,146,411,500 1,177,414,234,715
NESIE - 18,623 568,329,115 568,329,115 1,136,658,231
£ HAE 72,825 2,026,408,360 1,033,487,385 2,066,974,770
5| 3H 1 gER 18,623 568,329,115 568,329,115 1,136,658,231
HAE 72,825 2,026,408,360 1,033,487,385 2,066,974,770
JI2H (/) 6,960 108,608,400 16,011,520 276,480
CtHTE A(mm?) I35(mm?) L,(mm4) J(mm4)
al Ut 964,654 28,939,630,712 125,606,036,077 115,758,522,849
F a2 LI 1,045,042 36,794,194,835 136,073,205,750 147,176,779,339
% | a3 Ut 1,205,818 56,522,716,235 157,007,545,096 226,090,864,939
= ad LI 1,326,400 75,231,735,308 172,708,299,606 300,926,941,233
| a5 Ut 1,406,788 89,755,979,947 183,175,469,279 359,023,919,787
2| a6 | YUdtg 1,446,982 97,671,253,653 188,409,054,116 390,685,014,614




R 1,250 R
571 |
0 x 0 @ X&7I%=1Z/A4/=
:"_ ( F= 2500 m)
| e = 2 EA)
S 1 | 300 x 18 @ =EHEE
& 452 x 11 @ |As| 15772 wr
300 x 18 @ | Ac| 859228 mm
X As: 2|
OJ A Al Ac: 232|E
S > 0 x 0 ®
[EefE7|E HHELEX]
= n A'(mm?) | z(mm) | A"z(mm3) A'z2(mm?#) I,(mm*) L(mm#) J(mm#)
©) 1.0 0 588 0 0 0 0 0
©) 1.0 5,400 579 | 3,126,600 | 1,810,301,400 145,800 40,500,000 583,200
® 1.0 4,972 344 | 1,710,368 588,366,592 84,649,957 50,134 200,537
@ 1.0 5,400 109 588,600 64,157,400 145,800 40,500,000 583,200
® 1.0 0 100 0 0 0 0 0
27 15772 | 344 | 5425568 | 2,462,825392 84,941,557 81,050,134 1,366,937
@ 7.0 125000 | 350 | 43,750,000 | 15312,5500,000 | 5104,166,667 | 16,276,041,667 | 20,416,666,667
& - 140772 | 349 | 49175568 | 17,775325392 | 5189,108224 | 16,357,091,801 | 20,418,033,604
X A EHHE xn(BHI A S=H]), Iy - SEFO0I| Ciot BFH2X 2 E (Z3) xn(BHS Al 5=H])
T = A'(mm3) I33(mm?) L,(mm4) J(mm?4)
AHE PAgun=! 15,772 681,371,557 81,050,134 1,366,937
(87t%) sE geE 140,772 5,786,042,401 16,357,091,801 20,418,033,604
R ZE Zad 12,618 545,097,246 64,840,107 1,093,550
(/m) sE geE 112,618 4,628,833,921 13,085,673,441 16,334,426,883
X CHR[EY CHHEEX| = HEY 58X xRgb, Rgb=7 7=/ % =0.800 Issgz = L + Az Ale



2) CHHB-B(THX|H)

R 1,250 R
[ (E7t=) |
~ 250 x 20 @ XSIIE = DE/AGNS
S (@ Z = 2500 m)
| (B = 2 EA)
S 1 | 300 x 18 @ #=CHEy
= 452 x 11 ® |As| 20772 wr
300 x 18 @ | Ac| 854228 mr
J X As : 27
o Ac: Z3Z|E
=1 “ﬁ» 0 x 0 ®
[EEE7|E ETHEHEK]
T2 n A'(mm32) | zmm) | A'z(mm3) A'z2(mm?) I(mm*) L(mm#) J(mm?)

) 1.0 5000 | 598 | 2,990,000 | 1,788,020,000 166,667 26,041,667 666,667
@ 1.0 5400 | 579 | 3,126,600 | 1,810,301,400 145,800 40,500,000 583,200
® 1.0 4972 | 344 | 1,710368 | 588,366,592 84,649,957 50,134 200,537
@ 1.0 5400 | 109 588,600 64,157,400 145,800 40,500,000 583,200
® 1.0 0 100 0 0 0 0 0
A 20,772 | 405 | 8415568 | 4,250,845392 | 85,108,224 107,091,801 2,033,604
® 70 | 125000 | 350 | 43,750,000 | 15312,500,000 | 5104,166,667 | 16,276,041,667 | 20,416,666,667
B - 145772 | 358 | 52165568 | 19,563,345392 | 5189274891 | 16,383,133,468 | 20,418,700271

X A HHHExn(BHEA =), Iy : SEFH0| ot SHH2AEHE (ZH) xn(EHI A =)
T A'(mm?) I5(mm?) L,(mm?) J(mm?#)

HHY PisuE] 20,772 926,470,429 107,091,801 2,033,604
(&7t%) e gdd 145,772 6,084,793,232 16,383,133,468 20,418,700,271
=Y 4 16,618 741,176,343 85,673,441 1,626,883

(/m) SEie SMH 116,618 4,867,834,586 13,106,506,774 16,334,960,217
X CHYIZCH CIE MR = AC{Y S4X|xRgb, Rgb=ACIAS/DE=0800  Lagy = L + Az2- A'e



1,250

1,250

|

1,250

—

T

1,250

—

|

1,250

—

|

T

—

|

825

W HFHEMKX]  ( A|ERHE = 4019m , ZHELHE = 4019m
T AHE CHRIZE(/m)
2 (S7t%) Al mCH ™y
X A(mm?) 1,625,000 2,090,084 2,090,084
st | Ly(mm?) | 228,854,166,667 294,353,558,679 294,353,558,679
Lo(mm?) | 211,588,541,667 272,146,411,500 272,146,411,500
J(mm?) 915,416,666,667 1,177,414,234,715 1,177,414,234,715
X TR[EY HHEEK] = ARY SEEXx(AHE N/ Z)x (W F/0 %)
wrf HHELKX]  ( A|IERHE = 4019m , ZTLHE = 4019m
T A4 CHRIZ S (/m)
2 (S7t=%) N ESmis x|

A(mm?) 750,000 964,654 964,654

Sk | Iy5(mm?) 22,500,000,000 28,939,630,712 28,939,630,712
L,(mm?) 97,656,250,000 125,606,036,077 125,606,036,077

J(mm?) 90,000,000,000 115,758,522,849 115,758,522,849
X ChIFRY CHHEMX| = HOY SGXx(AHEN /0 Z)x (W E/0 =)
wof StHEGX  ( A|EROE = 4019m , ZELUOE = 4019m )

T Ao =S (/m)
=2 (&71%) Al 1y R
A(mm?) 812,500 1,045,042 1,045,042
Fol Is(mm?) 28,606,770,833 36,794,194,835 36,794,194,835
Lo(mm?4) | 105,794,270,833 136,073,205,750 136,073,205,750

J(mm#) 114,427,083,333 147,176,779,339 147,176,779,339
X CH|EY HHHEEX] = AHOY SEEXIx(AEH /0 =) x (W ZF/n =)
o StHEMX]  ( A|HROE = 4019m , ZHUOE = 4019m )

T AHE CHRIZE(/m)

2 (S7t3) NESmis | ™y
A(mm?) 937,500 1,205,818 1,205,818
Ls(mm?) | 43,945,312,500 56,522,716,235 56,522,716,235
Ly(mm?) | 122,070,312,500 157,007,545,096 157,007,545,096
J(mm?) 175,781,250,000 226,090,864,939 226,090,864,939

X CHRIEY CtHEMX| = HOY SEGXx(AEN /0 Z)x (W Z/0 =)
W GFHELKX]  ( A|ERHE = 4019m , ZEWHE = 4019m )
T Ao R =S (/m)
=2 (87t%) Ay ™y
A(mm?) 1,031,250 1,326,400 1,326,400
L33(mm?) 58,491,210,938 75,231,735,308 75,231,735,308
Ly(mm?) | 134,277,343,750 172,708,299,606 172,708,299,606
J(mm?) 233,964,843,750 300,926,941,233 300,926,941,233
X CHIEY CHHEMX| = HOY SEGXIx(AE /0 Z)x (W =/ =)




1,250

1,250

|

|

|

|

900

W GFHEMKX]  ( A|ERHE = 4019m , ZHELHE = 4019m )
S A4 CHRIZE(/m)
= (87t%) Al mCH Z™
A(mm?) 1,093,750 1,406,788 1,406,788
L33(mm4) 69,783,528,646 89,755,979,947 89,755,979,947
Lo(mm?) | 142,415,364,583 183,175,469,279 183,175,469,279
J(mm?) 279,134,114,583 359,023,919,787 359,023,919,787
X B ERY HHEEX] = ALY EEX| x(HH/ /1 F) x (W O F/u =)

wof StHEGX  ( A|ELOE = 4019m , ZEUONE = 4019m )
T Ao CHRIZ S (/m)
= (&71%) Al ey Z™
A(mm?) 1,125,000 1,446,982 1,446,982
I33(mm?) 75,937,500,000 97,671,253,653 97,671,253,653
Lo(mm?) | 146,484,375,000 188,409,054,116 188,409,054,116
J(mm? 303,750,000,000 390,685,014,614 390,685,014,614
X TR[EY HHEEK = ARY SEEXx(AHEN /0 Z)x (W F/0 %)




10) 7IEH

z

— L

.
wEdhet

= H-294x200x8x12

= | B(mm) H(mm)| A@mm) | z(mm) | A-zZ2(mm?) L(mm?*) x(mm) A-x? L,(mm#*) J(mm?)
Flg1l | 200 12 | 2400 | 141 | 47,714,400 28,800 0 0 8,000,000 115,200
Web 8 270 | 2,160 0 0 13,122,000 0 0 11,520 46,080
Flg2 | 200 12 | 2,400 | -141 | 47,714,400 28,800 0 0 8,000,000 115,200
A - - 6,960 - 95,428,800 | 13,179,600 - 0 16,011,520 276,480

* A= 6960 mn, I3 = 108608400 mm4 I, = 16011520 mm4 J = 276480 mm?
11) TX(YEHR)
T zmus T & o o RS | H @
: V Y x5 | T F D508x12 18,699
i i A1 ©504x10 15,519 A FH| 2mm
Nz
R eI
[E7| & CHHEEX]]
-2 | 24 | W&E | A@mr) | x(mm) Ax2 Iy(mm# | y(mm) | Ay2(mm?) Ix(mm#) J(mm?)
Z+ 2 504 | 484 |15519| O 0 473,607,596 | 0 0 473,607,596 | 947,215,192 \
T E A(mm?2) L3(mm?) L,(mm?) J(mm#)
ANEE= LEEZH/EA) 15,519 473,607,596 473,607,596 947,215,192
(Rpg=1.500) | HOEEH(S7HE) 23,279 710,411,394 710,411,394 1,420,822,788
(Rpb=1200)| ECHIZZ(/m) 18,623 568,329,115 568,329,115 1,136,658,231
THLS LEE2(EA) 15,519 473,607,596 473,607,596 947,215,192
(Rpg=1.500) | AHEE(S7I=) 23,279 710,411,394 710,411,394 1,420,822,788
(Rpb=1200) | EtAEZ(/m) 18,623 568,329,115 568,329,115 1,136,658,231
X A O Y HHELK = 52Y E8K|xRpg, Rpg=LS2/HEHHM+
CHRIZG CHHEEX| = YEE2Y E4X|xRpb, Rpb=TEH2/1%
Z=o| AFEINE (AMBEE = 3 EA BHEE = 3 EA)
12) ¥5(EZF)
T = A(mm?) I33(mm?) Lr(mm?) J(mm*)
ANEYS YEZH(EA) 60,688 1,688,673,633 861,239,487 1,722,478,975
(Rpg=1.500) | HEHY(EE) 91,032 2,533,010,450 1,291,859,231 2,583,718,462
(Rpb=1200)| EtAZEZ(/m) 72,825 2,026,408,360 1,033,487,385 2,066,974,770
SEE= LEE2TH/EA) 60,688 1,688,673,633 861,239,487 1,722,478,975
(Rpg=1500) | AHZ(ES7IE) 91,032 2,533,010,450 1,291,859,231 2,583,718,462
(Rpb=1.200) | EHRIZE(/m) 72,825 2,026,408,360 1,033,487,385 2,066,974,770
X H O Y HHEGK = ZE5E2Y §8X|xRpg, Rpg=Z=F2/HH7+
CHe(ZY CHHE YK = Y5E2Y E4X|xRpb, Rpb=ZEHE2F/UE
LEOI A8 (AEE = 3 EA THEE = 3 EA)




4.2 HgYEo A=A+ Y
1) Al
@ E2I AlEA
N = 15 a = 1
Ko = 1/30 x a x E
=1/30 x 10 x 280 x 15 = 14000 kgf/m
/ ks / 4.667
AN =4 = 4 = 0.00097
AF1 4 x 295000 x 4,394,531
Fottf =H Q1 AB<m/4
~ B = 8064 am = By
kv. = 14000 x ( 8064 / 30 ) ¥ x 10000 = 11860 kN/m3
kI = 11860 x 1250 x 0.380 = 5633 kN/m3
k2 = 11860 x 1250 x 0.380 = 5633 kN/m3
k3 = 11860 x 1250 x ( 0380 + 0500 ) x 1/2 = 6,523 kN/m3
k4 = 11860 x 1250 x 0.500 = 7,412 kN/m?
k5 = 11860 x 1250 x 0.500 = 7,412 kN/m?3
k6 = 11860 x 1250 x 0.500 = 7,412 kN/m?
k7 = 11860 x 1250 x ( 0500 + 0200 ) x 1/2 = 5189 kN/m3
k8 = 11860 x 1250 x 0.200 = 2,965 kN/m3
4.3 TRO| Az
1) Al s ( = = 3900 m)
L 5900 m| D) 0.504 m Ep 2.05E+08 kN/m' | Ip(x3) | 0.000474 m*
=5 3 D(u &) 0504 m Ap 0.015519 m’ Ip(r&) | 0.000474 m*
* dhE gz Ip(@%) = 0001689 m* Ip(xZ)= 0000861 m?*
A ZEMTHO|MQ| X AT A F(Kvz)
Kvz= kviRpb = 257250 x 0769 = 197,884 kN/m M 8}(2008) 5.5.8]
oq7IM,
kv ZEo| e 2l (= a(ApEp /L)
a YLEO| A SHO| 2 A4 (= 0010 (/D) + 0360 = 0477 )
Rpb : USEp/WE (= 3 / 3900 = 0769 )
B. X|5E ¥l ¥ AT A (Khx) [TFZ=7|ZEA7|F814(2009) p361]
kh = kho-(Bh/0.3)A(-3/4) = 0.3°%%%.4%%(aE0)****(D™?*)(Ep1p) */*°
o4 7| M,
kho : ZX|& 300mm2| ZAN AT 2 it ISIA|-F Q| 20 4Yot= =8 X|EHEHA %= (=1/0.3-a-Eo)
Fo A& HYA > (= 2800 xN)
a X|gteed A 4= =H0| A0l= A= (= 1)
B YF71x0| EH4 (={(khD)/(4-EpIp)}~(1/4)
khx : CHRIEE UGS ATA S (=khDT(ZHE2F/1F))
Khn=kh-DT = YE2Y 20| i Eote =YY 2mEA S
. Khx=khD-T-(EH&4/0E) = CHRIEY MY i Este YUY AT A S



mEdret wEZX et
LAESLE ST | NA Eo kh Khn Khx kh Khn Khy
(m) (kN/m) [ (kN/m’) | (kN/m) | (kN/m) | (kN/m’) | (kN/m) | (kN/m)
248 0.600 13 36,400 | 43,074 | 13,026 | 10,020 | 46,182 | 13,965 | 10,743
L=RAR 0.600 13 36400 | 43,074 | 13,026 | 10,020 | 46182 | 13965 | 10,743
248 0.600 17 | 47600 | 57913 | 17,513 | 13471 | 62,091 | 18776 | 14,443
SIS 0.600 17 | 47600 | 66,053 | 19974 | 15365 | 66,053 | 19,974 | 15,365
SIS 0.600 17 | 47,600 | 66,053 | 19974 | 15365 | 66,053 | 19974 | 15,365
Sl 0.600 32 89,600 | 132,743 | 40,141 | 30,878 | 132,743 | 40,141 | 30,878
SIS 0.600 32 89,600 | 132,743 | 40,141 | 30,878 | 132,743 | 40,141 | 30,878
Sl 0.600 50 | 140,000 | 217,211 | 65685 | 50,527 | 217,211 | 65685 | 50,527
SIS 0.600 50 | 140,000 | 217,211 | 65685 | 50,527 | 217,211 | 65685 | 50,527
Sl 0.500 50 | 140,000 | 217,211 | 54,737 | 42,105 | 217,211 | 54,737 | 42,105
2) S™u 2% ( mZE = 3900 m)
L 5900 m| D) 0.504 m Ep 2.05E+08 kN/m' | Ip(x3) | 0.000474 m*
= 3 pIfmE)) 0504 m Ap 0.015519 m’ Ip(r&) | 0.000474 m*
* IR EUE Ip(@%) = 0001689 m* Ip(xZ)= 0000861 m?*
A ZEMTHO|MQ| X AT A F(Kvz)
Kvz= kvRpb = 257,250 x 0769 = 197,884 kN/m [&=.A.3l(2008) 5.5.8]
07| M,
kv ZEo| e 2x el (= a(ApEp /L)
a LEO| A|SHIO 2 A5 (= 0010 (/D) + 0360 = 0477 )
Rpb : ZEELH/WE (= 3 / 3900 = 0769 )
B. X|5E ol +d™ AT A (Khx) [FES7| =22 7|1F31E(2009) p361]
kh = kho-(Bh/0.3)A(-3/4) = 0.3¥%?.4%%.(a-E0)*?.(D¥?)(EpIp) ¥*
47| M,
kho : X|E 300mme| ZHHEH = Hat XHSHA|R Q| 7h0l| & Tote =3 X[EHEHE A %= (=1/0.3-a:E0)
Eo A& HYA > (= 2800 xN)
a X|gteed A 4= =0l A0l= A= (= 1)
B YE7|x9| E4U (={(kh-D)/(4-EpIp)}*(1/4)
khx : CHRIEE UGS ATA S (=khDT(ZHE2F/1F))
Khn=kh-D-T = USE2Y 2| siYste Y AT A
. Khx= kh-D-T(ZEEF/1E) = CHRIEY MY i Eote WY AT A S



mE—- ol WX 2ok
=2 | FAHT | NXK Eo kh Khn Khx kh Khn Khy

(m) (kN/m?) | (kN/m?) | (kN/m) | (kN/m) | (kN/m’) | (kN/m) | (kN/m)
2R 0.600 13 36,400 43,074 13,026 10,020 46,182 13,965 10,743
248 0.600 13 36,400 43,074 13,026 10,020 46,182 13,965 10,743
2R 0.600 17 47,600 57,913 17,513 13,471 62,091 18,776 14,443
BT 0.600 17 47,600 66,053 19,974 15,365 66,053 19,974 15,365
BT 0.600 17 47,600 66,053 19,974 15,365 66,053 19,974 15,365
BT 0.600 32 89,600 132,743 40,141 30,878 132,743 40,141 30,878
BT 0.600 32 89,600 132,743 40,141 30,878 132,743 40,141 30,878
BT 0.600 50 140,000 | 217,211 65,685 50,527 217,211 65,685 50,527
BT 0.600 50 140,000 | 217,211 65,685 50,527 217,211 65,685 50,527
BT 0.500 50 140,000 | 217,211 54,737 42,105 217,211 54,737 42,105




4. 4 554t
4 41 BdH SIF
n = 2500 m| A|I”LOHZ | 4019 m| AGH=* 2 EA Cfs 1.608
JI2EZ0| | 1200 m| ZSEDO=E | 4019 m| 7IEE=Z 2 EA Cfe 1.608
X W8 =22 083t SHES /AP Cls=A B LU ZE/IE Cfe=FHUHZ/UE)
1) U= 9 7| XLy 5=
A HE
Al Wpl= 002 x 7850 x ( 3 / 2500 ) = 1761 kN/m' (EZd&% = 7.281 )
z 3 Wp2 = 002 x 7850 x ( 3 / 2500 ) = 1761 kN/m* (&%= 7281 )
B. i & Hef3l
AlH Wal = ( 1300 x 2500 + 000 x 2500 / 1850 ) x Cfs = 52252 kN/m
= A Wa2 = ( 1300 x 2500 + 000 x 2500 / 1850 ) x Cfe = 52252 kN/m’
C. H&siE
S-al Wsl = ( 0600 x 2500 + 000 x 2500 / 1500 ) x Cfs = 24116 kN/m’
S-a2 Ws2 = ( 0650 x 2500 + 000 x 2500 / 1500 ) x Cfs = 26126 kN/m’
S-a3 Ws3 = ( 0750 x 2500 + 000 x 2500 / 1875 ) x Cfs = 30.145 kN/m’
S-a4 Ws4 = ( 0825 x 2500 + 000 x 2500 / 1875 ) x Cfs = 33.160 kN/m
S-a5 Ws5 = ( 0875 x 2500 + 000 x 2500 / 1875 ) x Cfs = 35170 kN/m’
S-a6 Ws6 = ( 0900 x 2500 + 000 x 2500 / 1875 ) x Cfs = 36.175 kN/m’
2) 483X 55
A. EY40|EAGH
R Wb = ( 002 x 7850 )x( 2500 ) = 0990 kN/m’
=2 Wbnr= ( 002 x 7850 )x( 2500 ) = 1304 kN/m’
B. HIEIE E232|E
L Wsll = ( 086 x 2500 )x( 2500 ) = 17.185 kN/m’
=2 Wsl2 = (085 x 2500 )x( 2500 ) = 17.085 kN/m
C.7l2H 232|E
l2E Wer = ( 001 x 7850 x 1200 )x( 2 / 2500 / 19940 ) = 0026 kN/m’
B &481x 55
A Wbrl= Wbml + Wsll + Wer = 18.20  kN/m’
I WbrZ = Wbm2 + Wsl2 + Wer = 18.42  kN/m’
4 42 4= S5
1) SN2 A HEsHESE
LY £ Op&F 2+ ®= 35
CHRISE :y= 2000 kN/m3
FSELAST : Ka = tan2(45 - ©/2) = 0271
TSELA T Kp = tan2(45 + ®/2) = 3.690




2)

3)

AEE R EY
HESZO0 P FSEY A8
gas1 = Ka(ql + Z% + F&EaE)Cfs
= 0271 x ( 10000 + 0.050 x 2300 + 0000 x 2500 ) x 1608 = 3.022 kN/m’
gas2 = 3022 + 0271 x 0700 x 2000 x 1608 = 9122 kN/m’
gass = 3.022 + 0271 x 1450 x 2000 x 1608 = 15657 kN/m’
gass = 3.022 + 0271 x 2200 x 2000 x 1608 = 22192 kN/m’
SHE FNE2 EY
dEFZ0 o FSEY A8
gaer = Ka(ql + ZT + H&ESHE)Ce
= 0271 x ( 10000 + 0.050 x 2300 + 0000 x 2500 ) x 1608 = 3.022 kN/m’
gae2 = 3022 + 0271 x 0700 x 2000 x 1608 = 9122 kN/m’
gaes = 3.022 + 0271 x 1450 x 2000 x 1608 = 15.657 kN/m’
gaes = 3022 + 0271 x 2200 x 2000 x 1608 = 22192 kN/m’
"A*EHH(iIF+XI'3)
Al E Povs = [ 0050 x 4000 / 2 x 2000 + { 0000 x 4000 / 2+ 1/2 x ( 1.200
+ 0000 ) x 0000 } x 2500 ] x ( 2000 / 250 ) = 1.600 kN/m
z 3 Pove = [ 0050 x 4000 / 2 x 2000 + { 0000 x 4000 / 2+ 1/2 x ( 1200
+ 0000 ) x 0000 } x 2500 ] x ( 2000 / 250 ) = 1.600 kN/m
X BNo &EeE o152l 1/20] FEH(X| 80| 1/2 X|X]).
F7t DHSHE(ZHE, A A H7H5EE)
0.250  0.000
T o o EhH A
- W = = (mm) x == O| (mm) (m)
o ; o ® | 0250 x 0.300 0.0750
E ® i E ® | 0000 x 0300 x 1/2 | 0.0000
J l 1 A 0.0750
AN Wgd = 0075 x 2500 x 1 EA/ 2500 = 0750 kN/m’
AM(R) Wgd = 00750 x 2500 x 1 EA/ 2500 = 0750 kN/m’
sy Whr = 1000 x 2 EA/ 2500 = 0800 kN/m
dA A Wse = 0200 x 0250 x 2500 x O EA/ 2500 = 0020 kN/m
Wdc = 2320 kN/m’
N Wpv = 0050 x 2300 x 2000 / 2500 = 0920 kN/m’
Hem% Wpw= { 1/2 x ( 0200 + 0412 ) x 4900 x 2500 x 0 EA
+ 0000 x 0000 x 000 x 0EA} / 2500 = 0000 kN/m’
Wdw = 0.920 kN/m’
2253 [Z.4.3F 46.24]
B &5l3
Wsw = 3500 x ( 2000 + 2000 ) / 2500 = 5.600 kN/m’
XE 2SS S0 Mot SRESIZT2 542 LE5HA| 3.
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Zlezlaeq 5, . P |
——> ¥
ESESE
X z 243 X z H3E X Z
0.000 1.850 8 12.970 1.850 100 0.000 1.500
0.670 1.850 14.470 1.850 101 0.000 0.750
1.970 1.850 10 15.970 1.850 102 0.000 0.000
3.970 1.850 11 17.970 1.850 200 19.940 1.500
5470 1.850 12 19.270 1.850 201 19.940 0.750
6.970 1.850 13 19.940 1.850 202 19.940 0.000
9.970 1.850
-3.330 1.850 a7 -1.070 1.850 b5 22.010 1.850
-2.950 1.850 a8 -0.670 1.850 b6 22.510 1.850
-2.570 1.850 bl 20.610 1.850 b7 22.890 1.850
-2.070 1.850 b2 21.010 1.850 b8 23.270 1.850
-1.570 1.850 b3 21.260 1.850
-1.320 1.850 b4 21.510 1.850
2) 4

iSRS A(m2) I33(m*) Ip>(m?) J(m?) HE Hl 2

BEM1 | 0.012618 0.000545 0.000065 0.000001 E LI IE|

BEM2 | 0.016618 0.000741 0.000086 0.000002 o2 A

ABUTS| 2.090084 0.294354 0.272146 1.177414 AlEE mry

ABUTE| 2.090084 0.294354 0.272146 1.177414 SHES uny

PILES | 0.018623 0.000568 0.000568 | 0.00113666 AEE UE gty

SPLES | 0.072825 0.002026 0.001033 | 0.00206697 AFR TS 288

PILEE | 0.018623 0.000568 0.000568 | 0.00113666 T U5 et




SPLEE | 0.072825 0.002026 0.001033 | 0.00206697 HeEUx 848
st | CBEM1| 0.112618 0.004629 0.013086 0.016334 UEE 7O
CBEM2| 0.116618 0.004868 0.013107 0.016335 R &
T & |84y A(m?) I35(m?) I5(m?) J(m#) HEEX Hl 1
et ™ |ASLABL| 0.964654 0.028940 0.125606 0.115759 H&sge
ASLAB2| 1.045042 0.036794 0.136073 0.147177 "
ASLAB3| 1.205818 0.056523 0.157008 0.226091 "
ASLAB4| 1.326400 0.075232 0.172708 0.300927
ASLAB5| 1.406788 0.089756 0.183175 | 0.35902400 "
ASLAB6| 1.446982 0.097671 0.188409 | 0.39068500
T2 |84 A(m?) I33(m*) Io(m*) J(m*) ESEERIN H 1
St S [cBEMcen| 0.114618 0.004749 0.013097 0.016335 ol O
CBEM11| 0.113618 0.004689 0.013091 0.016334 BotE HE1
CBEM12| 0.115618 0.004808 0.013102 0.016335 #HolE 72
4 5.2 5t=xjs}
A. AHH 9 HiEHE nHSHS
Whbr2 _
Ws1~Ws5 Wbrl Ws1~Ws5
Y vV Vv v v v . v v v vV ¥ v ¥
9 ﬁJ
Wal' | % Wal'= Wal + Wwl | Wsbe'
Wa2'= Wa2 + Ww2
' '
Wpl‘i \ Wp2
Wpl Wp2
pL .y . AL
Ul Y
|'Y\ (] (] {'b_'
Wbrl | 18201 kN/m* | Wal' | 52252 kN/m* | Wpl' | 7281 kN/m* | Wpl | 1761 kN/m’
Wbr2 | 18415 kN/m* | Wa2' | 52252 kN/m* | Wp2' | 7281 kN/m' | Wp2 | 1761 kN/m’
Wsl | 24116 kN/m* | Ws2 | 26126 kN/m* | Ws3 | 30145 kN/m* | Ws4 | 33.160 kN/m
Ws5 | 35170 kN/m' | Ws6 | 36175 kN/m’
1) g4 555t
A 1H™s5
Ppv Wdc Wdw Ppve
& I I I ] I I i
2% W
2 . . "\l
e’ *on




| wdc | 2320 kn/m | wdw | 0920 kn/m | Ppvs | 1600 kN/m | Ppve | 1600 kN/m
EYY
FSEY
gasi ) gae:
gas: gae:
gass gaes
gasa gaes
M wA
o, S
2% ° . -
gasi 3.022  kN/m’ gass | 15.657 kN/m’ gaei 3.022 kN/m* | qaes | 15.657 kN/m’
gas: 9122  kN/m’ gass | 22192 kN/m’ gaez 9122 kN/m’ gaes | 22192 kN/m’
+EEY
gpst gpe1
gps: gpe:
gpss gpes
gps pes
oy w
o, S
e’ o
qps: 0.000  kN/m’ qpss | 86.027 kN/m’ qpe: 0.000  kN/m’ gpes | 86.027 kN/m’
gpsz | 41530 kN/m’ gpss | 130.524 kN/m* | gpe2 | 41530 kN/m’ | qgpes | 130.524 kN/m’
gos
BCE5E
Wsw
v v v v v v v y
X Wsw = 5600 kN/m’
M wA
o, S
2% ° . -



X AT = -25°C @ RBXzd
ATz = -10 °C : EX= =lztgtesf
" w
'-Y\I . . ‘/H
. .
e )
E. 2E5IF(+)
X AT = 25 °C : EXI= disk
ATz = 10 C o EWE HZuy
FAZSS
[ote] [ata]  [ama] [sm0[[era] — [ara]  [ara] = [oma][sre] [am]  [a79][ore]
'-Y\I ‘/H
2% . ] "
me il
| a1 | -15000 ¢ | ATgi | -11100 ¢ | ATg: | -10719 ¢ | |
G. X|E &3t
¥ &= 10 mm
" w
'-Y\I . . ‘/H
. .
L] : ‘/H
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SCOM3-1 - 1 - -
SCOM3-2 0.5 1 - 1
SCOM3-3 - - 0.5 1
SCOM4-1 0.8 - 1 - -
SCOM4-2 0.8 0.5 1 - 1
SCOM4-3 0.8 - - 0.5 1




HWis= I 8§21 ( A=A = 14 )

N PN I 9 ( XZFYAs = 011 )

XNHSF o X|gt ( XIEHAZS) = 12 )

JhEE A2 A = 0154

S A ek ; Hrene AHERY S|MH ( SINGLE-MODE SPECTRUM ANALYSIS )
2) Fl25 ERYS

SO HEA

Eo= 2800 xN = 42000 kN/m* (N= 15 )

MA FEEUAS

Ka = tan2(45 - ®/2) = 0271 (P= 35 )
XZIAN =S ELH
2
Kae= cos(p-0- /) > = 0314
cos 0cos? feos(f+ f + 5)[1 +J sin(¢ + ) sin(¢ - 9’—/)
cos(@ + S +8)cos(i — )
oq7IM, o 8ol LeorEZ (= 35 9
5 S HAe otz (= 0 )
[ FIE 8ol BA (= 0 )
B HHE el =2 (= 0 )
Kh AR X|H7MEEA S (= 05A = 0077 )
Kv : =% XIS EA 5 (= 0.000 )
0 = tan’{Kh/(1-Kv)} = 4403 °
5.2 CHHEEX| 4Hg
5.21 7X& ME0 st CHHEGEX] 29
=
CHEHE A(m?) I33(m*) Ir,(m*) J(m*)
S CHHAA 0.031544 0.001363 0.011518 0.000003
A CHMB-B 0.041544 0.001853 0.015170 0.000004
o |gd=1 CHHA-A 0.281544 0.011572 0.134070 0.040836
CHHB-B 0.291544 0.012170 0.137722 0.040837
m | AF | HECC 5.225211 0.735884 7.034667 2.943536
ol | 38 | EtED-D 5.225211 0.735884 7.034667 2.943536
kS LI 0.046558 0.001421 0.053877 0.00284165
Z 248 0.182063 0.005066 0.207708 0.00516744
5| &8 LIk 0.046558 0.001421 0.053877 0.00284165
248 0.182063 0.005066 0.207708 0.00516744
H H&-al 2411636 0.072349 3.246770 0.289396
= H&-a2 2.612606 0.091985 3.517334 0.367942
) H&-a3 3.014545 0.141307 4058462 0.565227
2 H&-ad 3.315999 0.188079 4464308 0.752317
=] H&-a5 3.516969 0.224390 4734872 0.897560
H&-a6 3.617454 0.244178 4870154 0976713




5.22CHHEM

1) AC (M)

x| M8

=i T = A(m2/EA) I35(m4/EA) L,(m#4/EA) J(M*/EA)
CHHA-A T YT O 0.015772 0.000681 0.000081 0.00000137
o E 0.031544 0.001363 0.011518 0.00000273
gtz g 0.140772 0.005786 0.016357 0.02041803
o E 0.281544 0.011572 0.134070 0.04083607
Cioip-B | Y™ ZIELES 0.020772 0.000926 0.000107 0.00000203
o E 0.041544 0.001853 0.015170 0.00000407
gtd= | AHE 0.145772 0.006085 0.016383 0.02041870
o E 0.291544 0.012170 0.137722 0.04083740
* AH= ng = 2 EA
AHztA a = 1200 m
CHHA(T ) A = Ang
m=grek CHHIXIM(T E) L; = Lyng
g ghg CHH2AIM(T ) L, = Lyng + Aa2{2m-1)(2m)(2m+1)/6}/2 ;m=ng/2 =
HE ST ) J = Jng
2) mCi(THHC-C) =)
T = B(m) H(m) A(m2) I35((m*) L>((m#) J(m4)
A™ Ly | 4019 1.300 5225211 0.735884 7.034667 2.943536
™Y | 4019 1.300 5225211 0.735884 7.034667 2.943536
* A=BH, I;3=BHY12 L,=HB3¥12, J=BHY3
3) &S GES
T = B(m) H(m) A(m2) I33((m?) L>((m#) J(m4)
H&-al | 4019 0.600 2411636 0.072349 3.246770 0.289396
H%-a2 | 4019 0.650 2.612606 0.091985 3.517334 0.367942
H%-a3 | 4.019 0.750 3.014545 0.141307 4.058462 0.565227
H%-a4 | 4019 0.825 3.315999 0.188079 4464308 0.752317
H#-a5 | 4.019 0.875 3.516969 0.224390 4734872 0.897560
HM%-a6 | 4019 0.900 3.617454 0.244178 4870154 0.976713
* A=BH, I;3=BHY12 L,=HB3¥12, J=BHY3
4) Y (YR
A AEEE EEc)
YHF(np.EA) | EHZHH(am) A(m?Z/EA) I33(m#/EA) L,(m#/EA) J(M4/EA)
3 1.300 0.015519 0.000474 0.000474 0.00094722
HE0| Tt CHHEGXK
A = 0046558 m? (= Anp)
Iy = 0001421 m* (=Inp)
I, = 0053877 m* (=Lynp + Aaz{mm+1)2m+1)/6}2 im=(np-1)/2= 1 )
J = 0.00284165 m* (= Jnp)
B. 3HUE (BF59)
LE(np,EA) | LA (a,m) A(m2/EA) I35(m4/EA) L,(m#4/EA) J(M4/EA)
3 1.300 0.015519 0.000474 0.000474 0.00094722

1



M| chet ErEs

[l

=2

A = 0.046558 m2 (=Anp)
Ly = 0001421 m* (=Isnp)
I, = 0053877 m* (=1Lynp + Aaz{m(m+1)(2m+1)/6}-2 m=(n-1)/2= 1 )
J = 0.00284165 m* (= Jnp)
5) YE(RLR)
A NELE (=g
UL (pFA) | DEZZ@m) | AMYEA) Iy3(M*/EA) Ly(Mm*/EA) J(m*/EA)
3 1.300 0.060688 0.001689 0.000861 0.00172248
H=0f oot CTHHESXK
A = 0182063 m2 (=Anp)
I = 0005066 m* (=Is3np)
I, = 0207708 m* (=Lynp + Aaz{m(m+1)(2m+1)/6}-2 =(np-1)/2= 1)
J = 0.00516744 m* (= Jnp)
B.ZHER (F=3)
HEF(npEA) | = (am) A(m?/EA) I33(m*/EA) L,(m*/EA) J(m*/EA)
3 1.300 0.060688 0.001689 0.000861 0.00172248
HE0j| cht CHHESEX]
A = 0182063 m2 (=Anp)
I = 0005066 m* (=Isnp)
I, = 10207708 m* (=Ipnp + Aaz{m(m+1)2m+1)/6}-2 =(n-1)/)2= 1 )
J = 0.00516744 m* (= Jnp)
5.3 ¥EgHE 2537 48
1) XIEA
@ 20 AlEEA
N = 15 a = 2
Ko = 1/30 x o x Eg
=1/30 x 20 x 280 x 15 = 28.000 kgf/an
/ ks’ 4.667
A =4 = 4 = 0.00097
4El 4 x 295000 x 4,394,531
Fotoi =49 AB</4
.. B = 8064 m = By
kv = 28.000 x ( 8064 / 30 ) ¥ x 10000 = 23719 kN/m?
kI = 23719 x 1250 x 0.380 x 4.019 = 45,285 kN/m3
k2 = 23719 x 1250 x 1500 x 4.019 = 178757 kN/m3
k3 = 23719 x 1250 x ( 0380 + 0500 ) x 1/2 x 4.019 = 52,435 kN/m3
k4 = 23719 x 1250 x 0500 x 4.019 = 59,586 kN/m3
k5 = 23719 x 1250 x 0.500 x 4.019 = 59,586 kN/m3
k6 = 23719 x 1250 x 0500 x 4.019 = 59,586 kN/m3
k7 = 23719 x 1250 x ( 0500 + 0200 ) x 1/2 x 4.019 = 41,710 kN/m3
k8 = 23719 x 1250 x 0200 x 4.019 = 23,834 kN/m3



5.4 UH AT AH
1) A 25
L 5900 m| D@=) 0504 m Ep 2.05E+08 kN/m* | Ip(@3) | 0000474 m*
=T 3 D(x &) 0504 m| Ap 0.015519 m’ Ip( &) | 0.000474 m*
» IE H4E Ip(d3) = 0001689 m4 Ip(E)= 0000861 m*
A I:||-==A-1I:|-0“k|0| O:III AEEIZ"_JIN_(KVZ)
Kvz= kvnp = 257,250 x 3 = 771,749 kN/m [=.A.8}(2008) 5.5.8]
q7IM,
kv LEO| S AT (= a(ApEp / L)
a Lol A|SHO| 2 A5 (= 0010 (/D) + 0360 = 0477 )
np 22T (= 3 EA
B. X|5E ¥Xo| ¥ AT YA (Khx) [TEE7|ZEA 7| =81 E(2009) p361]
kh = kho:(Bh/0.3)A(-3/4) = 0.3¥%°.47/2%(a:E0)*¥?°-(D¥?°)(EpIp) /%
o7 M,
kho : X|& 300mme| ZHTtez W MStAI- Q| o &2t =% X|EHEHE A <= (=1/0.3-a-Eo)
Eo XNed HEA+= (= 2,800 xN)
a X|gHE A 4= =H0| 40|= A= (= 2)
B L7\ x0| §HEU (={(kh-D)/(4 EpIp)}A(1/4))
khx RS 8 AT A S (=khDT(RSE25/LF))
Khn=kh-D-T = Y2 HEo H%* te =8 AZE A
. Khx= kh-D-T-(ZE22) - HNEY BEO Yot sEYY AZ A
mE=get wEZZH!
E ST | NX| Eo kh Khn Khx kh Khn Khy
(m) (kN/m?) | (kN/m’) | (kN/m) | (kN/m) [ (kN/m) | (kN/m) | (kN/m)
232 0.600 13 36400 | 92,553 | 27,988 | 83964 | 99,229 | 30,007 | 90,021
28 0.600 13 36400 | 92,553 | 27,988 | 83964 | 99,229 | 30,007 | 90,021
248 0.600 17 47,600 | 124,436 | 37,630 | 112,889 | 133,413 | 40,344 | 121,032
LIS 0.600 17 47,600 | 141,926 | 42,919 | 128756 | 141,926 | 42,919 | 128756
LIk 0.600 17 47,600 | 141,926 | 42,919 | 128,756 | 141,926 | 42,919 | 128,756
LIS 0.600 32 89,600 | 285221 | 86251 | 258,753 | 285221 | 86,251 | 258,753
Ut 0.600 32 89,600 | 285221 | 86,251 | 258,753 | 285221 | 86,251 | 258,753
LIS 0.600 50 | 140,000 | 466,716 | 141,135 | 423,404 | 466,716 | 141,135 | 423,404
Ut 0.600 50 | 140,000 | 466,716 | 141,135 | 423,404 | 466,716 | 141,135 | 423,404
LIS 0.500 50 | 140,000 | 466,716 | 117,612 | 352,837 | 466,716 | 117,612 | 352,837




mE=S)] 0504 m Ep 2.05E+08 kN/m' | Ip(1%) | 0.000474 m*

mES)) 0504 m Ap 0.015519 m’ Ip(@Z]) | 0000474 m*

*
=R My
HA
H
oy
Sl
=
El
A
1l
o
o
o
=
(@)}
0]
(e}

m4, Ip(&) = 0000861 m*

A. HEMELO)A{Q] HEl A

|I:I
om
.-
bl
A
8

Kvz= kvnp = 257250 x 3 = 771,749 kN/m (=M 3l(2008) 5.5.8]
0 7| A,

kv o RO S AZEFS (= a(ApEp /L)

a . UEO ASHO| ME A= (= 0010 (/D) + 0360 = 0477 )

np : "EEF (= 3 )

B. X|5E ¥Xo| =¥ AT YA (Khx) [TZ2E7|ZHA7|E814(2009) p361]
kh = kho-(Bh/0.3)A(-3/4) = 0.3%%%4%%(aE0)****(D™**)(EpIp) */*°
o7 M,
kho : A& 300mme| ZH Y= it XYSHAIR Q| 7H0l| & Sote = X[EHEHE A== (=1/0.3-a:E0)
Fo : X|&Y BHdAdA S+ (= 2800 xN)
a o K[RHEREA F=HO| MO0l A (= 2)
B H=I|ZQ EHIU (={(kh-D)/(4-Eplp)ir(1/4)
khx @ EHET sEEUS 2AZ A S (=khD-T(EFF2F/1E))
Khn=kh-D-T - USEY 0| siYste sEYY AT A
. Khx= kh-D-T-(ZE22) = THEY 2O sHEste 8 Ax A
mE=get mi=ESEAL o,
22 | FAHM | NK Eo kh Khn Khx kh Khn Khy
(m) (kN/m) | (kN/m’) | (kN/m) | (kN/m) | (kN/m) | (kN/m) | (kN/m)
248 0.600 13 36400 | 92,553 | 27,988 | 83964 | 99,229 | 30,007 | 90,021
28 0.600 13 36400 | 92,553 | 27,988 | 83964 | 99,229 | 30,007 | 90,021
248 0.600 17 | 47,600 | 124,436 | 37,630 | 112,889 | 133,413 | 40,344 | 121,032
Lute 0.600 17 47,600 | 141,926 | 42,919 | 128756 | 141,926 | 42,919 | 128,756
LIk 0.600 17 47,600 | 141,926 | 42,919 | 128,756 | 141,926 | 42,919 | 128,756
Lyt 0.600 32 89,600 | 285221 | 86251 | 258,753 | 285221 | 86,251 | 258,753
Ut 0.600 32 89,600 | 285221 | 86,251 | 258,753 | 285221 | 86,251 | 258,753
Lyt 0.600 50 | 140,000 | 466,716 | 141,135 | 423,404 | 466,716 | 141,135 | 423,404
Ut 0.600 50 | 140,000 | 466,716 | 141,135 | 423,404 | 466,716 | 141,135 | 423,404
LIS 0.500 50 | 140,000 | 466,716 | 117,612 | 352,837 | 466,716 | 117,612 | 352,837




3) it ¥ =

THoIEE 3y

Ch 2
T = woi=(B) W =0[(H) m=arek He 2 (Ks) WEESE o ™ 2 (Kn)
(m) (m) (kN/m) (kN-m/rad)
AlE ey 4,019 2.200 71,746 58,828
4 oy 4019 2.200 71,746 58,828
* He FIXMSet Gote nofe| =0|
Ks = 0.425-Eo-B, Kr = 0.072:Eo-B-H?, Eo = 42000 kN/m’
YE, 2% Wak mddnt XF, 250 et 2|8 d2 FAIE
234 44
T = 2 = wa=arek He 2 (Ks) Ak o] M2 (Kr)
(m) (kN/m) (kN-m/rad)
100 0.725 52,016 42,651
AlE ey 101 0.750 53,810 44,121
102 0.375 26,905 22,061
200 0.725 52,016 42,651
e S i 201 0.750 53,810 44,121
202 0.375 26,905 22,061
* HEE 4 = T EY xR EE
5 ot=z4hd
5.1 g otE
ZfEZE@E) = 2500 m
R X|7HE = 19940 m
1) 25 9 7|xnry 55
A TR
Al® . Wpis= 1761 x 2500 = 4403 kN/m(EZE = 18203 kN/m)
ZH . Wpie= 1761 x 2500 = 4403 kN/m(EZH = 18203 kN/m)
B. mLlf, H2f3! & LI
AE : Wabs'=( 52252 + 0000 ) x 2500 = 130.630 kN/m
Z™ : Wabe'=( 52252 + 0000 ) x 2500 = 130.630 kN/m
2) 4RTAX o5
=% : Wbml: 18201 x 2500 = 45503 kN/m
CHE - Wbm2 : 18415 x 2500 = 46.038 kN/m
3) H&EEHE 515
S-al : Wsl= 24116 x 2500 = 60290 kN/m
S-a2 1 Ws2= 26126 x 2500 = 65315 kN/m
S-a3 : Ws3= 30145 x 2500 = 75363 kN/m
S-a4 : Ws4= 33160 x 2500 = 82900 kN/m
S-a5 : Ws5= 35170 x 2500 = 87925 kN/m
S-a6 : Ws6= 36175 x 2500 = 90438 kN/m




b

o
ot
ot

.5.2 H=

1) X|TIA EF

A XZN FESEY
A& . Paes = Y:KaeyH2B = 1/2 x 0314 x 2000 x 2200 2 x 4019 = 61048 kN
EH . Paee = Y2Kae-y-H?B = 1/2 x 0314 x 2000 x 2200 2 x 4019 = 61048 kN

S| Pas = Y%Kay-H?2B = 1/2 x 0271 x 2000 x 2200 2 x 4019 = 52718 kN

8™ . Pae = YKayH2B = 1/2 x 0271 x 2000 x 2200 2 x 4019 = 52718 kN
C. XA =SEYS| XHEF L+

A

AP = 61048 - 52718 = 8330 kN

(Pas-H/3)+(AP-0.6H) 52718 x 2200 / 3+ 8330 x 0.6 x 2200
h = = = 0813 m
Paes 61.048

=X

o o

AP = 61048 - 52718 = 8330 kN

(Pae-H/3)+(AP-0.6H) 52718 x 2200 / 3+ 8330 x 0.6 x 2200
h = = = 0813 m
Paee 61.048

2) M&sEYE 9 =71 HSHE
A BEEHL(EE+RE)

Al B Ppvs = 1600 x 2500 = 4000 kN

Z ® : Ppve= 1600 x 2500 = 4000 kN
B. &7t nH¥stS (=, A U Ht5E)

o H Wdc = 2320 x 2500 = 5800 kN/m

o5 Wdw = 0920 x 2500 = 2300 kN/m

T = StE/m (kN/m) Z0[(m) St=(kN) H|(kN)

AH zote 45503 18.600 846.356
°T L °°T 908.047

o 2 46.038 1.340 61.691

mils AlH 130.630 1.850 241.666
483331

z A 130.630 1.850 241.666

W(x) = ( 908.047 + 483331 / 2) / 19940 = 57.659 kN/m



2) e XSS (T MM SHES ()22 £8)

A. n S HR (vs(x)) A7
AETO| Zt B0 mSuE X2 THRBIE(1kN/m)S Mot & Helgh =&

\

o]
WXy
[
% Tabek 2|CHHR] . Vs(x) = 00001273 m
B. S7PdH X|T8HE (Pe(x) M7
aBy Aot 48
o= [Vs(x)dx = 00001273 x 19940 = 00025380 m’
B = [Wx-Vsx)-dx = 57659 x 00001273 x 19940 = 0.1463376 kN-m
y = [W-Vsx)2dx = 57659 x 000012732 x 19940 = 00000186 kN-m'

V% 0.0000186
T=2n |—— =2m = 0172 sec.
Po-ga 1x 981 x 0.0025380

=]
AS 12 x 0154 x 12

1
Cs = = T = 0717 > 25A = 0385 - Cs= 0385
S7HEE K| XSS (Pe(x))
B-Cs 01463376 x 0.385
Pe(x) = ———— WX)Vs(x) = x 57659 x 00001273 = 22199 kN/mr
y 0.0000186

oh

Tz
0%
bt
2
rE
0

Vs(x) = 0.0001291 m



oBy Al=dt &8
o= [Vs(x)-dx = 00001291 x 19940 = 0.0025743 m
B = [WXVsx)-dx = 57659 x 00001291 x 19940 = 01484291 kNm
v = JWVsx)2dx = 57659 x 000012912 x 19940 = 00000192 kN-nv
wEko| F7|(T)
/ y / 0.0000192
T=2n | —— = 21n = 0173 sec.
Po-g-a 1x 981 x 00025743
EHIXI T S EAS(Cs)
1.2A'S 12 x 0154 x 12
Cs = = 13 7 = 0714 > 25A = 0385 ~ Cs= 0385
S7P3H X|T5HS (Pe(x)
B-Cs 0.1484291 x 0.385
Pe(x) = =——— W(X)Vs(x) = x 57659 x 0.0001291 = 22199 kN/m
v 0.0000192
4) WA X[ XSS
MEFTRO| 2t X0 RS (y) 22 TGS (1kN/m)2 Mstet = HRIgt ==
1kN/m Figy |
| :
F
q
F
q
Zegr shE0f oot e S gt S7t X[ Tsts
A SN HLIVs(y) Zo|L Vs(y)-L Vs(y)-W(y)-L Vs(y)2W(y)-L Pe
(m) (m) (m) =a(m’) =B(kN-m) =y(kN-m’) (kN/m)
1 0.000 | 0.0001043 0.670 | 0.0000699 | 0.0040303832 0.0000004205 5.184
2 0.670 | 0.0001530 1.300 | 0.0001989 | 0.0114698745 0.0000017551 7.604
3 1.970 | 0.0002456 | 2.000 | 0.0004913 0.0283248269 0.0000069573 12.205
4 3.970 | 0.0003747 1.500 | 0.0005621 0.0324106844 0.0000121457 18.621
5 5470 | 0.0004541 1.500 | 0.0006811 0.0392702458 0.0000178308 22.562
6 6.970 | 0.0005135 3.000 | 0.0015406 | 0.0888277751 0.0000456155 25.517
7 9.970 | 0.0005628 3.000 | 0.0016883 0.0973434410 0.0000547808 27.964
8 12.970 | 0.0005152 1.500 | 0.0007727 | 0.0445551915 0.0000229531 25.599
9 14470 | 0.0004584 1.500 | 0.0006876 | 0.0396460270 0.0000181737 22.778
10 15.970 | 0.0003841 2.000 | 0.0007681 0.0442890711 0.0000170098 19.084
11 17.970 | 0.0002664 1.300 | 0.0003463 0.0199648288 0.0000053177 13.235
12 19.270 | 0.0001848 0.670 | 0.0001238 | 0.0071397818 0.0000013196 9.184
13 19.940 | 0.0001431 7.113
A 19.940 | 0.0079307 04572721 0.0002043




Y 0.0002043
T=2n | — =21 = 0322 sec.
Po-ga 1x 981 x 0.0079307

* BEREX| TS EHA(Cs)
1.2°AS 12 x 0154 x 12
Cs = > = = 0472 > 25A = 0385 - Cs= 0385
T2 0322 %3
* S7F8H KITSHS (Pe)
P _BCs W(y)-Vs(y) 0Ab72721 x 0385 57.659 Vs(y) 49690.629 Vs(y)
e = Vs = X . XVS = . XVs
vy YISy 0.0002043 y y

5. 6 PRGN RUY HA

5.6.1 oA mEl

1) 7| 2o

i
JOMEAAN T 7 ] 4 L . 7 LB R

= )
3
F—> X
=
=]
=

1

]

LSk X z AH X z AH X Z
1 0.000 1.850 8 12.970 1.850 100 0.000 1.500
2 0.670 1.850 9 14.470 1.850 101 0.000 0.750
3 1.970 1.850 10 15.970 1.850 102 0.000 0.000
4 3.970 1.850 11 17.970 1.850 200 19.940 1.500
5 5470 1.850 12 19.270 1.850 201 19.940 0.750
6 6.970 1.850 13 19.940 1.850 202 19.940 0.000
7 9.970 1.850
al -3.330 1.850 a7 -1.070 1.850 b5 22.010 1.850
a2 -2.950 1.850 a8 -0.670 1.850 b6 22.510 1.850
a3 -2.570 1.850 bl 20.610 1.850 b7 22.890 1.850
a4 -2.070 1.850 b2 21.010 1.850 b8 23.270 1.850
a5 -1.570 1.850 b3 21.260 1.850
a6 -1.320 1.850 b4 21.510 1.850




2) CHHEM

T & |84y A(m?) I35(m?) I5(m?) J(m#) HEE H 2
st ™| BEM1 | 0.031544 0.001363 0.011518 0.000003 et AG
BEM2 | 0.041544 0.001853 0.015170 0.000004 R [T
ABUTS| 5.225211 0.735884 7.034667 2.943536 AR Ly
ABUTE| 5.225211 0.735884 7.034667 2.943536 SHEE oy
PILES | 0.046558 0.001421 0.053877 0.00284165 Al ZE Qs
PILEE | 0.046558 0.001421 0.053877 0.00284165 ™ Txddtg
SPLES | 0.182063 0.005066 0.207708 0.00516744 AlE S5t
SPLEE | 0.182063 0.005066 0.207708 0.00516744 TH LEUute
st 4= | CBEM1| 0.281544 0.011572 0.134070 0.040836 UEE G
CBEM2| 0.291544 0.012170 0.137722 0.040837 2 A
&t CBEMcel 0.286544 0.011871 0.135896 0.040837 Bl O
CBEM11| 0.284044 0.011722 0.134983 0.040836 #HatE AHO1
CBEM12 0.289044 0.012021 0.136809 0.040837 #HolE G2
5 .6.2 S}& Y5}
1) BE AEHN FSHUS(—)2R X TIH &8
A 24% nHsE
Ppv Wad Ppve
I I I i I I i
W
W
A
2 "\l
"Y\l . ° \/H
o' -
| wdc | 5800 kn/m | wdw | 2300 kn/m' | Ppvs | 4000 kN/m | Ppve | 4000 kN/m
B. X|ZIA EQ}
WA
X Paes = 61.048 kN
Paes o
—e M
—
oC
—e o -\
2% W
2 . . "\l
[y *on




Pe
oA
X Pe = 22199 kN/m

A
A
M wA
v wA

(] (]

(] (]

L] L]

L] L]
v wA

wA
WA
M wA
2% . . WA
2% * . -
Pel 5.184 kN Pe5 22562 kN Pe9 22778 kN Pel3 7113 kN
Pe2 7604 kN Pe6 25517 kN PelO | 19.084 kN
Pe3 12.205 kN Pe7 27964 kN Pell | 13.235 kN
Pe4 18621 kN Pe8 25599 kN Pel2 9.184 kN
2) DY SHOIM AW ()22 XTY 58
A BHT 1S
Ppv Wad Ppve
I I I ) I I I i
s
"Y\l'l
e
M wA
2% . . WA
2% * . -

| wdc | 5800 kn/m | wdw | 2300 knN/m' | Ppvs | 4000 kN/m | Ppve | 4000 kN/m




B. XITIA| EQ

® e o0

A

X Paee =

61.048

kN

Q313

® o o0

Paee
©

e e o0

X Pe =

22.199

kN/m

e e o0

N NN N

%

0%

2%

2% R .

e’ °
Pel 5184 kN Pe5 22562 kN Pe9 22778 kN Pel3 7.113 kN
Pe2 7.604 kN Pe6 25517 kN Pel0 | 19.084 kN kN
Pe3 12205 kN Pe7 27964 kN Pell | 13.235 kN kN
Pe4 18621 kN Pe8 25599 kN Pel2 9.184 kN kN
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A. BH E & (kN-m)

Klo
i
{0
Jod
ir
foF
hat
5 % 2
12 2 SffEser -
=< o (w1 -
- -. ﬁ\
<0 et o=
75 g
P R
S R
oFTT
relTiT
L5759
1672
&
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9.°5E e
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12 e 5L -
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C. SHE(kN)

e

-

e

e

.

o

R Rl

-294.12 |

-2594.F

-294,p7 |

-294, 22 |

-294.p

-2594.F

COEET o G

2) AM-EEHAH Sl
A. 2H E & (kN-m)
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C. FHE(kN)
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LA 18
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6. 2 X|TIA| EHHH T

6 .21 ST (¥ MENM SHYL(—)22 HEA)

A. R E £ (kN-m) [XIZAL
5: o8
i r% , . . ’ .
& 5 g 5 5 g
34— X -
L. &8
¥D, 41
4,87
].o%
L.2b
B. HTH & (kN) (K| ZIA[;

—

44777 —®..5

305 —¥3.38
—




He)2 2 BEA)

g

HolM Al

N
=

A. EHE T (kN-m)

I (kN)

}

ud
4

.l

B.




Y
X | Bx | BE | 4 2| 2 M E (kN-m) HMEFE(KN) =g
Hs | s SototA | ALSHA | SetetA | AtEsHA | SeteHA
Max.| -557.55| -795.69 | -141.75| -199.04| -238.55
HEF | 100 1
Min. | -1160.99 | -1054.21 | -29693 | -27232| -463.07
~ Max.| -508.35 | -72416| -138.88| -19692| -273.82
=7t | 101 | 101 :
Min. | -1057.35| -95921| -295.01| -270.19| -512.06
R Max.| -40849 | -575.00| -107.17| -187.63| -309.09
ST | 102 | 102 :
Min. | -64352| -60228| -286.65| -26090| -561.04
AEES | et 105 | 105 Max. -88.75 -98.60 -7794 | -109.12 | -315.88
oS58 Min. | -236.90| -25249| -169.20| -160.86| -57046
=™y Max.| -491.92 | -729.69 | -13499| -19218| -267.07
AFEE | 200 | 13
Min. | -1079.08 | -996.52 | -28853 | -26558| -50840
~ Max.| -44509 | -660.53 | -13212| -190.06| -302.34
7t | 201 | 201
Min. | -97837 | -903.88| -286.61| -26346| -557.39
R Max.| -35029 | -51645| -11958| -180.77| -337.61
SHEF | 202 | 202 ,
Min. | -563.04 | -532.83| -27825| -25417| -606.38
At Max. -64.05 -73.73 -66.82 -97.78 | -344.39
e | 205 | 205 ,
AR Min. | -186.09 | -209.72| -14631| -14120| -615.80
Max. 635.41 464.60 1.57 546 | -127.48
s 6 7
Min. 318.52 43860 | -110.04 -84.60 | -294.22
6;-
X | Bx | BE | @ 2 2 3 E (kN-m) e (kN) =10
Hs | Hs SotetA | ALESHA | IBSHA | AFESHA | SeHeHA
Max.| -557.55| -795.69 | -141.75| -199.04| -238.55
ACE 1100 | 1 .
Min. | -1160.99 | -105421 | -29693 | -27232| -463.07
~ Max.| -508.35| -72416| -138.88| -19692| -273.82
=7 | 101 | 101
Min. | -1057.35| -95921| -29501| -270.19| -512.06
R Max.| -40849 | -575.00| -107.17| -187.63| -309.09
SHEF | 102 | 102 _
Min. | -64352| -60228| -286.65| -26090| -561.04
AMEHE] Lt 105 | 105 Max. -88.75 -98.60 -77.94 | -109.12| -315.88
e Min.| -23690| -25249| -169.20| -160.86| -570.46
=™y Max.| -49192 | -729.69 | -13499| -19218| -267.07
AEE | 200 | 13
Min. | -1079.08 | -996.52 | -28853 | -26558| -50840
~ Max.| -44509 | -660.53| -13212| -190.06| -302.34
=7t | 201 | 201 :
Min. | -97837 | -903.88| -28661| -26346| -557.39
R Max.| -350.29 | -51645| -11958 | -180.77 | -337.61
ShEb | 202 | 202 :
Min. | -563.04 | -532.83| -27825| -25417| -606.38
ek Max. -64.05 -73.73 -66.82 -97.78 | -344.39
o | 205 | 205 :
AE Min. | -186.09 | -209.72| -14631| -14120| -615.80
Max. 635.41 464.60 1.57 546 | -127.48
s 6 7
Min. 318.52 43860 | -110.04 -84.60 | -294.22




1)

T& AX | =X | BE | U 2 2 M E (kN-m) T T (KN) ZHH(kN)
Mo | Bl SOt | AFETHA | SeteHA | ALESHA | SetetA | AR TH
APP-SALB Max. 7.79 5.80 10.50 11.91 6.54 10.49
A" | A3 A3 :
Min. 271 -10.04 -12.02 -8.26 -0.18 -4.26
Max. -5.18 106.88 58.43 44.85 15.26 2447
A" | A7 A7 :
Min. -35.38 -27.76 822 | -160.32 -041 -9.95
- Max. 0.15 0.06 497 6.24 2.40 6.19
=H B3 B3 -
Min. -145 -9.16 -6.31 -431 -2.82 -7.32
- Max. 5.60 101.98 26.23 1935 5.59 14.44
3™ | B7 B7 :
Min. -12.35 -8.69 -1536 | -111.46 -6.57 -17.07
6.3.2 X ZIA| S (@Y AHM SHYH(-)22 A
HE0f CHSt X|ZIA| THHE ()
ga4Z(-) HE
T= X | 2X | BE | U SDHE 7ol el =g
Mo | Ho (kN-m) (kN) (kN)
NESImis - - -
| & mCH se | 100 | 1 Max. 1169.10 325.63 589.98
Min. -2157.67 -612.41 -930.54
- Max. -930.65 -234.06 -678.16
=7t | 101 | 101 :
Min. -1943.33 -612.41 -1053.01
. Max. -732.27 -234.06 -766.33
StEh | 102 | 102 :
Min. -1487.48 -557.47 -1175.47
INF=E=" = BT Max. -161.24 -261.53 -780.92
HES no | 105|105 |-
SRS Min. -582.91 -390.42 -1195.73
Sy Max. -1401.47 -427.96 -622.90
AEE | 200 | 13 :
Min. -2246.95 -921.70 -988.63
- Max. -1251.69 -419.27 -711.08
=7 | 201 | 201 :
Min. -1924.35 -796.55 -1111.10
. Max. -934.45 -393.81 -799.25
ShEb | 202 | 202 :
Min. -1329.73 -669.97 -1233.56
SHELE| et Max. 31.17 -195.42 -813.84
=7 5o | 205 | 205
SRS Min. -152.43 -327.63 -1253.82
A 8| g Max. 1129.98 9.36 -428.40
S o 6 7 -
Min. 796.91 -201.02 -645.28
ChHE x8hH(-) HE
T= X | 2X | BE | SDHE e =g
Mo | Mz (kN-m) (kN) (kN)
INESImis _ - -
| mCH se | 100 | 1 Max. 1169.10 325.63 589.98
Min. -2157.67 -612.41 -930.54
~ Max. -930.65 -234.06 -678.16
=7t | 101 | 101 :
Min. -1943.33 -612.41 -1053.01
. Max. -732.27 -234.06 -766.33
Sheb | 102 | 102 :
Min. -1487.48 -557.47 -1175.47
ANEES [ Lt Max. -161.24 -261.53 -780.92
s o | 105 | 105 |
S Min. -582.91 -390.42 -1195.73
ExSmi| Max. -1401.47 -427.96 -622.90
ARG 1 200 | 13 :
Min. -2246.95 -921.70 -988.63




2)

T& X | Bx | 2E | gt ZIDMHE Moy =5
Hs | H (kN-m) (kN) (kN)
S™ Max. -1251.69 -419.27 -711.08
=7t | 201 | 201
Min. -1924.35 -796.55 -1111.10
R Max. -934.45 -393.81 -799.25
ShEh | 202 | 202 :
Min. -1329.73 -669.97 -1233.56
STEYUE| Lot 205 | 205 Max. 3117 -195.42 -813.84
oS5 Min. -152.43 -327.63 -1253.82
P Max. 1129.98 936 -428.40
s 6 7
Min. 796.91 -201.02 -645.28
APP-SALB A | A3 A3 Max. 20.82 -18.85 19.51
Min. 8.75 -30.16 12.37
Max. -16.83 146.97 51.75
AM® | A7 A7 :
Min. -97.69 34.22 28.86
. Max. -8.34 9.83 17.12
&5 B3 B3 :
Min. -15.73 -14.87 -2.18
- Max. 194.02 -89.42 22.99
=3 B7 B7 :
Min. 57.35 -235.67 -5.09
CHLIZ 0| CHot X|TIA| SHHZ ()
qE2(-) (=
T X | Bx | 2E | gt 2 HE Mo =5
Hs | HS (kN-m) (kN) (kN)
e T O L -290.87 -81.01 -146.78
o Min. -536.81 -152.36 -231.51
(B =) Max. -231.54 -58.23 -168.72
=7F | 101 | 101
4.019m Min. -483.49 -152.36 -261.98
R Max. -182.18 -58.23 -190.66
StEh | 102 | 102 ,
Min. -370.08 -138.70 -292.45
AMEHE] Lut 105 | 105 Max. -40.12 -65.07 -194.29
e Min. -145.02 -97.13 -297.49
E™ury Max. -348.68 -106.47 -154.97
AtCE | 200 | 13 :
Min. -559.03 -229.31 -245.96
CEES Max. -31141 -104.31 -176.91
=7 | 201 | 201
4019m Min. -478.77 -198.18 -27643
R Max. -232.49 -97.98 -198.85
StEH | 202 | 202 :
Min. -330.83 -166.68 -306.90
SHLUS | gt 505 | 205 Max. 7.75 -48.62 -202.48
e Min. -37.92 -81.51 -311.94
N Max. 451.99 3.74 -171.36
s 6 7
2.500m Min. 318.77 -80.41 -258.11
CHH x3h(EHdM+BEF)(-) [ =
T& IR | 2 | HE | 4 SDHE ety =g
o | Blo (kN-m) (kN) (kN)
.I
Al LY set | 100 | 1 Max. -290.87 -81.01 -146.78
Min. -536.81 -152.36 -231.51
(HH =) Max. -231.54 -58.23 -168.72
=7 | 101 | 101
4.019m Min. -483.49 -152.36 -261.98




T& SN - FS R 2DHE et =5
Ho | S (kN-m) (kN) (kN)
R Max. -182.18 -58.23 -190.66
SHEF | 102 | 102 :
Min. -370.08 -138.70 -292.45
AMEHE] Lot Max. -40.12 -65.07 -194.29
=5 Ho | 105|105 |-
A Min. -145.02 -97.13 -297.49
EySmi Max. -348.68 -106.47 -154.97
SERM wer | 00| 13 W
Min. -559.03 -229.31 -245.96
CXEN . Max. -31141 -104.31 -176.91
7t | 201 | 201 :
4019m Min. -478.77 -198.18 -27643
R Max. -232.49 -97.98 -198.85
SHEF | 202 | 202 :
Min. -330.83 -166.68 -306.90
ZSHEUE| Yot Max. 7.75 -48.62 -202.48
°EET SD | 205 | 205
S Min. -37.92 -81.51 -311.94
A B L Max. 451.99 3.74 -171.36
s 6 7 :
2.500m Min. 318.77 -80.41 -258.11
APP-SALB Max. 8.33 -7.54 7.80
A3 A3 :
2.500m Min. 3.50 -12.06 495
Max. -6.73 58.79 20.70
A7 A7
Min. -39.07 13.69 11.54
- Max. -3.34 3.93 6.85
s B3 B3 :
Min. -6.29 -5.95 -0.87
- Max. 77.61 -35.77 9.20
3™ | B7 B7 :
Min. 22.94 -94.27 -2.04
6 .3.3 X|ZIA| CHHE(ZF ZSHOM A -HUS ()22 EHEA|)
HEZ0 CHet X|TIA| SHHB ()
SHZ(«) HE
T IR | 2| HE | 2 HE Moy ==
HS | B (kN-m) (kN) (kN)
JNESEmin _ - -
|y set | 100 | 1 Max. 1403.38 427.82 467.27
Min. -2414.48 -904.72 -816.83
- Max. -1039.40 -440.12 -555.44
7t | 101 | 101 :
Min. -2097.83 -810.70 -939.29
R Max. -637.96 -428.81 -643.62
SHEF | 102 | 102 :
Min. -1523.69 -705.89 -1061.76
AMEE] Yot Max. -5.22 -227.41 -658.20
LES o | 105 | 105 |
A Min. -436.92 -383.52 -1082.02
Z™ury Max. -1070.84 -277.59 -708.30
AbCE | 200 | 13 :
Min. -1935.74 -568.80 -1068.76
~ Max. -973.68 -277.59 -796.48
=7t | 201 | 201 :
Min. -1736.66 -568.80 -1191.22
R Max. -771.26 -186.02 -884.66
SHEF | 202 | 202 :
Min. -1313.53 -513.85 -1313.69
SHLUS | gt Max. -122.57 -225.25 -899.24
=7 SO | 205 | 205
o8 Min. -294.11 -332.09 -1333.94
A oo L Max. 1129.93 0.88 -413.19
s 6 7 :
Min. 796.74 -209.54 -731.55




crHE x3 H+2dF)(«) HE
T& SN - FS R 2DHE et =5
Hs | H (kN-m) (kN) (kN)
Al mCy 100 | 1 Max. -1403.38 -427.82 -467.27
Min. -2414.48 -904.72 -816.83
~ Max. -1039.40 -440.12 -555.44
=7t | 101 | 101 :
Min. -2097.83 -810.70 -939.29
R Max. -637.96 -428.81 -643.62
SHEF | 102 | 102 :
Min. -1523.69 -705.89 -1061.76
AEES| Lt 105 | 108 Max. -5.22 -227.41 -658.20
oS5 Min. -436.92 -383.52 -1082.02
S™ Y gct | 200 | 13 Max. -1070.84 -277.59 -708.30
Min. -1935.74 -568.80 -1068.76
~ Max. -973.68 -277.59 -796.48
7t | 201 | 201 :
Min. -1736.66 -568.80 -1191.22
R Max. -771.26 -186.02 -884.66
SHEF | 202 | 202 :
Min. -1313.53 -513.85 -1313.69
SELS| Lt 205 | 205 Max. -122.57 -225.25 -899.24
oS5 Min. -294.11 -332.09 -1333.94
P Max. 1129.93 0.88 -413.19
Y 6 7
Min. 796.74 -209.54 -731.55
APP-SALB A3 A3 Max. 10.81 -14.30 10.18
Min. -2.04 -25.93 -8.63
Max. 33.83 30.20 23.76
A7 A7 :
Min. -10.33 -91.72 -9.32
Max. -3.19 8.05 -5.54
B3 B3 :
Min. -10.87 -16.64 -25.98
Max. 124.89 -6.85 -12.93
B7 B7 :
Min. 15.39 -157.83 -43.67
CHeIZEof CHet X|TIA] THHZ (<)
SHZ (<) [
T& SN =S R ZRHE Moy =E
Mo | Blo (kN-m) (kN) (kN)
e I o L -349.15 -106.44 -116.25
o Min. -600.71 -225.09 -203.22
(HH =) Max. -258.60 -109.50 -138.19
7t | 101 | 101
4019m Min. -521.93 -201.70 -233.69
R Max. -158.72 -106.69 -160.13
SHEF | 102 | 102 :
Min. -379.09 -175.62 -264.16
AMEHE] Lot 105 | 105 Max. -1.30 -56.58 -163.76
A Min. -108.70 -95.42 -269.20
=X C _ _ _
=Ly sct | 200 | 13 Max. 266.42 69.06 176.22
Min. -481.60 -141.51 -265.90
(HH =) Max. -242.25 -69.06 -198.16
=7t | 201 | 201
4.019m Min. -432.07 -141.51 -296.37
R Max. -191.88 -46.28 -220.10
ShEb | 202 | 202 :
Min. -326.80 -127.84 -326.84




T& AKX | B | =AE | SIHE Al =5
Ho | S (kN-m) (kN) (kN)
ZHEUE| Yot Max. -30.50 -56.04 -223.73
°EET So | 205 | 205
A Min. -73.17 -82.62 -331.88
A B xg | o | 5 [ Max 451.97 035 -165.27
S
2.500m < Min. 318.70 -83.82 -292.62
THHE T8h(«) [EHe
T X | B | M| 4k SDHE Mo =4
Hs | s (kN-m) (kN) (kN)
e O o L -349.15 -106.44 -116.25
o Min. -600.71 -225.09 -203.22
(HHZ) Max. -258.60 -109.50 -138.19
=7t | 101 | 101
4.019m Min. -521.93 -201.70 -233.69
. Max. -158.72 -106.69 -160.13
Steh | 102 | 102 :
Min. -379.09 -175.62 -264.16
AMEHE] Lot 105 | 105 Max. -1.30 -56.58 -163.76
o Min. -108.70 -95.42 -269.20
=X
g SEmAn| sct | 200 | 13 Max. -266.42 -69.06 -176.22
Min. -481.60 -141.51 -265.90
HHZ) | Max. -242.25 -69.06 -198.16
=7t | 201 | 201
4.019m Min. -432.07 -141.51 -296.37
. Max. -191.88 -46.28 -220.10
SHEH | 202 | 202 ,
Min. -326.80 -127.84 -326.84
ZHYUE | Uut Max. -30.50 -56.04 -223.73
=7 5o | 205 | 205
AR Min. -73.17 -82.62 -331.88
A B <o Max. 451.97 035 -165.27
S o 6 7 -
2.500m Min. 318.70 -83.82 -292.62
APP-SALB Max. 432 -5.72 407
AM™ | A3 A3
2.500m Min. -0.82 -10.37 -345
Max. 13.53 12.08 9.50
A" | A7 A7 :
Min. -413 -36.69 -3.73
- Max. -1.27 3.22 -2.22
=S B3 B3
Min. -4.35 -6.66 -10.39
- Max. 4996 -2.74 -5.17
53 B7 B7 :
Min. 6.16 -63.13 -17.47




D Max(& AL, X[ ZIAN (=), RIZAI(<)], [MIn(& Al KIZA (=), K[ ZA] ()]

SN - FS R 2l 2 HE (kN-m) = ET(QY) =
Hs | HZ SooHA | ALESHA| ot ALESHAH | ForeHA
e Max.| -290.87 | -290.87 -81.01 | -116.25
At 1100 | 1 :
Min. | -1160.99 | -1054.21 -27232 | -463.07
~ Max.| -23154| -231.54 -5823 | -138.19
=7t | 101 | 101
Min. | -1057.35 | -959.21 -27019 | -512.06
R Max.| -158.72 | -158.72 -5823 | -160.13
SHEF | 102 | 102 :
Min. | -64352 | -602.28 -260.90 | -561.04
AEES| Lt Max. -1.30 -1.30 -56.58 | -163.76
o | 105 | 105 : - - - -
ME Min. 236.90 25249 160.86 570.46
Z™ury ser | 200 | 13 Max.| -266.42 -266.42 -69.06 | -154.97
Min. | -1079.08 | -996.52 -265.58 | -508.40
~ Max.| -24225| -24225 -69.06 | -17691
7t | 201 | 201 :
Min.| -97837 | -903.88 -26346 | -557.39
R Max.| -191.88| -191.88 -46.28 | -198.85
ShEh | 202 | 202 ,
Min.| -563.04 | -532.83 -25417 | -606.38
gt Max. 7.75 7.75 -48.62 -202.48
Mo | 205 | 205 :
S Min.| -186.09 | -209.72 -141.20 | -615.80
Max. 635.41 464.60 546 | -127.48
Y 6 7
Min. 318.52 318.70 -8460 | -294.22
Cra X3t
= 2x o 28| W Bl S HE (kN-m) e (kN) ESE
Ho | HZ So0HA | ALESHA| of ALESHA | FoeHA
Max.| -290.87 | -290.87 -81.01 | -116.25
AT | 100 | 1 :
Min. | -1160.99 | -1054.21 -27232 | -463.07
- Max.| -231.54 | -231.54 -5823 | -138.19
7t | 101 | 101
Min. | -1057.35 | -959.21 -27019 | -512.06
R Max.| -158.72 | -158.72 -5823 | -160.13
SHEF | 102 | 102 :
Min. | -64352 | -602.28 -260.90 | -561.04
AMEHE] Lt 105 | 105 Max. -1.30 -1.30 -56.58 | -163.76
e Min. | -236.90 | -252.49 -160.86 | -570.46
ExSImin Max.| -26642 | -266.42 -69.06 | -154.97
AT | 200 | 13
Min. | -1079.08 | -996.52 -265.58 | -508.40
~ Max.| -24225| -242.25 -69.06 | -17691
=7t | 201 | 201
Min. | -97837 | -903.88 -263.46 | -557.39
R Max.| -191.88| -191.88 -4628 | -198.85
SHEF | 202 | 202 :
Min.| -563.04 | -532.83 -25417 | -606.38
gt Max. 7.75 7.75 -4862 | -20248
M | 205 | 205 :
o5 Min. | -186.09 | -209.72 -141.20 | -615.80
Max. 635.41 464.60 546 | -127.48
s 6 7
Min. 318.52 318.70 -8460 | -294.22




T& IR | 2y | HE | 2 2l D E (kN-m) T (kN) =
Hs | HZ SotetA | ALESHA | SBSHA | ALESHA | SeeHA
APP-SALB Max. 833 5.80 10.50 11.91 7.80
A" | A3 A3 :
Min. 3.50 -10.04 -10.37 -8.26 495
Max. 13.53 106.88 58.79 44.85 20.70
A" | A7 A7 :
Min. -39.07 -27.76 13.69 | -160.32 11.54
- Max. 0.15 0.06 497 6.24 6.85
=H B3 B3
Min. -1.45 -9.16 -5.95 -431 -0.87
- Max. 77.61 101.98 26.23 19.35 9.20
e B7 B7
Min. -12.35 -8.69 -1536 | -111.46 -2.04
NER | s 5 5 Max.| -48634 | -62581| -176.80| -23619| -127.48
T Min. | -969.56 | -74298 | -34456| -25553| -294.22




] TITLE

o
o2

sofe TR AT QI
CHOIM 2 S AAZHE
B(mm) H(mm) d(mm) I = (mm) Mu(kN-m) Pu(kN) Vu(kN)
1,000 700 562 80 969.56 294.22 344.56
=2 A =+ 232E &c = 065, HZ ds = 095
=32|E Z& Bigtof| 2 A= 4H
n = 2000 , €0 = 0002 , eu = 0003 , n = 0969 , « = 0.798
B = 0412 , Pl (=2p) = 0824
a7
27 458 SR iy A = 5400 mm?
JA S YES| et Yy CHoiy
Asfr = ZIHE (B /2L E 2 2=k
= 5400 x ( 315 / 400 ) = 4,253 mm?
ERTEs el S
Mu/ o = Asfy(d-Bc) .. @ , c = As-Osfy/(a-®c-0.85fck-b) ... )
4@% 4@l (Y50l 0K EHA O R AsE PBICL
®s-fy2B Mu
-As?- fy-d-As + =0, Asreq= 5087 mm?
apc-0.85fck-b ®s
A EEZE = 7350 mm2( EHZEM = 138 mm), [ AFBE = 144 ] ...
1 H22 @ 125 = 3097 mm?2( daa = 80 mm)
SHMEZEH . - @ 0 = 4253 mm?2( dez = 181 mm)
HIH HE
pmin = Max ( 0.25V(fck) / fy, 1.4 / fy, =2 = H 2 H|)
= Max ( 0.00342 , 0.00350 , 0.00200 ) = 0.00350
pmax = 0.75 -pb = 0.75 - 0.85-Ba(fck / fy)-{600 / (600 + fy)} = 0.02363
preq = Asreq/ (b-d) = 000906 , preq" = 4/3-preq = 0.01208
puse = As,use / (b-d) = 0.01308
pmax > puse > pmin CHERTHI TEER s
SEHE fIA
C (BRLE &EFE) = a-®c0.85-fck-b-c
T (R %Y = Asfs fs = Osfy
Pu = CT = o-Pc-0.85-fck-b-c - As-®s-fy
c = (Pu+As-®s-fy)/(a-Pc-0.85-fck-b)
= ( 2942167 + 73495 x 10 x 400 ) / ( 0798 x 065 x 0.85 x 30 x 1,000
= 23340 mm
C = 308703 kN, T = 279281 kN
= RAL
Mr = C x (h/2-fc) + T x (d-h/2)
= 1375141 kNm > 969.555 kN'm =SMUINEE @ 1418 ] e,

= 0!

)



TICHO| CHSt HE [=. A3 5522
Ved = Max( (0.85-®ck(p-fck) 3 +0.15-fn)b-d , (0.4-®cfctk+0.15fn)b-d )
= Max( 398217 , 357315 ) = 398217 N = 39822 kN
Ved > 34456 kN =Vu TEEZ 22
07|M, k = 1+V(200/d) = 16
7 1.2 AISTHHHE| HE
m TITLE SofE TR AT [QIECHH-HA HE]
A THEFIY S S
B(mm) H(mm) d(mm) I & (mm) Ms(kN-m) Ps(kN) fy
1,000 700 620 80 74298 269.35 400.00
HE 47188 : E , P 2g=E 0.3 mm
o YMA 232 E AFEY HHHA (=23 5634]
Act = Min ( 25(h-d)B , (h-x)/3B , Bh/2 )
= Min ( 2000000 , 159858.1 , 3500000 ) = 159858.1 mm?
ZAZ|E CHH ACHOl QIESH
ft = Ms/Z-Ps/A = 871 Mpa > fctk = 220 Mpa e, = G EHAEI
SES 40|
x = 22043 mm
HD U 232(E HAEE
€S = 0.0008 , ec = 0.0005
S U HHEE =0
C (R32E ¢=E) = 0.5-B:x-Ecec = 1492534 N = 1,492.53 kN
T (EZoEE) = Asfso = 1223187 N = 1,223.19 kN
0f7|M, fso = Eses = 16643 Mpa
Pint = C-T = 1492534 - 1223187 = 269348 N = 269.35 kN = Ps( 26935 kN) ... = OKI
Mint =  C-(H/2-x/3)+T-(d-H/2)
= 742983200 N-mm = 7430 kN'm = Ms( 7430 kN'm) e, = OKI
B. |2 HI3Y
S st
fso = 16643 Mpa < 320 Mpa (20.8fy) e = 0!
FRAZHEIH|
pe = As/Act = 005 mm?
EHAEDIH
Asmin = kck-Actfct/fsy = 444 mm?< As = 7350 mm? s = OK!
o7|A, fct = 03(fcm*® = 315 MPa , kc = 037 , k = 072
C. 7Aoo (=22 5633]
SE8EHEYH (=fsy)
= Max ( EZEZ 22 mn Of ME SHE3H |, HI2H 125mn O [HE HESH )
= Max ( 200 , 300 ) = 300 > fso( = 16643 MPa) oo = OKI
D.ZEE A (. 4.3t 5634]
Z0 7 7t4
Irmax = Min ( d/(3.6-pe) ,  fsd/(3.6fct) )
= Min ( 1329 , 3230 ) = 1329 mm



HIZ-ZIEE HYE K10

esm-ecm = Max ( .00065143 , 0.00049929 ) = 0.0007
TgE

w, = Irmax(esm-ecm) = 01 mn < SAHZLEZE ( = 03 mn)



] TITLE : HEsdE Mt QIR CHH-MAHE]

N

CHOIM 2 S AAZHE
B(mm) H(mm) d(mm) I (mm) Mu(kN-m) Pu(kN) Vu(kN)
1,000 600 540 60 833 7.80 10.37
HEAS  F3EE oc =065, B2 os = 095 (=43 5423]
=32|E Z& Bigtof| 2 A= 4H
n = 2000 , €0 = 0002 , eu = 0003 , n = 0969 , « = 0.798
B = 0412 , Bl (=2B) = 0824

AM@E MO st OIRHYHAL R AsE
ds-fy2- M

sty*p ‘As?- fy-d-As + -

apc-0.85fck-b ®s

AFBEEE = 1,014 mm?2( HZ2EY = 60 mm), [ MEE = 24732 ] ... = OK!
)
)
)

=0, Asreq = 41 mm?2

1EH: H13 @ 125 = 1,014 mm2 ( dc = 60 mm
2%t - @ 0 = 0 mm2( dcz = 0 mm
m

- @ 0 = 0 mm2 ( dc = 0 m

HIH HE
pmin = Max ( 025V(fck) / fy, 14 / fy, =H 2= H2H|)
= Max (000342 , 0.00350 , 0.00200 ) = 0.00350
pmax = 0.75 -pb = 0.75 - 0.85-Ba(fck / fy)-{600 / (600 + fy)} = 0.02363
preq As,rreq / (bd) 0.00008 , preq" = 4/3-preq = 0.00011
puse = As,use / (b-d) 0.00188

pmax > puse > preq' SETH TEE et = O.K!

=

C (E3z2E ¢=3) = o-dc-0.85-fck-b-c

T (B2 UEH = Asfs fs = osfy

Pu = CT = o-Pc-0.85-fck-b-c - As-Ds-fy

L Cc = (Pu+As-®s-fy)/(a-®c-0.85-fck-b)
= ( 78000 + 10140 x 10 x 400 ) / ( 0798 x 07 x 085 x 30 x 1,000 )
= 29.72 mm

39312 kN, T = 38532 kN

@)
I}

ot
oY
H1

Mr = C x (h/2-fc) + T x (d-h/2)
205601 kN-m > 8330 kNm =MU[2TE : 24682 1 = 0!

TICHO| TSt HE (=43t 5522]
Ved = Max( (0.85-®ck(p-fck)*+0.15-fn)b-d , (0.4-®c-fctk+0.15-fn)-b-d )
Max( 185100 , 310490 ) = 310490 N = 31049 kN
1037 kN =Vu L ATEY EEe
07|M, k = 1+V(200/d) = 161

Vcd

v



] TITLE HEge 22 [ - M A HE]
CHOHA Y 2 EAZHE
B(mm) H(mm) d(mm) I (mm) Mu(kN-m) Pu(kN) Vu(kN)
1,000 900 820 80 39.07 20.70 58.79
M=z A =+ Z32E ®c = 065, HZ s = 095 (.43 5232]
Z32|E 2 B0l mE A= 4HE
n = 2000 , o = 0002 , ewu = 0003 , n = 0969 , « = 0.798
B = 0412 , Bl (=2B) = 0.824
eI A
Mu/ o = Asfyd-Bc) .. @ , c = As-Osfy/(a-®c-0.85fck-b) ... @
AM@E MO0 tHEsHH OXAtEFACZ AsE oLt
sfy*B -As?- fy-d-As + Mu =0, Asrreq = 126 mm?
apc-0.85fck-b ®s
ANEHZY 1,014 mm2( EZEM = 80 mm), [ MBE = 80 ] ... = O.K!
1%k H13 @ 125 = 1,014 mm2( daa = 80 mm)
2Et: - @ 0 = 0 mm?2 ( dcz = 0 mm )
HIH HE
pmin = Max ( 025V(fck) / fy, 14 / fy, =H 2= H2H|)
= Max (000342 , 0.00350 , 0.00200 ) = 0.00350
pmax = 0.75 -pb = 0.75 - 0.85-Ba(fck / fy)-{600 / (600 + fy)} = 0.02363
preq = Asreq/ (b-d) = 0.00015 , preq = 4/3-preq = 0.00020
puse = As,use / (b-d) = 0.00124
pmax > puse > preq SETHL BEE e = OKI
SEERE
C (R3z2E &¢=3) = o-dc-0.85-fck-b-c
T (B ods) = Asfs fs = Osfy
Pu = CT = o-Pc-0.85-fck-b-c - As-Ds-fy
c = (Pu+As-®s-fy)/(a-®c-0.85-fck-b)
= ( 207000 + 10140 x 10 x 400 ) / ( 0798 x 07 x 085 x 30 x 1,000 )
= 3070 mm
C = 40602 kN, T = 38532 kN
IR2 i
Mr = C x (h/2-Bc) + T x (d-h/2)
= 320145 kN-m = 39070 kNm =MU[2TE : 8194 ] s = OK!

Mol oist ZHE

Ved = Max( (0.85-®c-k(p-fck)3+0.15-fn)b-d ,
Max( 228758 , 472715 ) = 472715 N =
5879 kN =Vu CHEREZ EEHR
07|1M, « 1+v(200/d) = 1.49

Vcd

v

kN

[£. 43 5522]

(0.4-®c-fctk+0.15-fn)-b-d )
47271



B(mm) H(mm) d(mm) I (mm) Ms(kN-m) Ps(kN) fy
1,000 600 540 60 5.80 10.49 400.00
M MASE B, SAZYE . 03mm
o HUA 232 E AFSY HEA (.43 56.34]
Act = Min ( 25(h-d)-B ., (h-x)/3-B, Bh/2 )
= Min ( 1500000 , 1586258 , 3000000 ) = 1500000 mm?

232 O iEto] AEg Y

Ms/Z-Ps/A = 0.08 Mpa < fctk = 220 Mpa

x = 12412 mm
H2 9 232 ¥HE

es = 0.000031 , s = 0.000009

16,681 N =

SEH =l
C (B3zE &x58) = 0.5-B-x-Ecec =
T ( jupSEs 6,191 N =

HZA¥H) = Asfso =
07|M, fso = Eses = 611 Mpa
Pint = C-T = 16,681 - 6191 = 10490 N =

C:(H/2-x/3)+T+(d-H/2)

= 5800000 Nmm = 580 kNm = Ms( 5.80

2k

=1
- O
ot

fso = 611 Mpa < 320

QBT

Mpa (=0.8-y)
001 mm?

pe = As/Act =

CAAEIY

kck-Act-fct/fsy 496  mm?’ <
fct = 03(fcm)¥® = 315 MPa ,

Asmin =

0171 M,

=
HIZEZ 13 mn Of 2 5ES
>

270 , 300 ) = 300

Irmax = Min ( d/(3.6-pe) ,  fsd/(3.6fct) )
( 5342 , 70 ) = 5342 mm
HZ-Z32|E HAE X0

esm-ecm = Max ( (0.00094475) , 0.00001832 ) = 2E-05

Ir,max(esm-ecm) = 0.01mn < $HAZEZE ( = 03 mn)

1049 kN = Ps( 1049

kN-m)

As = 1014 mm?
ke = 040

g2, EHIZF 125mn of
f

MPa )

16.68 kN
6.19 kN

kN) e = O.K!

= 0!

[=. 4.3 56.3.3]

rn

5888 )

= OKI

H
%
rot

Mot 56.34]



B(mm) H(mm) d(mm) I (mm) Ms(kN-m) Ps(kN) fy
1,000 900 820 80 27.76 24.47 400.00
Mg diAsa E, oA ZEF 0.3 mm
w8 WA Z32|E AYSH Y [=. 2.2 5.6.34]
Act = Min 2.5(h-d)-B , (h-c)/3-B , Bh/2 )

(
= Min ( 2000000 , 2537145 , 450000.0 ) = 2000000 mm?
C

ft = Ms/Z-Ps/A = 018 Mpa < fctk = 220 Mpa oo, = H| ot HEHHI
SES 40|
x = 13886 mm
HD G 232(E HAEE
es = 000011 , sc = 0.00002
SEHH A HYE 0l
C (R3ZE =) = 0.5-Bx-Ecec = 47581 N = 48 kN
T (EZo¥EE) = Asfso = 23111 N = 23 kN
0{7|M, fso = Eses = 2279 Mpa
Pint = C-T = 47581 - 23111 = 24470 N = 2447 kN= Ps( 2447 kN) ... = OKI
Mint =  C:(H/2-x/3)+T-(d-H/2)
= 27,760,000 N-mm = 28 kNm = Ms( 28 KN'M) e = O.KI!
CE|AEZY
S st
fso = 2279 Mpa < 320 Mpa (20.8FY) e = OK!
FRAZHEIH|
pe = As/Act = 001 mm?
. A|AaR D2
Asmin = kck-Actfct/fsy = 543 mm?< As = 1014 mm® . = OK!
o7|A, fct = 03(fcm)*® = 315 MPa , kc = 040 , k = 065
L2 AR of [=.4.35633]
S18QEEH (=fsy)
= Max ( EZAZ 13 mn Of HE HE3H |, HIZH 125 mn O [HE HESH )
=Max ( 280 , 300 ) = 300 =>fso(= 2279 MPa) o, = OKI
D.Z2EE A4 (. 2.3t 56.34]
Z0 =+ 7t4
Irmax = Min ( d/(36pe) , fsd/(3.6fct) )
= Min ( 7123 , 261 ) = 7123 mm

HZ-Z3LE HYE KO

m = Max ( -0.00117182 , 0.00006837 ) = 7E-05

W, = Irmax(esm-ecm) = 0.05mn < AT EE (= 03 MM ) oo = O.K!



7.3 HIEHEZ HE

7 3.1 A™HE

>

i =)
[

= 1,050 mm? <

X
o= o
A= HI3 @250 + - @ O = 507 mm?
SIS HI3 @125 + - @ 0 = 1014 mm?
S = 1520 mm?
0.0015hb { h: BXMSHA & 800 mi) , b:
UeAMA2F . 00015 x 700 x 1,000
=M 300 mm20|4
Ded™Izr . 300 mm? < 507 mm?2
7 3.2 5HE
ArEEEE
Ot=H . HI3 @250 + - @ O = 507 mm?
SIS HI3 @125 + - @ 0 = 1014 mm?
> = 1,520 mm?
0.0015hb { h: BXEH & 800 mi) , b:
dedEAZF . 00015 x 700 1,000
=M 300 mm20|4
Ded™Izr . 300 mm? < 507 mm?2

= 1,050 mm? <

mm?2

mm?2

[=.4 43.9]
..................... = O.K!

[=.4 43.9]

..................................................................... = O.K!

[=.4 43.9]
..................... = O.K!

[=.4 43.9]

..................................................................... = 0!



WEAHC & HA|
8.1 WCHACIE MAS s 21

=

1) st54H

1.1 Zojwg »2
Wu = 606380 x ( 1300 )>/ 10 = 102478 kN.m(S%tetA)
Vu= 606380 x ( 1300 ) / 2 = 394147 kN.m(SesHA)
Wo = 459420 x ( 1300 )>/ 10 = 77.642 kN.m(AH&%HA)

1.2 EWg H2
Wu = 1057.350 kN.m (SstsHA)
Vu= 295010 kN.m (=%t
Wo = 959210 kN.m (AH23HA))

JH

8.2

Jyl

YT EZ UE

>DHEZ=U

M= & =:fck= 300 MPa fy = 400.0 MPa

MEMZAHS : @c = 0.650 @s = 0.90
f-emMA|4=: ne = 2.000 eco = 0.00200 ecu = 0.00330
o =0.798 B =0412

X & HH| - pmin = max(0.25V (fck)/fy,1.4/fy) = 0.00350

A% BHE Mu = 1057.350 KN-m A= ®EHE vy = 295.010 KN
CHHO| =74 H = 1300.000 mm Tt M Z B = 1500.000 mm
2 % 72 0| D = 1200.000 mm o 2 £ 7 Dc = 100.000 mm

IDHE ZAE

oot

>

ro

A= M2 Ast = 4053.600mm (P = As /(b-d) = 0.00225)
1%t (dc = 100mm) : H 25 x8.00 EA
== M Asc = 4053.600mr (P'= As'/(b-d) = 0.00225)

1% (d' = 100mm) : H 25 x8.00 EA

L WeMAY U HIH YE
UHED 8 fsc = -173.955 MPaz2 7Hg (P E3H Z4)
20FEUFAO0 ¢ = 79.141 mmZE 7+
As = {Mu-@s fsc As'(D-d")+@s fsc As'(d-Bc)} / {Ds fy (D-Bc)} = 2402.787 mn’
c = (As @s fy - As'Ds fsc) / (aDc 0.85fck B) = 79.141 mm .71t H|=& OK
fsc = ecx(C-d")/CxEs = -173.955 MPa ..7pFd1} H|=& OK
preq = {Mu-@s fsc As'(D-d")+@s fsc As'(D-Bc)} / {@Ds fy (D-Bc)} / (B-D)
= 0.00133 = 4/3 preq = 0.00178



HE S Asreq = preq x (B:D) = 2402.787 mw’
HIAE : pmin < p

i e

pS|
=

-5 E2MFES X AYED HAE HE
c_max = (&-scu / 0.0033 - 0.6) x D = 480.000 mm
SO7IM s(iEHl = ZHEE) = 1.000
c = (As @s fy - As'Qs fs) / (adc 0.85fck B) = 89.453 mm < 480.000 mm ... .. O.K
gyd = @sfy / Es = 0.0018 (B2 HAHERHHE)
gs = (d-c)/cxecu = 0.0410 > eyd = 0.0018 ... FEIIH O

ZEX 4 0| ¢ =89453 mm
Q=M IS fs' = gcx(C-d')/CxEs = -77.814 MPa (QIZH2 2 2hat)
Mr1 = a@c-0.85 fck-c-b-(D-Bc) = 2,064,311,000 N-mm
Mr2 = As'x@s-fs'x(D-d") = -346,969,800 N-mm
Mr = Mri+ Mrz2= 1,717,341,000 N-mm
= 1717341 KN'm = Mu = 1057.350 KN'm ... . O.K (S.F = 1.624)

> MEE AE

S NMEZdE dE

kK =1+ V(200/D) = 1.408 < 20

fctk= 0.7x0.3x(fck+Af)A24 = 2.204 MPa

Vc = [0.85 @ck(p fck)AYs + 0.15 fn] B-D / 1000 = 570.401 KN

Ved.min = (0.4 @cfctk + 0.15 fn) B-D / 1000 = 1031.457 KN

. Ved = Max(Vc, Ved.min) = 1031.457 KN > Vu = 295.010 KN... - HMCHEZ ZQ QS

- E|A MERHZH| U MCHEIHA HE

A8 HEPHZ R Avuse = H16 x4.00 ea = 794400 m  (ZH2 s = 250.0 mm)
(SERZAE 10 =450", MEEIZZAE :a =900 HE)

A M EFEZH| pv.use = Av / (s-B'sina) = 0.00212

XA MEHEZH| pv.min = 0.08 V(fck) / fy = 0.00110 < pv.use ... .OK

TSk |0 7H2 simax = 0.75D (1+cota) = 900.00 mm > si= 250.00 mm ... ..OK

Zlatsk &2 samax = Min(0.75D, 600) = 600.00 mm > s2= 433.33 mm ... .OK

- 7B H2Y HE

Z=7t Tk H22F AAs = 0.5 Vu (cotB-cota) / (@sfy) = 409.736 mn'

AL - S = Asuse - Asreq = 1650.813 m > AAs ... OK

> AHSY ZE (Y 4E)

Ms = 959.210 KN'm (AF&38tEx%t-)
- mEed O f ZE HTZQE HHe = JH)

n = Es/Ec = 200,000 / {0.077 mc~1.5 * 3v¥(Fck + Af)} = 7

Xo = {BH2/2 + (n-1)As D + (2n-1)As'd"} / {BH + (n-1)As + (2n-1)As'} = 642.301 mm



Io = BH3/12 + BH(H/2-X0)2+ (n-1)As(D-X0)?+ (2n-1)As'(Xo-d")2= 282.334x1079 mm?*
fct = Ms / lox(H-Xo) = 2.234 MPa > fctk = 2204 MPa .. # ¢ CIH 4E
-HZSHAT HE (7 g THH)

= As/(B-D) = 0.00225
/ = 0.00225
YHRHDO0| YHSHE Y= AR JPYstn BrEHYsiM o= A4t
-n(p+2np'-p'/n)xv(n2(p+2np'-p'/n)2+ 2np + 2(2n-1)p'd'/D) = 0.151
k-D = 181.213 mm
Icr= Bx3/ 3 + n As(D-x)2+ (2n-1)As'(x-d")2= 32,774,299,295 mm*
fc = Ms / Icr x x = 5.304 MPa
fs'= (2n-1) Ms / Icr x(x-d") = 30.899 MPa (Z=& =)
fs = n-Ms / Icr x(D-x) = 208.719 MPa < 0.8fy = 320.000 MPa ... .O.K

7T
1

x
I}

- UETENY S X AEZE

HZ2AHZA:25mm EZ272H4:1625mm

5 2 & = : fsa = Max(200,270) = 270 MPa > fs = 208.719 MPa ... ..O.K

XA H2EF: As.min = kck-Actfct/fs = 2991.1 mw* < As = 4053.6 m ... ..O.K
07| Al... Act = B-(H-Xo) = 986,549 mm’

kc = 04x[1 - fn/{ka(h/h")xfct}] = 0.40
k =065 (RES2%E 38 g =)
fct = fctm = fctk/0.7 = 3.149 MPa

fs = Max(200,270) = 270 MPa



8.

3700wy B2 AE

>DHEX=H

M2 Z=:fck= 300MPa fy = 400.0 MPa

MEXEA S Oc = 0.650 @s = 0.90

f-eS M A= : ne = 2.000 gco = 0.00200 gcu = 0.00330
a =0798 B =0412

| & HZH| : pmin = max(0.25V (fck)/fy,1.4/fy) = 0.00350

Pt

DHE Mu = 102478 KN'm A== MEHE vy = 394147 KN
Ol =M H = 1500.000 mm Ct ™ Z B = 1300.000 mm
Z 0| D = 1350.000 mm o 2 % M Dc = 150.000 mm

dJo X
e

fot

=X

oY

E

ot

>

A2 E 22 Asuse = H13 x4.00 EA  (Dc = 150.00 mm)
= 506.800 m .. P = As/(B:D) = 0.00029

%‘R’S—E%f 2 HIH HE
= c = 4421 mmZ 714
Mu {@sfy(D B-c)} = 211.145 mw
= As~®s~fy (0@c 0.85 fck-B) = 4.421 mm ..7H31t H|=F OK
preq = [Mu /{@s-fy-(D-B-c)}] / (B:D) = 0.00012 = 4/3 preq = 0.00016
S EHeETE Asreq = preq x (B-D) = 211.145 m < AFEHZZ..0K
HMIOH|HE :4/3 preq < p < pmin  ...... - 0K
- S EZUFER X AYED HAE ZE
c_max = (&-ecu / 0.0033 - 0.6) x D = 540.000 mm

LO7IM (R 2H = ZHEE) = 1.000
¢ = (As-@sdy) / (a @c 0.85 fck-B) = 10.611 mm < 540.000 mm ... .. O.K
eyd = @sfy / Es = 0.0018 (B2 HATYEHHE)
gs = (d-c)/c xecu = 04166 > gyd = 0.0018 ... F=2IIH O

S 2AUE HE
Mr = As-@sfy:( D - B-c) = 245,507,600 N-mm
= 245508 KN'm > Mu = 102478 KN'm ..... OK (S.F = 2.396)

Rl
rn

F

1

> aE
- MotdE dE
k=1+V(200/D) = 1.385 < 20
X = 650.000 mm (HEHAZE StEEEAH2|)
v = 0.6 (1 - fck/250) = 0.528
= [0.85 @ck(p fck)AYs (2D/x) + 0.15 fn] B-D / 1000 = 1145615 KN



Vcd.max = (0.5 @c-v-fck) B-D / 1000 = 663.743 KN
~.Ved = Min(Vc, Ved.max) = 663.743 KN > Vu = 394147 KN ... ~MEotEZ2 =gl

o

- A MEEZH S MEEZE AR

A2 MEHE ZH| pv.use = Av / (s-Bwssina) = 0.00122

XA MEPEZH| pv.min = 0.08 V(fck) / fy = 0.00110 < pv,use ... .OK

ZubsE £|CH 2+ simax = 0.75D (1+cota) = 1012.50 mm > si= 500.00 mm ... .OK
2latsk X|CiZHE somax = Min(0.75D, 600) = 600.00 mm > s2= 333.33 mm ... .OK

> AMEY HE (B8 4E)

Ms = 77.642 KN'-m (A&SHEET-D)
- T8 O f HE HTZQE HHo= JH)
n = Es/Ec = 200,000 / {0.077 mcA1.5 * 3V (Fck + Af)} = 7
Xo = {B:H?/2 + (n-1)-As:D} / {B-H + (n-1)-As} = 750.934 mm
Io = B-H3/12 + B-H:(H/2-X0)?+ (n-1)-As-(D-Xo0)?= 366,718,000,000 mm*
fct = Ms / Iox(H-Xo) = 0.159 MPa < fctk = 2.204 MPa
LHEY CE - RAE MY
-H23HM HE

fs = n‘Ms / lox(D-Xo) = 0.888 MPa < 0.8fy = 320.000 MPa ... .O.K



8.4.1 7HE KL =

s WEH 2 2

F

ZH5HE 5kN/m S
IS S A S | =
o

H-150x150x7x10

1.000 %(L

FNES ( 0400 x 125 x 1.0
LIR2ON IPNES ( 0004 x 100 x 1.0
n ZX ( 0080 x 1.00 x 1.0
n ZHE M1 14647 x 15

) x 785

1.000 + ( 0250 x 03 x 10 ) x 25

m ZHE M2 2875 x 113 (L7t SAMIEX|Q HE)
= MEHE V2
2) ZotE
n 2E55IE (EE R 5000 x 1.00 x 10 (ZHZO0])
s ZHE M3 5.000 0.50
= HEHE V3
3) AEtRol Bgote CHEE (F36}E)
m Mmax ( 21971 + 3234 ) x 125 + 5000 x 18
(== NS (HUOHS) (ZEotE)
= Vmax :( 12500 + 2875 ) x 125 + 5000 «x 18
(== NS (HUOHS) (ZEotE)
4) A TR0 285= HHY (AHEOSE)
= Mmax ( 21971 + 3234 ) x 10 + 5000 x 10
(TZ=E AB)  (HLEHE) (&)
= Vmax :( 12500 + 2875 ) x 10 + 5000 x 1.0

12.500
0.307
1.840

21971

12.500

2.875
3.234
2.875

5.000
2.500
5.000

kN
kN
kN
kN
kN

kN
kN
kN

kN
kN
kN

40.506

28.219

30.205

20.375

kN
kN

kN
kN




8 4.2 Fstst

SHAILE HE
ZHE =

CHEA A o

] TITLE

2A7H8

B(mm) H(mm)

d(mm)

Mu(kN-m)

Pu(kN)

Vu(kN)

1,000 400

320 40.51

4.69

28.22

NEZES 2J2E  oc
Z3E|E 4 Hatol mE A
n 2000
B 0412 ,

€CO

Bl

(=2p)

tcl>I-X

1510} Of At
(Ds.fyZ.B
apc-0.85fck-b

ArgHaY

@ CYCLE :

2,292
H19 @ 125

HIH HE

Max (
Max (
0.75 -pb

pmin

= 0.00342

°
=
D

O

1
>

»
=
[0

O
~

As-fs
a-®c0.85

4687.5
66.20 mm
875.65 kN,

( + 22920

(@)

T

oot

+ T x

C x (h/2-Bo)

255774  kN-m 2

TEHO|| oSt 2E
Vcd Max(
Max( 190,154
2822 kN =Vu
07| M, 1+v(200/d)

Vcd

v

K

-As?- fy-d-As +

mm?2 (

0.25V(fck) / fy, 1.4 / fy, ==

0.75 -

o

(0.85-®ck(p-fck) > +0.15-fn)b-d
183,933

0.65 0.95

i =L

g

0.002

, &cCu 0.003 ,

0.824

n

Asreq =
Hazy

2,292

80
da

mm), |
80

mm?2 (

Z2L-HIH|)
0.00350 , 0.00200 )

0.85-Ba-(fck / fy)-{600 / (600 + fy)}
0.00105 , preq’
0.00716

. =
CHTH| B

= 4/3-preq

®c-0.85-fck-b-c
, fs

Os-fy

fck-b-c - As-Ps-fy
(Pu+As-®s-fy)/(a-Pc-0.85-fck-b)

x 1.0 x 400 0.798

)/«

X

87096 kN

(d-h/2)

40.506  kN-m

) = 190,154
LR = E

1.79

o = -

0.

969

As-®s-fy/(a-®c-0.85fck-b)

337.0

MEE

mm )

0.00350

0.65

(0.4-®c-fctk+0.15-fn)-b-d

190.15 kN

M
=.

[ A 3 54.2.3]

0.798

;A

mm?2

0.02363

0.00140

= OK!

x 085 x 30 x 1,000

)



8 .43 AETHAYE HE

B(mm) H(mm) d(mm) I (mm) Ms(kN-m) Ps(kN) fy
1,000 400 320 80 30.21 3.75 400.00

Act = Min ( 25(h-d)-B , (h-x)/3-B , Bh/2 )
= Min ( 200000.0 , 1044312 , 200000.0 ) = 1044312 mm?
232 O iEto] AEg Y

ft = Ms/Z-Ps/A = 112 Mpa < fctk = 220 MpPa oo, o H| G eI

o

SEE =
C (R3ZE =) = 0.5-B:x-Ecec = 105308 N = 10531 kN
T (EZoEE) = Asfso = 101,558 N = 10156 kN
0f7|M, fso = Eses = 4431 Mpa
Pint = C-T = 105308 - 101558 = 3750 N = 375 kN = Ps( 375 KkN) .o = OKI
Mint =  C-(H/2-x/3)+T-(d-H/2)
= 30205000 N-mm = 302 kNm= Ms( 302 kNmM) e, = OKI

fso = 4431 Mpa < 320 Mpa (S08)) e = 0K

Asmin = ke-k-Act-fct/fsy 407 mm? < As = 2292 mm® . = OK!
O7|M, fct = 03(fcm*® = 315 MPa , kc = 040 , k = 093

o [=. 4.3 56.3.3]
=

rn

2 (
HEZAE 19 mn Of IHE 58S 5888 )
>

g2, EHIZF 125mn of
220, 300 ) = 300 = f

so( = 4431 MPa) = O.K!

r
,H'l
%
ot

Mot 56.34]

r

Irmax = Min ( d/(3.6-pe) ,  fsd/(3.6fct) )
( 2405 , 743 ) = 743 mm
HZ-Z32|E HAE X0

esm-ecm = Max ( (0.00010912) , 0.00013293 ) = 0.0001

o

w, = Irmax(esm-ecm) = 00 mn < DATEZE (= 03 M) e, = O.K!



1) ESHE

N

AR STK400 (E#X| %2 2T 2350 MPa , MG 80.0 MPa)
T 4 D508x12 (EZCHH . <D484(’SETEEIE FTh)
T 2| E=SH=EAD L5 Z0|(m) O &} Z O[(m) £7{3240|(m) H 2
Al E 3 6.000 0.100 5.900
A 3 6.000 0.100 5.900
CHHEE ( 4F 24 2mm 11d) ['4.12 THHEMX|" &x]
T 2 4 Ap(mm?2) Ip(mm?) Zp(mm?) ro(mm) | E2(mm)| App(mm?)
2z QUHLE 4 D484 60,688 | 1,688,673,633 | 6,701,086 167 - 199,504
Sl ®504x10 15,519 | 473,607,596 1,879,395 175 1,583 199,504
* App : HAIEHHA
2) ENE X|CHTHHE T A
— = =oHotA A EY AHE SHA| & ER
M (kN-m) V (kN-m) P (kN) M (kN-m) V (kN-m) P (kN)
ANE | ELE ([ SiAMX]| 643,515 286.652 561.041 602.283 260.898 423.646
= =2 of| 836570 372.648 729.353 782.968 339.167 550.740
AeE | S X | 236.899 169.195 570.464 252491 160.856 431.184
2 o] 307.969 219.954 741.603 328.238 209.113 560.539
SE | B4R | 4K 563.042 278.251 606.377 532.833 254.166 459.425
EES =2 o | 731.955 361.726 788.290 692.683 330416 597.253
AetE | S X||  186.087 146.314 615.800 209.721 141.197 466.963
2 o | 241913 190.208 800.540 272.637 183.556 607.052
T & RIZIA|
M (kN-m) V (kN-m) P (kN)
ANE | EZE | siMX | 379.085 175.620 292451
EEd 2 2| 492811 228.306 380.186
et [ S K[| 145.024 97.134 297.490
2 2| 188531 126.274 386.737
™ | 25| siMX| 330.829 166.684 326.837
EES 2 | 430078 216.689 424888
LUt | s X 73.173 82.621 331.877
= % 95.125 107.407 431.440
* 2o CtHE = theimE THHEEHAX]) x nE / YBEI| Of7|M, M= = 3900 m (AlH)
3900 m (BH)




9 21 AH E=

1) sEHHS 2E [ A3H7722)]
HYA mxde ZOf =EHL 8 = 378 MM £ 38 MM oo = OK!
RIZIAl w=arek £} =HHQ & = 197 mm £ 38 MM e, = OK!
X BT HASM T

2) XX[H HE

A L= S EX[XH
MEEX| X &

Qb =gb-App = 1995.037 kN
Of7|M, qgb: TE MEHOIM X|X|St= CHe[HAET SoHX|X|E (= 250 N)
N . MEFOMQ NX| (= 40 )
App: EAFHIF nefEl LS MOto| HMMHA (= 019950 m)
FHOoHEH
Qf = U-3(I:f) = 485459 kN
EXMRR NEA= S, m) NZ| U(m) fi AlLHA fi(kN/m’) U-lifi(kN)
AEE i =% 3.100 13 1.583 2N(<100) 26 127.619
AEE L) 2= %t 1.500 32 1.583 2N(<100) 64 152.003
MEE EFY 1.300 50 1.583 2N(<100) 100 205.837
X|EE F=HOPE=O| o SUlifi 485.459
F) N<22| AABO|M e A2[do| £F57| 20 FHUEMES na{g 5= gict
EENHAT|IZE0 oot S AR AFK| X
Qr = Ostat-(Qb + Qf)
o7|M,  ®stat : 0.45
~Qr = 045 x ( 1995037 + 485459 ) = 1116223 kN
B. X|X|¥ HE
SEX|XH
T = EENHAT|E L0 FRIEEZ=ALE DM R = &(kN) H o
Ra 1116.223 0.000 1116.223 A
Rae 1674.335 0.000 1674.3345 XITIA
XX HE
HMAl TEHe| XCH=3 = 729353 kN < Qr(= 1116223 KN ) oo, = OK!
K| ZA| HEMHE| X153 = 380186 kN < Qre(= 1674.335 kN ) oo, = O




2)

23" u%
THHS| HE
YAl n=dg 2o +FHS & = 418 mm < 38 mm = OKI
K| TIA| m=star X0 ~HH2 5 = 206 mm < 38 mm = O.K!
X B2 MAel A Bx
XX HE
. o] S| 8X|X|H
MEEX| X
Qb =gb-App = 1995.037 kN
o7|M, qgb: TE MEHOIM X[X|St= SHIHAEY FoHX| X3 (= 250 -N)
N : MEHOMCSl NX| (= 40 )
App: FAFH7E DeqE 2 MEe HMEX (= 019950 m')
FHOHEH
Qf = U-3(I:f) = 485459 kN
EXMRF AlSH S, m) NX| U(m) f; Al AHA] fi(kN/m’) Ul fi(kN)
AMNEE WE=% 3.100 13 1.583 2N(<100) 26 127.619
ANEE L2 =%t 1.500 32 1.583 2N(<100) 64 152.003
MEE Et 1.300 50 1.583 2N(<100) 100 205.837
XEE FHUOEHL & FUlifi 485459
F) N<29| AAFU A= ME[MHO| EFSH7| 20 =HUEMES Da{g 5= giCt
S2nAA7|E QB HEAXLFKXH
Ra = ®stat-(Qb + Qf)
O7|M,  Ostat : 0.45
~Ra = 045 x ( 1995037 + 485459 ) = 1116223 kN
XXy HE
S{EX[X|H
T = EE2NHEAT|E AA FXIEERALE T M B & Z(kN) H
Ra 1116.223 0.000 1116.223 HAA
Rae 1674.335 0.000 1674.3345 K| ZIA|
XXo HE
HAMA| TEMHE| =3 = 788290 kN < Ra(= 1116223 KN oo, = O
K| ZIA| HEHE| £[CHHE = 424888 kN < Rae(= 1674335 KN oo, = O.K!




oFEc

9.3 U 2N HE

9 3.1 AH E=

of

nk:|

2
7
[

]
(=]
A

MPa <

A

(

a
A
BA

o
=8

oo g2

(.M

MPa <

A

MPa <

223.25 MPa

1) 5|83 #44s HE
- 0|30 2 588y Ua Olg8 7% = 0 EAO|EZ
HZH[of 2 5 8SH L AMAH[(Y/D) = 19799 < 100
20 Cist 5888 A T MA 20|17} X|Etof 2 IE|of
2) ¥ BEZ4Eo| SHAE
A. ALESHA ME] SHAE
ZMX| SAS: 095Fyc = 22325 Mpa
AL=SH
P M 550,740 782,968,000
fc = + = = 12592
Ap Zp 60,688 6,701,086
v 339,167
v = = = 5.59 MPa < 80.0 MPa
Ap 60,688
f 2 2
U B R X Y I T R
fa Va
B. X| XA SHAE
P M 380,186 492,811,000
fe = . _ = 7981
Ap Zp 60,688 6,701,086
v 228,306
v = = = 3.76 MPa < 120.0 MPa
Ap 60,688
f 2 2
e el o 006 € L2 e
fa Va
3) 5 YutEo| SHAE
A HA SHEE
A= H
p M 560,539 328,238,000
f = + - = 14528
Ap Zp 15,519 1,879,395
Y, 209,113
v = = = 1347 MPa < 800 MPa
Ap 15,519
f 2 2
e el o 045 € L2 e
fa Va
B. X| XA SHAE
P M 386,737 188,531,000
fe = + _ = 12523
Ap Zp 15,519 1,879,395
v 126,274
v = = = 814 MPa < 1200 MPa
Ap 15,519
f 2 2
U N Y R 1 N
fa Va

2482 0|= 15000 m)

5.8.11.1(3)]

= OK!
O.K!

(==

(==

O.K!

= O.K!

= O.K!

= O.K!

= 0!

= OK!

= OK!

= OK!

(== OKI

= OKI



2)

3)

0|20 E 583 LA Ol28 /== = 0EAOI2ZE2Z (0 13 ( 28+Z0|= 15000 m)
d4H[0f E 583 4 HAH|(L/D) = 19799 < 100 O|2=Z ZA g2,
Zt=20f chst 5i2888 Za L MA|Z0[7F X2 2R A A QUS [£.A 5811.1(3)]
us wzgo guHs
HA SHAHE
E:!X| SHASH: 095Fyc = 22325 Mpa [=.4.36.10.5.2]
SPEEL
p M 597,253 692,683,000
fc = + - = 11321 MPa < 22325 MPa ... = OKI
Ao Zp 60,688 6,701,086
v 330,416
v = - = 544 MPa £ 800 MPA oo = OKI
Ap 60,688
f 2 2
e o el 2 026 € 12 e = OKI
fa l/a
xFA SHAE
p M 424,888 430,078,000
fc = + - - 7118 MPa < 33488 MPa ... ~ OKI
Ao Zp 60,688 6,701,086
v 216,689
v = - = 357 MPa £ 1200 MPa oo ~ OKI
Ap 60,688
f 2 2
{L} + {V} =005 € 12 e = OKI
fa l/a
us uusol HAE
MK 8YZE
SLEED
p M 607,052 272,637,000
fc = + - - 18418 MPa < 22325 MPa ... = OKI
Ao Zp 15,519 1,879,395
v 183,556
v = - = 1183 MPa € 800 MPA oo = OKI
Ap 15,519
f 2 2
e el 2 070 € L2 e = OKI
fa l/a
XZIA SHEE
p M 431,440 95,125,000
fe = N - - 7841 MPa < 33488 MPa ... = OKI
Ao Zp 15,519 1,879,395
v 107,407
v = - = 692 MPa £ 1200 MPE oo = OKI
Ap 15,519
f 2 2
{L} + {V—} = 006 € 12 e = OKI
fa l/a



i

1)

2)

o
4
ic|

oy

£ Ml 5.811.3]

3=
Z4% g
Sf7|E & O ZO|E XAFstn, M2 S US| 24510 YZHEE HA0| N,
LEHZ 2
- EEE =N
fch
398 504 39
(=h") (=D) (=h")
Y=o Cist HE
7| x 232 EQ| £EX|ASH
2]
fo =—s f,
T
_.D2
4
O7|M, Pumax: SAIQEXIZIA|, HEME| O 2E5L= 712 2 +2E(N)
i Al 232[EQ| HEXYSH (=0.25fck), O{7|M, fck = 30 MPa
fea X|ZA|, 232|EQ| 3| 8X|YSH (=1.33-(0.25fck))
A Al f, = 788290 / 199504 = 395 MPa < 875 MPa = OK!
X EIA| f, = 424888 / 199504 = 213 MPa < 11.64 MPa = O.K!
CEH7|x 238 Eo| UMESH
Pn
L= Nmx o
(D + h)h
A7|M, h 7R SEFA. HAOf Y= Z2 HASH 1 (= 398 mm)
T3 A, 232|EQ| S| ELAUYLUNMESH
Tz XIEA, 232 EQ S| &2 YUHTSH
Ab Al T, = 788290 / 1,127,819 = 070 MPa < 1.000 MPa oo, = OK!
K| ZIA| T, = 424888 / 1127819 = 038 MPa < 1330 MPa oo, = O.K!
ol=iof Clist HE
XMooz oldty| st HE= SHX| Yot =ICt
Lo st HE
CE87|x 232 EQ| +HX|YSH
Py
fch - Dn.1|a>< < fca
H7IM, Pumax: aAIQE X|TIA 220 2E5H= 7HE 2 =HE(N)
| o HEOI Y0l (= 100 mm)
A Al fo, = 372648 / 50400 = 639 MPa £ 875 MPa oo, = O.K!
X EIA| fo, = 228306 / 50400 = 453 MPa < 11.64 MPa .o, = O.K!



B. ST}7| % THE W0 L3 SHAUHESH

—_ H2 - -
Phimax
Y T Th@sDsam P
o47|M, h' TEYSo| UMY MEsts 7| Xl REFH (= 398 mm)
Ab A T, = 372648 / 597,000 = 062 MPa < 1000 MPa = OKI
RIZIAl : 1, = 228306 / 597000 = 038 MPa < 1330 MPa = OK!
4) HOH%E
fsal'Ast .
L, = Max(T, 35d; ) = Max( 461 , 777 ) = 777 mmO|A2 HE3IC}
q7IM, fea oldE 2ol s80&83 (SD30 : f, = 150 MPa)
A Oy HZ2ol SHLIHA (D22 : Ay = 3871 m)
U Old™ 2o SHEYZO| (D22 : U = 70 mm
d; oldHEZe SHXE (D22 d; = 222 mm
Toa 232|Eo 588 A8Y  (fck= 35 MPa: T, = 18 MPa)
O|gH 22l 583
HIO BF SD30 SD35 SD40
oI A Ax3H 150 175 180
[O|HE 2ol BEX|=]
O|¥HE 2| TF, Dg(mm) D19 D22 D25 D29 D32
OlFHE ol ZHX|E, di(mm) 19.1 22.2 254 28.6 31.8
O|HEZO| SHCHHA, A () 286.5 3871 506.7 6424 794.2
OlFH 2ol 3H=, U(mm) 60 70 80 90 100
(B2 EQ HEFAEH]
ZAZ|EQ| HA7|EZ E(fck) 21.0 24.0 27.0 35.0
OlFHN 232EQ| ${8FASE(t,,) 14 16 1.7 1.8
5) OjdZo|
g 7| = &0 ZE02| 222 Y20l X% 100mmE THCf,
6) G1E| X|AZ=of CiSt HE (2.4 p125]
OVn = ®(0.85-fck-A;)
= 065 x ( 085 x 35 x 199504 )
= 3,857,903 N 2 788290 N oo, = OKI
oq7|M, A HSFH™ (= 199,504 mm)
7) PUNCHING HETHZTOf Clist HE [2.M p154]
A= =Z =2 HAO| 00 A0 PUNCHING HEHE EZQ.
8) 7ZI4EHIZ3EE THHo| 3
B Jtd B2 Z32E ChEoletE - r =D/2+ 100 = 352 mm
AN BB NI A2 rs=D/2- 40 = 212 mm
/ Y MNEEDE As= D22 @ 8EA = 3097 mr
'\ ," AHEE 2 H| p= As/mr2 = 3097 / 38925 = 0.007956
\\ ,/ EFMA$=Hl : n = 200000 / 29500 = 7
S~ - np = 7 x 0007956 = 0.055690
504 rs/r= 212 / 352 = 060

100

100



A. A4

Z3Z|EQ| FYRSHAFOA EZE D2 AT EHA () 23

e = Mmax / Pma>= 836570 / 788290 = 1061 m
e/r = 1061 / 0352 = 3015
BGEO|A e/r=3.015, np=0.05569 ¥ [} Cot S=
.C= 050 , S = 020
ZH2|EQ EY=EY
fc = M/r3C
= 836570 x10°,/ 352 3 x 050
= 959 MPa < f, (= 040 x fck = 140 MPa) oo, = OK!
HZo oysd 0.000 MPa
fs = M/r3Sn
= 836570 x10°,/ 352 3 x 020 x 7
= 2685 MPa < fy, (= 150.0 MPQ) oo, = OKI
B. X|TIA|
ZIZEQ| USSHATO)A EEHZ "AYSHAS) 28
e = Mmax / Pmay= 492811 / 424888 = 1160 m
e/r = 1160 / 0352 = 3295
BGEO|A e/r=3.295, np=0.05569 & W Cot S=
~C= 05 , S = 020
Z3ZEQ| HAYU=EH
fc = M/r3C
= 492811 x10°,/ 352 3 x 050
= 565 MPa < f, (= 133 x fca = 186 MPa) oo, = OK!
HIo Eoysd 0.000 MPa
fs = M/r3Sn
= 492811 x10°/ 352 3 x 020 x 7
= 1582 MPa < f, (= 133 x fsa = 1995 MPa) .o, = OK!
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1) M8z o

A ZX

SM490

E
ko

MPa
MPa

315

490
205,000 MPa

Fy
Fu

Es

$+

X0
wd

ol

~NO

MPa

2.10
12.00

= 30

fck

- QAIIEBE

wJ

(25MPa O[3} )

MPa
MPa

x fck
x fck

0.07

04
29,500

2350kg/m?3

MPa = 0.077xmc”1.5x(fcu)”~(1/3), mc

Ec

SD 400

E
ko

il
R

MPa
MPa

400

160
200,000 MPa

fry

fra
Er

6.9

= Es/ Ec
= Es/Er
= Er/ Ec
= Ep/ Ec

nsc

o 23|29 B 4|

I

ul

et Bt

10
6.8

nsr

nrc

32| Eof BHgA =H|

6.8
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=
N

QEE MY
EUx| f85 [E2U M7= 3.834]
DEIY = 0650 + 1 @ 1200 + 0650 = 2500 m
SEXZE = 19940 m (=)
M A A A3
S il il
e S ,
—e i —_— —_— i
-
=l L 0.30
be
: ! 1 1
N i — ) E— Qb —————————- D N —— l
be = 0300 / 2 = 0150 m : ZSHUX ===
br = 0150 m, b2 = 0150 m
b1/t = 0150 / 19940 = 0008 |b2/t = 0150 / 19940 = 0.008
047|M, bi/ <0050E22 O7|M, b2/t <0050E22
Al = b1 A2 = b2
= 0150 = 0150
EHx F2=E : Bf = A+ Ag = 0300 m
be = 0450 / 2 = 0225 m : EUX ===
b1 = Xi- be = 0650 - 0225 = 0425 m
2b2 = Xo- 2«(be + h) = 1200 - 2 x ( 0225 + 0150 ) = 0450 m
b1/t = 0425 / 19940 = 0021 |b2/t = 0225 / 19940 = 0011
047|M, bi/ <0050E2=2 047|M, b2/t <0050E2=2
Al = b1 A2 = b2
= 0425 = 0.225
QIEHlo| HittTt R B E Bse = A1+ A2+ 2:be + h = 1250 m( 1250 m)
W=glo| HE T fa= Bsi = 2:(A\2+ be + h) = 1200 m
WA QRE =( 1250 + 0 @ 1200 + 1250 ) / 2 = 1250 m
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T 2 b(mm) | h(mm)| A(mm?2) | z(mm) A-z(mms) A-z2(mm?) To(mm#)
a8 oo 0 0 0 112 0 0 0
SEEUX| 300 18 5,400 121 653,400 79,061,400 145,800
g5 82 o 11 452 4,972 356 1,770,032 630,131,392 84,649,957
SHEE X 300 18 5,400 591 3,191,400 1,886,117,400 145,800
SHe G 0 0 0 600 0 0 0
g A - - 15,772 - 5,614,832 2,595,310,192 84,941,557
CHHSES A es = S(A2) / S(A) = 356 mm
SEF of CHHOAIRH E Ist = Slo + S(Az?)- J(A)es? = 681,371,557 mm#
Torsional constant Jst = S bh®/3 (b>h) = 1,366,937 mm#

E CiH
b(mm) | h(mm) A(mm?) z(mm) A-z(mm3) A-z2(mm?) Io(mm?4)
1,250 | 800 | 1,000,000 | 400 400,000,000 160,000,000,000 | 53,333,333,333
- - 1,000,000 - 400,000,000 160,000,000,000 | 53,333,333,333
Azl ec = S(A2) / 3(A) - 400 mm
PEFHXI DT E Ic = Slo + Y(Az?)- S(A)-ec? = 53,333,333,333 mm*
Torsional constant Jc = Y b-h*/ 3, (b>h) = 213,333,333,333 mm*
XHHEE 232|EQ| H{EQYSH XA HE
b(mm) | h(mm) A(mm?) z(mm) A-z(mm3) A-z2(mm?) Io(mm?*)
1CtE 2 - - 1,936 70 135,485 9,483,950 -
2¢t - 1,936 750 1,451,625 1,088,718,750 -
gt - - 3,871 - 1,587,110 1,098,202,700 0
CHH 7g| er = S(Az) / S(A) = 410 mm
58 CHHOXIZRRHE @ Ir = Slo + Y(Az?)- S(A)-er? = 447487600  mm?
ex 0.002B.H 0002 x 1000 x 800 = 1600 mm? < 2323 0K




Lt SIS THAIE

A. Section Properties for Steel Girder

g

- = n A(mm?) z(mm) A-z(mm3) A-z2(mm?) Io(mm?) H 1
Z M 10 15,772 356 5,614,832 1,998,880,192 681,371,557
2 A - 15,772 - 5,614,832 1,998,880,192 681,371,557
CHHSEE A e = S(Az) /S(A) = 356 mm
SEHO|| Cfot CtHXXIEHE Is = lo + S(Az?)- S(A)e? = 681,371,557 mm?
Torsional constant c s = Jst = 1,366,937 mm?*
& SEFO0M 2t HHHR AKX HE|
PARIDN S g Ysu = 244 mm
4 X stA Ysl = 244 mm
@ CHHA =
FARRN o gl Sts = -2792506 mm?
4 Mo Sbs = 2792506 mm?’
B. Section Properties for Long-Term Composite Section
- = n A(mm?) z(mm) Az(mm3) A-z2(mm?) Io(mm?#) H| o
Z M 1.0 15,772 356 5,614,832 1,998,880,192 681,371,557
HIEHHE32|E| 208 47,967 400 19,186,992 7,674,796,748 2,558,265,583
g A - 63,739 - 24,801,824 9,673,676,940 3,239,637,140
CHHEEH A2 e = Y(Az) / 3(A) = 389 mm
SEHFO| Cfot CtHIXIEHE Iv = To + S(Az?)- Y(A)e? = 3,262,616,107 mm*
Torsional constant .Y = Jst + Jc/n = 10,234,429,268 mm*
& SEFOM 2t CHHANX]Q| A2
4 N oA Yvsu = -277  mm HFEF232E 4 . Yveu = -389 mm
4 X 5t Yvsl = 211 mm HIZH232|E 3l - ywd = 411 mm
PN S dvs = -33 mm HIEH232|E &4 : dvc = 11 mm
@ CHHA
FARRN g Slts = -11,773619 mm’
g Mo Slbs = 15470879 mm’
C. Section Properties for Short-Term Composite Section
T = n A(mm?) | z(mm) Az(mm3) A-z2(mm?) Io(mm4) H o
Z M 1.0 15,772 356 5,614,832 1,998,880,192 681,371,557
HISHEIZ|E| 6.9 143,902 400 57,560,976 23,024,390,244 7,674,796,748
| - 159,674 - 63,175,808 25,023,270,436 8,356,168,305
CHEHSEE A e = S(Az) /S(A) = 396 mm
SEHO| Cfot CtHXXIEHE Iv = Io + Y(A-z3)- S(A)-e? =  8383,686,813 mm*
Torsional constant .Y = Jst + Jc/n = 30,700,553,929 mm*
& SEFOM 2t CHHANX]Q| A2
4 X A Yvssu = -284 mm HIEFE3IZE 4 : Yvesu =  -396 mm
4 M stA Yvssl = 204 mm HIEf 232 E St © Yvesl = 404  mm
4 M e dvss = -40 mm HIE232E =N ¢ dves = 4 mm
@ CHEAS
FARRY IR Ssts = -29,556,047 mm’
FARRN el Ssbs = 41,026890 mm?’




D. Section Properties for Steel Girder+Reinforcement

S n A(mm?) z(mm) Az(mm3) Az2(mm?) Io(mm#) H 0
Z M 1.0 15,772 356 5,614,832 1,998,880,192 681,371,557
R 1.0 3,777 410 1,548,400 634,844,000 436,573,268
g A 19,549 - 7,163,232 2,633,724,192 1,117,944,826
CHHEEH A2 e = S(A2) / 3(A) = 366 mm
SEZO0 ofst StHXXIEHE ¢ Ivr = lo + S(Az?)- S(A)e? = 1126829843 mm?
@ FEFOM Z HHLATX| Q| AHE|
F2N o Yvrsu = -254 mm MEBZEIAEH ¢ Yvrru = -296 mm
Z X st Yursl = 234  mm AMBEHZAMEIQE) Yyl = 384  mm
FARN S dvrs = -10 mm MEHZAEI M - dvrr = 44 mm
@ THHA
AR IR g Str = -4428801 mm?
Z X st Sbr = 4824424 mm?
Ch. CHHEGX] A
[EH]:mm]
= Ix(mm#) Ycu Ycl Ysu Ysl Yru Yrl St Sb A(mm) | ds n
1 681,371,557 - - -244 244 - - -3E+06 | 2.8E+06| 15,772 - -
2 3,262,616,107 -389 | 411 | -277 | 211 - - | -1E+07 | 1.5E+07| 63,739 |-33 | 20.8
3 8,383,686,813 -396 | 404 | -284 | 204 - - | -3E+07 | 4.1E+07 159,674 | -40 | 6.9
4 1,126,829,843 - =254 | 234 | -296 | 384 | -4E+06 |4.8E+06|19,549 |-10 | 1.0
X 1 e HHHES * As = 15772  mm?
2 g tHEEd + HEE 232 E Ac = 1,000,000 mm?
3 |2 EtH(E S + HIEE 232|E) Ar = 3,871 mm2
4 ey CHHEY(ZE + HIE T H4AE D)
2) 38 4
7. 284
A. SeHoHA| HEY
@D YZHE 2|
X MREUX 28
ftu = Mu /St = -49.06 MPa (&%)
ftuc = Muc / St = -6.25 MPa (&%)
ftua = Mua/ St = -248 MPa (&%)
ftup = Mup /St = -7.53 MPa (2=)
ftct = PCLAM = 0.00 MPa (%)
fut = -4906 + -625 + -248 + -753 + 000 = -6532 MPa (¥%)
X SHREHX 28
fou = Mu/Sb = 37.33 MPa (213
fouc = Muc/Sb = 476 MPa (21
foua = Mua/Sb = 1.89 MPa (2I%)
foup = Mup/Sb = 542 MPa (2I%)
ftcb = PCZAM = 0.00 MPa (2!%h
fub = 3733 + 476 + 189 + 542 + 000 = 4940 MPa (2/Zh




x 232 g8

fvcu = (Muc + Mua + Mup)-Yvcu / (nsclv) = -221 MPa (&%)

fvcl = (Muc + Mua + Mup)-Yvcl / (nsclv) = 2.26 MPa (21&h
@ FRHE Al
X MEEUX 238E

ftu' = Mu/ St = -4906 MPa (¥%F)

ftuc' = Muc/ St = -16.62 MPa (&%)

ftua® = Mua /St = -6.59 MPa (2=)

ftun' = Mun/ St = 117 MPa (21%)

ftct = pCE oM = 0.00 MPa (21%)

fut' = -4906 + -1662 + -659 + 117 + 000 = -7110 MPa (&%)
X SHREEUX 28Y

fou = Mu/ Sb = 3733 MPa (21%)

fbuc' = Muc/ Sb = 15.26 MPa (21

fbua'® = Mua/Sb = 6.05 MPa (21

foun' = Mun/Sb = -1.08 MPa (&%)

ftcb = pCcZolM = 0.00 MPa (21%)

fub' = 3733 + 1526 + 605 + -11 + 000 = 5756 MPa (2!
X 232|E &38H

fvcu = (Muc + Mua + Mun)-Yvcu / (nsclv) = -066 MPa (&%)

fucl = (Muc + Mua + Mun)-Yvcl / (nsclv) = 068 MPa (2IZh
B. AM2SHA|HEH
@ ERHE ZHA|
X MREUX 28Y

fts = Ms /St = -3270 MPa (¥%)

ftsc = Msc/ St = -17.57 MPa (&%)

ftsa = Msa / St = -1.65 MPa (&%)

ftsp = Msp/St = -1080 MPa (&%)

ftct = PCZAM = 0.00 MPa (2!

fst = -3270 + -1757 + -165 + -1080 + 000 = -6272 MPa (
X SHREHX 28

fbs = Ms/Sb = 24.89 MPa (21%)

fbsc = Msc/Sb = 3.17 MPa (2!%)

fbsa = Msa /Sb = 1.26 MPa (213

fosp = Msp/Sb = 3.10 MPa (2I%)

ftcb = PCZAM = 0.00 MPa (2!

fsb = 2489 + 317 + 126 + 310 + 000 = 3242 MPa (
X 232|E &8

fvcu = (Msc + Msa + Msp)-Yvcu / (nsclv) = -221 MPa (&%)

fvcl = (Msc + Msa + Msp)-Yvcl / (nsclv) = 226 MPa (2%



°=)

°=)

_ — = -
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3) THHH| x|
7}. SHHH|

40500000 mm#

H2XIEHE) = 81050134 mm?

OK!

< Iygly < 09

0.1

0l) = 259.86 mm4 (&)

65.32 MPa (&)

OoK!

)

KO

X

< 200.00 (

47.25

2-Dc/tw < Min (6.77V(E-fc) , 200)

23357 mm* (8)
7110 MPa (8)

OoK!

< 200.00 (&)

47.25

2-Dc/tw < Min (6.77V(E-fc) , 200)

OoK!

> 7796

300.00

bf > 0.3-Dc



B. st B AE
@ YRUE SMA ( AFBUX )
bt / (2:tt) < 12.0 = 833 £ 1200 e = O.K!
4) AMOHE [ A3 25A61]
7l 24 FE= 1A
P BC Py
T BfucxTfuc T Prt
lgjoooo oooooj - Fc
I I . Prb
=3 Pfuc
Pfu
BfuxTfu J 4, Pfw
BfwxTfw
BflxTHl
— Pfl
OB x ¥ fle e 0 0 0 o Pflc
A. THHE LA
Prt Pc Prb Pfuc Pfu Pfw Pl Pflc
(N) (N) (N) (N) (N) (N) (N) (N)
774,200 25,500,000 774,200 0 1,701,000 1,566,180 1,701,000 0
S ANFES AN . zAEEDLS) (FRUE)
- 2438F 2K =8m  (RadE)
B.2dRHE
& SRUE 2HA|
Y = Tc:((Prb+Pfuc+Pfu+Pfw+Pflc+Pfl-Prt)/Pc) = 155.86 mm
Mp = Y2-Pc/(2-Tc) + (Pfu-dfu + Pfw-dfw + Pfl-dfl + Prt-drt + Prb-drb)
= 1,757961,761 N-mm = 175796 kN-m
5) THH =Y (=43t 6.104.1]
7t 2™ =4
THEH A Ac Au Ab Aw Ar
mm? 1,000,000 5,400 5,400 4,972 3,871
gedE Fyc Fyr Fyt Fyw fck
MPa 315 400 315 315 30
Dcp = 000 (SRHE)
fy = 315 MPa < 460 MPA oo = 0K
Lt =2 e
2-Dcp/Tfw < 3.76-V(Es/Fyc) = 0.0 < 959 (HRHE)



=2
A gSRHE ZHE
HEEHX
Fy = MItu/Sts+Mtuc/Slts+Mtua/Slts+Mad/Ssts
0{7|AM, Mtu = 736 kNm , Mtuc= 736 kN-m , Mtua= 292 kNm
Fy Mtu Mtuc  Mtua
Madl= Ssts x [ - - - ]= 873 KkNm
1 Sts Slts Slts
- SHRESHX]|
Fy =2u/Sbs+Mbuc/Slbs+Mbua/Slbs+Mad/Ssbs
047|M, Mbu = 5776 kN-m , Mbuc= 736 kN-m , Mbuz= 292  kNm

Mad2 = Ssbs x [ —2— - dou Mbuc MBUEY 1359w
= X - - - = .
1 Sbs Slbs Slbs

- Mad = Min(Mad1,Mad2) = 8273 kNm
My = Mtu + Mtuc + Mtua + Mad = 8450  kN-m
B. ddaaxH [=.2.2 6.104.2.(2)
“DP/D = 278 < 5 et = OKI
0{7|M, Dp = 15586 mm , D' = 5600 mm
- Mnl = 13RhMy = 10984 kN'm
Mn2 = (5Mp-0.85My)/4 + (0.85-My-Mp)-Dp/D)/4 = 417616 kN'm ( D'<Dp<5D')
Mn =Min(Mn1l,Mn2 = 4176.2 kN'm
C E3Z: ZEE
Mr = ¢fMn = 41762 kN-m
Mi = 90280 kN-m
Mu = >Nivi-Mi = 90280 kN-m < Mr(= 41762 kN'm ) s = OK!

A SEEZ MK ofF

- Bfw/Tfw = 4109 < 1500 = $EEHZI| OjMdX|

Vp = 0.58-Fyw-Bfw-Tfw = 908384 N = 90838 kN

Vn = CVp = 908384 N = 90838 kN

Vr = ¢vVn = 908384 N = 90838 kN

Vi = 226 kN (&)

Vi = 169 kN (5)

Vu = SniviVi = 226 kN < Vr(= 90838 kN ) (&) ..



7. SRET HE (=43t 6.103.2]
Dc (BH4EYUOM LHE e SFEL =0)) = 21340 mm* (&)
fc (YHEHX %) = 6272 MPa (%)
few < Min(0.9-Es-ork/(Bfw/Tfw)2 , Fyw) = 13849 < 31500 (&) e = OK!
Lt EX| HE [=.4.36.105.2]
A MEEX| HE
095Fyc = 29925 Mpa > 627 Mpa (=) () e = OK!
095Fyc = 29925 Mpa > 696 Mpa (=fC) (F) e = O.K!
B. StREUX| HE
095Fyc = 29925 Mpa > 324 Mpa (=) () e = OK!
C. ¥ HE
008 mn < 24925mn( =X[ZE /800 ) e = OKI
8) ASd EE
7t @8 4+
- Mconst , A3 Z|Of RHE = 65119 kN'm
- fuconst , A& SEEHX 288 = -23319 Mpa (¥F)
flconst , AlSS SHEEHUA @838 = 23319 Mpa (21%)
fweonst, AlSE SHREEHX 83 = -21599 Mpa (&%) (&)
L}, SHdTHH A3 HE [=.4.36.103.2]
A H|ZLUCHH Qb2 Z K] M| EHH|
Bfu/(2-Tfu) < 12.0 833 S 120 e = OKI
B. H|ZYCHH &4XEHX| H|X|X|Ho| HE
It = TfuBfu’/12 + (Dc/3)Tfw?/12 = 40507889.9 mm*
At = TfuBfu + (Dc/3)-Tfw = 618247 mm?
rt = VJ(It/At) = 80.94 mm
Lp = 1.76-rtV(Es/Fyc) = 363432 mm
Lb = 9000 mn> 3634 mn (=lp) = EHEYUzZ 15

C. ¢5E/x AHE

For = Min(1.904-Es/((Bfu/(2-Tfu))*v (2:Dc/Tfw)) , Fyc) = 315.00 Mpa (cEEZX O/AE

Fn = Rb-RhFcr = 315 Mpa

Fr = ofFn = 315 Mpa = 13849 Mpa (=fC) =
C-1. gH|E3Z= 1

Mn = Min( 3.14-Es-Cb-Rh(lyc/Lb)-v(0.772-(J/lyc)+9.87-(d/Lb)2) , Rh-My ) = 6.8E+08

Fn = 243.43Mpa

Fr = o¢fFn = 243 Mpa 2 13849 Mpa (=fc) e =
D. SR EUX| EHE

Fn = RbRbFyt = 315 Mpa

Fr = o¢fFn = 315 Mpa 2 13849 Mpa (=fc) e =

OK!

kN-m

O.!

O.!



oF

E S8 UE

o

- fow < Min(0.9-Es-ork/(Bfw/Tfw)2 , Fyw) =

F.HCHHE

Vconst = 561 kN

Vn = CVp = 9084 kN

Vr = ovVn = 9084 kN

Vu = 561 kN< Vr(= 9084 kN )

21599 < 315.00 Mpa

= 0K
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CHHA| =
Zr T
T 2 b(mm) | h(mm)| A(mm?2) | z(mm) A-z(mms) A-z2(mm?) To(mm#)
a8 oo 250 20 5,000 102 510,000 52,020,000 166,667
SEEUX| 300 18 5,400 121 653,400 79,061,400 145,800
g5 82 o 11 452 4,972 356 1,770,032 630,131,392 84,649,957
SHEE X 300 18 5,400 591 3,191,400 1,886,117,400 145,800
St o 0 0 0 600 0 0 0
g A - - 20,772 - 6,124,832 2,647,330,192 85,108,224
CHHSES A ©es = S(A2) / S(A) = 295 mm
SEHO0| Cft tHXXIEHE ¢ Ist = Slo + Y(Az?)- S(A)-es? = 926470429  mm*
Torsional constant o Jst = S bh®/3 (b>h) = 2,033,604 mm#
Hi=tgEt 232|E tHH
T = b(mm) | h(mm) A(mm?) z(mm) A-z(mm3) A-z2(mm?) Io(mm?4)
HFEfTE32|E| 1,250 | 800 | 1,000,000 | 400 400,000,000 160,000,000,000 | 53,333,333,333
g A - - 1,000,000 - 400,000,000 160,000,000,000 | 53,333,333,333
CHHSES A . ec = S(AZ) / S(A) = 400 mm
SEFO0| ofzt ttHXXIEHE 1 Ic = Slo + Y(Az?)- S(A)-ec? = 53,333,333333 mm*

Torsional constant o S b-h® /3, (b>h) 213,333,333,333 mm*

LR HZAHZ XHHEE 232|EQ| H{EQYSH XA HE
- = b(mm) | h(mm) A(mm?) z(mm) A-z(mm3) A-z2(mm?) Io(mm?*)
1HeZED - - 6,424 70 449,680 31,477,600 -
2CHE A - 6,424 750 4,818,000 3,613,500,000 -
g A - - 12,848 - 5,267,680 3,644,977,600 0
CHHEEH A2 er = Y(Az) / 3(A) = 410 mm
SEHFO| Cfot CtHIXEHE Ir = Slo + Y(Az?)- J(A)er? = 1485228800 mm*




Lt SIS THAIE

A. Section Properties for Steel Girder

g

- = n A(mm?) z(mm) A-z(mm3) A-z2(mm?) Io(mm?) H 1
PN | 1.0 20,772 295 6,124,832 1,805,967,987 926,470,429
g A - 20,772 - 6,124,832 1,805,967,987 926,470,429
CHHESE= AL e = S(Az) / S(A) = 295 mm
SEHO|| Cfot CtHXXIEHE Is = lo + S(Az?)- S(A)e? = 926470429  mm?
Torsional constant : o Js = Jst = 2,033,604 mm?*
@ SUSO0|M 2 cHHQ AX| 9 AHZ|
4 T oA Ysu = -203 mm
4 xf 5t Ysl = 305 mm
@ THHA
AR IR g Sts = -4567,043 mm’
4 X ot Sbs = 3036214 mm’
B. Section Properties for Long-Term Composite Section
- = n A(mm?) z(mm) Az(mm3) A-z2(mm?) Io(mm?#) H| o
P2 | 1.0 20,772 295 6,124,832 1,805,967,987 926,470,429
HISfHE3E2|E| 208 47,967 400 19,186,992 7,674,796,748 2,558,265,583
g A - 68,739 - 25,311,824 9,480,764,735 3,484,736,012
CHHEEH A2 e = Y(Az) / 3(A) = 368 mm
SEHFO| Cfot CtHIXIEHE Iv = Io + (AZ?)- S(A)e? = 3,644970,090 mm?
Torsional constant .Y = Jst + Jc/n = 10,235,095935 mm*
@ SYUZO|M 2 CHH ANX| Q] Az
F2 N o Yvsu = -276 mm HIEF232|E 49 : Yveu = -368 mm
4 X 5t Yvsl = 232 mm HIZE232)E 8k - ywd = 432 mm
FARDN = dvs = -73 mm HIEE232|E =4 - dvc = 32 mm
@ CHEA S
PARDN IR g Slts = -13,195497 mm’
4 X ot Slbs = 15726556 mm’
C. Section Properties for Short-Term Composite Section
o< = n A(mm?) z(mm) Az(mm3) Az2(mm?) Io(mm?) H o
P2 | 1.0 20,772 295 6,124,832 1,805,967,987 926,470,429
HISfME3E|E| 69 143,902 400 57,560,976 23,024,390,244 7,674,796,748
| - 164,674 - 63,685,808 24,830,358,231 8,601,267,177
CHHEER A2 e = Y(Az) / 3(A) = 387 mm
SEHO| Cfot CtHXXIEHE Iv = Io + S(Az?)- Y(A)e? = 8801925043 mm*
Torsional constant .Y = Jst + Jc/n = 30,701,220,596 mm*
@ ZUZO|AM 2 CtH ANX| O AR
P2 N I Yvssu = -295 mm HIEF23C|E 49 ¢ Yvesu = -387 mm
4 X 5t Yvssl = 213 mm HFSFE232IE 1% © Yvesl = 413 mm
PASIPN L= dvss = -92 mm HIEF232|E =4 : dves = 13 mm
@ CHHA =
Z T A Ssts = -29,863591 mm’
4 X ot Ssbs = 41272759 mm’
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D. Section Properties for Steel Girder+Reinforcement

S n A(mm?) z(mm) Az(mm3) Az2(mm?) Io(mm#) H 0
Z M 1.0 20,772 295 6,124,832 1,805,967,987 926,470,429
2dEZ 1.0 12,535 410 5,139,200 2,107,072,000 1,449,003,707
g A 33,307 - 11,264,032 3,913,039,987 2,375,474,136
CHHEEH A2 e = S(A2) / 3(A) = 338 mm
SEZO0 ofst StHXXIEHE ¢ Ivr = lo + S(Az?)- S(A)e? = 2479110377 mm?
@ FEFOM Z HHLATX| Q| AHE|
F2N o Yvrsu = -246 mm MEHZEIAEH ¢ Yvrru = -268 mm
4 X A Yursl = 262  mm MEHZAMEIQEN - Yyl = 412 mm
FARN S dvrs = -43 mm MEHZEZ M - dvr = 72 mm
@ THHA
PARPN g Str = -10069831 mm?
Z X st Sbr = 9469187 mm’
CHHEMX] TA
[EH]:mm]
= Ix(mm#) Ycu Ycl Ysu Ysl Yru Yrl St Sb A(mm) | ds n
1 926,470,429 - - -203 | 305 - - |-5E+06| 3E+06 20,772 | - -
2 3,644,970,090 -368 | 432 | -276 | 232 - - |-1E+07| 2E+07 |68,739 |-73 | 20.8
3 8,801,925,043 -387 | 413 | -295 | 213 - - |-3E+07| 4E+07 |164,674 |-92 | 69
4 2,479,110,377 - =246 | 262 | -268 | 412 |-1E+07| 9E+06 33,307 |-43 | 1.0
X 1 e HHHES * As = 20772 mm2
2 g tHEEd + HEE 232 E Ac = 1,000,000 mm?
3 |2 EtH(E S + HIEE 232|E) Ar = 12848 mm?
4 ey CHHEY(ZE + HIE T H4AE D)
38 4
. g8
A. SeHoHA| HEY
@D YZHE 2|
X MREUX 28
ftu = Mu /St = -18.12 MPa (&%)
ftuc = Muc / St = -2.30 MPa (&%)
ftua = Mua/ St = -091 MPa (%)
ftup = Mup /St = -3.24 MPa (2=)
ftct = PCLAM = 0.00 MPa (%)
fut = -1812 + -230 + -091 + -324 + 000 = -2457 MPa (&¥%)
X SHREHX 28
fou = Mu/Sb = 15.21 MPa (213
fouc = Muc/Sb = 1.93 MPa (21
foua = Mua/Sb = 0.77 MPa (2I%)
foup = Mup/Sb = 235 MPa (2I%)
ftcb = PCZAM = 0.00 MPa (2!%h
fub = 1521 + 193 + 077 + 235 + 000 = 2026 MPa (2/Zh




X 232(E 283
fvcu = (Muc + Mua + Mup)-Yvcu / (nsclv) = -088 MPa (&%)
fvcl = (Muc + Mua + Mup)-Yvcl / (nsclv) = 0.94 MPa (21&h

HEEHUX] 23E

ftu' = Mu/ St = -18.12 MPa (&%)

ftuc' = Muc/ St = -3.02 MPa (&%)

ftua® = Mua /St = -1.20 MPa (2=)

ftun' = Mun /St = 0.58 MPa (21

ftct = pCE oM = 0.00 MPa (21%)

fut' = -1812 + -302 + -120 + 058 + 000 = -2176 MPa (&%)
X SHREEUX 28Y

fou = Mu/Sb = 15.21 MPa (21%)

fbuc' = Muc / Sb = 321 MPa (21

fbua'® = Mua/Sb = 1.27 MPa (21

foun' = Mun/Sb = -0.62 MPa (&%)

ftcb = pCcZolM = 0.00 MPa (21%)

fub' = 1521 + 321 + 127 + -06 + 000 = 1907 MPa (2%
X 232|E &38H

fvcu = (Muc + Mua + Mun)-Yvcu / (nsclv) = -023 MPa (&%)

fucl = (Muc + Mua + Mun)-Yvcl / (nsclv) = 025 MPa (2I1Zh
B. AM2SHA|HEH
@ ERHE ZHA|
X MREUX 28Y

fts = Ms /St = -12.08 MPa (&%)

ftsc = Msc/ St = -1.53 MPa (&%)

ftsa = Msa / St = -0.61 MPa (&%)

ftsp = Msp/St = -273 MPa (&%)

ftct = PCZAM = 0.00 MPa (2!

fst = -1208 + -153 + -061 + -273 + 000 = -1695 MPa (¥%)
X SHREHX 28

fbs = Ms/Sb = 10.14 MPa (21%)

fbsc = Msc/Sb = 1.29 MPa (2!%)

fbsa = Msa /Sb = 0.51 MPa (213

fosp = Msp/Sb = 1.98 MPa (21%)

ftcb = PCZAM = 0.00 MPa (2!

fsb = 1014 + 129 + 051 + 198 + 000 = 1392 MPa (2%

x 232 88y
fvcu = (Msc + Msa + Msp)-Yvcu / (nsclv) = -088 MPa (&%)
fvcl = (Msc + Msa + Msp)-Yvcl / (nsclv) = 094 MPa (2%
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_ — = -

= Mu/ St

= Muc/ St
= Mua/ St
= Mun / St

fts'

ftsc'

ftsa'

ftsn'

ftct

= -1643 MPa (&=)

+ -080 + -154 + 0.00

-2.01

-12.08 +

fst'

~ o~ o~~~

—_ e = = ~

= Mu/ Sb
= Muc / Sb

= Mua / Sb

fbs'

fbsc'

fbsa'

= Mun / Sb

fbsn'

N
o

)

ol

1476 MPa (2

+ 214 + 08 + 163 + 000 =

10.14

fsb'

-0.28 MPa (&%)

= (Msc + Msa + Msn)-Yvcu / (nsclv)

fvcu

)

(Msc + Msa + Msn)-Yvcl / (nsclv)

fvcl
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3) THHH| x|
7}. SHHH|

40500000 mm#

H2XIEHE) = 81050134 mm?

OK!

< Iygly < 09

0.1

o)) = 24946 mm* (&)

2457 MPa (&)

OoK!

)

KO

X

< 200.00 (

45.36

2-Dc/tw < Min (6.77V(E-fc) , 200)

O.K!

> 7484

300.00

bf > 0.3-Dc



8.33 £ 12.00 s = QK!
(=43t 22A6.1]
Prt
— Pc
—
- Prb
Pfuc
Pfu
<., Pfw
Pflc
Prb Pfuc Pfu Pfw Pfl Pflc
(N) (N) (N) (N) (N) (N)
25,500,000 2,569,600 1,575,000 1,701,000 1,566,180 1,701,000 0
SHEPrbY) (BEHE)
HEEUX] (RRHE)
Tc:((Prb+Pfuc+Pfu+Pfw+Pflc+Pfl-Prt)/Pc) = 20528 mm
Y2-Pc/(2-Tc) + (Pfu-dfu + Pfw-dfw + Pfl-dfl + Prt-drt + Prb-drb)
2,298,636,844 N-mm = 229864 kN-m
(=43 6.104.1]
Ac Au Ab Aw Ar
1,000,000 5,400 5,400 4,972 12,848
Fyc Fyr Fyt Fyw fck
315 400 315 315 30
(BRHE)
Mpa < 460 MPa e = O.K!
2-Dcp/Tfw < 3.76-V(Es/Fyc) I 00 < 959 DHE)



7t YRUE
X ZUCHH
A gSRHE ZHE
AR EAX
Fy = MItu/Sts+Mtuc/Slts+Mtua/Slts+Mad/Ssts
07|, Mtu = 23914 kNm , Mtuc = 304 kN-m , Mtua= 120 kNm
Fy Mtu Mtuc  Mtua
Madl= Ssts x [ - - - ] = 7747 kNm
Sts Slts Slts
- SHRESHX]|
Fy =2u/Sbs+Mbuc/Slbs+Mbua/Slbs+Mad/Ssbs
07|, Mbu = 23914 kNm , Mbuc= 304 kN'm , Mbue= 120 kNm
Mad2 = ssbs x [—2 - Mou Mouc MOUET o062 kem
1 Sbs Slbs Slbs
- Mad = Min(Madl,Mad2) = 7747 kN-m
My = Mtu + Mtuc + Mtua + Mad = 8029  kN-m
B.ddeAxH [=.2.36.104.2.(2)]
“DP/D = 387 < D e = O.K!
047|M, Dp = 20528 mm , D = 5600 mm
- Mnl = 13RhMy = 10438 kN'm
Mn2 = (5Mp-0.85My)/4 + (0.85My-Mp)-(Dp/D')/4 = 531476 kN-m ( D'<Dp<5D')
Mn =Min(Mn1,Mn2 = 5315 kNm
C. 24 Z4E
Mr = ¢fMn = 5315 kN:m
Mi = 37835 kN-m
Mu = >nivi-Mi = -37835 kNm < Mri(= 5315 KkNm ) e = O.K!
L}, M HE
A FEHEBEZM 2K o7 [£.2.36.10.7.3]
- Bfw/Tfw = 4109 < 1500 = EEZI 04X
B. MEHZE HE
Vp = 0.58Fyw-Bfw-Tfw = 908384 N = 9084 kN
Vn = CVp = 908384 N = 9084 kN
Vr = @vVn = 908384 N = 9084 kN
Vi = 17887 kN (H)
Vi = 23571 kN (8)
Vu = Inivivi = 17887 kN < Vr(= 9084 kN ) (B) oo = OK!
Vu = Snivi-Vi = 23571 kN < Vr(= 9084 kN ) (B) e, = O.K!



[=.4.3 6.103.2]

Dc (EHdGYUiOIN =S W S22 =0)) = 22980 mm* (B)
fc (YHEHX %) = 1695 MPa (%)
- fow < Min(0.9-Es-ack/(Bfw/Tfw)2 , Fyw) s 3699 < 31500 (H) e = OKI
Lt EX| HE [=.4.36.105.2]
A HEEHX HE
95Fyc = 29925 Mpa > 170 Mpa (=fc) () e, = OK!
B. St EUX| HE
095Fyc = 29925 Mpa > 139 Mpa (=fc) (B) e = O.K!
C HE ZHE
0.08 mn < 24925mn( =XIZE/800) e = OK!
8) A3d HE
7l @88 M
- Mconst , A5 z|0f ZHE = 2695 kN-m
- fuconst , AlZ3T 4EE#X 8 = -590 Mpa (¥%F)
- flconst , AlSE SHEEUX E3H = 8877 Mpa (2%)
- fweonst, A& SHEEHX &38H = -5378 Mpa (%) H)
L} BHTHH A 3E EE [=.4.36.103.2]
A HZRTHA = ERIX| MIEH|
Bfu/(2-Tfu) < 12.0 = 833 € 120 e = OKI
B. HIZYUCHH &= EHX| H|X|X|HO| HE
It = TfuBfu’/12 + (Dc/3)Tfw?/12 = 405084963 mm*
At = TfuBfu + (Dc/3)Tfw = 624260 mm?
= J(It/At) = 8055 mm
Lp = 1.76-rtV(Es/Fyc) = 361680 mm
Lb = 90000mn > 36168mn (=Lp) = EHEAUxZ 0
C. 4R EX EHE
Fer = Min(1.904-Es/((Bfu/(2-Tfu))*V (2-Dc/Tfw)) , Fyc) = 315.00 Mpa (=EEZXH O/ALE)
Fn = Rb-RhFcr = 315 Mpa
Fr = o¢fFn = 315 Mpa 2 3699 Mpa (=fc) = 0!

C-1. &H| ERE=E 1
Mn = Min( 3.14-Es-Cb-Rh(lyc/Lb)-V(0.772-(J/lyc)+9.87-(d/Lb)2) , Rh-My )
Fn 165.13Mpa
Fr = o¢fFn = 165 Mpa 2 3699 Mpa (=fc)

= 7.54E+08 kN'm

........................... = O.K!



Rb-Rb-Fyt =
¢fFn =

315 Mpa

315 Mpa

< Min(0.9-Es-o-k/(Bfw/Tfw)2 , Fyw)

F.HTHE

Vconst = -19.61 kN

Vn = CVp = 9084 kN
Vr = ovVn = 9084 kN
Vu = -19.61 kN < Vr(= 9084

>

kN

3699 Mpa ( =fc)

)

5378 < 315.00 Mpa

= OK!
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7t.

- O
CHHA 5
A ZIHTHA
T 2 b(mm) | h(mm)| A(mm?2) | z(mm) A-z(mms) A-z2(mm?) To(mm#)
o8 HE 250 20 5,000 102 510,000 52,020,000 166,667
SEEUX| 300 18 5,400 121 653,400 79,061,400 145,800
g 7 o 11 452 4,972 356 1,770,032 630,131,392 84,649,957
SR EX| 300 18 5,400 591 3,191,400 1,886,117,400 145,800
SHE S 0 0 0 600 0 0 0
1 A - - 20,772 - 6,124,832 2,647,330,192 85,108,224
CHHSES A es = S(Az) / S(A) = 295 mm
SO0 Cfot CHH2AIEHE Ist = Ylo + Y(Az?)- (A)es? = 926470429  mm?
Torsional constant Jst = S bh®/3 (b>h) = 2,033,604 mm#
B. Hi=tE 232|E THH
T = b(mm) | h(mm) A(mm?) z(mm) A-z(mm3) A-z2(mm?) Io(mm?4)
HIEHHE32|E | 1,250 | 800 1,000,000 400 400,000,000 160,000,000,000 53,333,333,333
1 A - - 1,000,000 - 400,000,000 160,000,000,000 53,333,333,333
CHHSES A ec = S(Az) / S(A) = 400 mm
SESFO0| Cfot CHH2AIEHE Ic = Ylo + J(Az?)- J(A)ec? = 53,333,333,333 mm*
Torsional constant Jc = Y b-h*/ 3, (b>h) = 213,333,333,333 mm*
C Ay mzHEa xHISHE 232|500 SRS Y XA X8
- = b(mm) | h(mm) A(mm?) z(mm) A-z(mm3) A-z2(mm?) Io(mm?*)
1EE S - - 6,424 70 449,680 31,477,600 -
2THEAER - 6,424 750 4,818,000 3,613,500,000 -
gt A - - 12,848 - 5,267,680 3,644,977,600 0
CHHEEH A2 er = Y(Az) / 3(A) = 410 mm
SEHFO| Cfot CtHIXEHE Ir = Slo + Y(Az?)- J(A)er? = 1485228800 mm*
D. PCZM
- g @ 127 x 0 9871 x 0 = 0 mm?
T = b(mm) | h(mm)| A(mm?2) | z(mm) Az(mms3) A-z2(mm?) Io(mm?)
M - - 0 175 0 -
g A - - 0 - 0 -




Lt SIS THAIE

g

A. Section Properties for Steel Girder

- = n A(mm?) z(mm) A-z(mm3) A-z2(mm?) Io(mm?) H 1
PN | 1.0 20,772 295 6,124,832 1,805,967,987 926,470,429
g A - 20,772 - 6,124,832 1,805,967,987 926,470,429
CHHESE= AL e = S(Az) / S(A) = 295 mm
SEHO|| Cfot CtHXXIEHE Is = lo + S(Az?)- S(A)e? = 926470429  mm?
Torsional constant : o Js = Jst = 2,033,604 mm?*
@ SUSO0|M 2 cHHQ AX| 9 AHZ|
4 T oA Ysu = -203 mm
4 xf 5t Ysl = 305 mm
@ THHA
AR IR g Sts = -4567,043 mm’
4 X ot Sbs = 3036214 mm’
B. Section Properties for Long-Term Composite Section
- = n A(mm?) z(mm) Az(mm3) A-z2(mm?) Io(mm?#) H| o
Z M 1.0 20,772 295 6,124,832 1,805,967,987 926,470,429
HISfHE3E2|E| 208 47,967 400 19,186,992 7,674,796,748 2,558,265,583
Pagul 1.0 0 175 0 0 0
g A - 68,739 - 25,311,824 9,480,764,735 3,484,736,012
CHHSES A e = S(AZ) / S(A) = 368 mm
SESFO0| Cfot CHH2AIEHE Iv = Io + J(Az2)- S(A)e? = 3,644970,090 mm?
Torsional constant Y = Jst + Jc/n = 10,235,095935 mm*
@ SUSO0|M 2 ctHQ ANX| O AHE|
Z N Ao Yvsu = -276 mm HIEFE23Z|E A4 : Yveu = -368 mm
4 X A Yvsl = 232 mm HIEZ23Z|E S @ Yvdl = 432 mm
4 M e dvs = -73 mm HIEFZ23Z|E =4 : dvc = 32 mm
@ CHHA %=
AR g Slts = -13195497 mm?
Z X ot Slbs = 15726556 mm?
C. Section Properties for Short-Term Composite Section
T = n A(mm?) z(mm) Az(mm3) A-z2(mm4) Io(mm?#) H| 20
4 M 1.0 20,772 295 6,124,832 1,805,967,987 926,470,429
HIEHHZE3Z|E| 69 143,902 400 57,560,976 23,024,390,244 7,674,796,748
Fagull 1.0 0 175 0 0 0
| - 164,674 - 63,685,808 24,830,358,231 8,601,267,177
CHHEER A2 e = Y(Az) / 3(A) = 387 mm
SEHO| Cfot CtHXXIEHE Iv = Io + S(Az?)- S(A)e? = 8801925043 mm*
Torsional constant v = Jst + Jc/n = 30,701,220,596 mm*
@ BEHOM 2 CHHIATX| Q| AHe|
4 T oA Yvssu = -295 mm HIEF23C|E 49 : Yvesu = -387 mm
4 X 5t Yvssl = 213 mm HFSFEZ32(E 1% © Yvesl = 413 mm
PASIPN L= dvss = -92 mm HIEF232|E =4 : dves = 13 mm
@ CHHA =
Z T A Ssts = -29,863,591 mm?®
4 X ot Ssbs = 41272759 mm’




D. Section Properties for Steel Girder+Reinforcement

n
e

NN
-~

T = n A(mm?2) | z(mm) Az(mm3) A-z2(mm?) Io(mm4) H o
PARNPN 1.0 20,772 295 6,124,832 1,805,967,987 926,470,429
2dEZ 1.0 12,535 410 5,139,200 2,107,072,000 1,449,003,707
ZoM 1.0 0 175 0 0 0
g A - 33,307 - 11,264,032 3,913,039,987 2,375,474,136
CHHESER A2l Ce = Y(Az) / 3(A) = 338 mm
SEF0 ot SHIXXIEHE o Ivr = To + S(Az?)- Y(A)e? = 2479110377 mm?
@ SUSO0|M 2 cHHQ AX| 9 AHZ|
4 T oA Yvrsu = -246 mm MEHZAMIIEY © Yyrru = -268 mm
4 xf 5t Yvrsl = 262 mm MEHZEIREH - Yurrl = 412 mm
FARDN LS| dvrs = -43 mm HEEZAEIZ M - dvrr = 72 mm
@ CHHA 5
4 T 4 Str =  -10,069831 mm?
4 X 5t Sbr = 9469187 mm?
CHHEEX] TA
[EF2:mm]
T Ix(mm?) Ycu Ycl Ysu Ysl Yru Yrl St Sb A(mm) | ds n
1 926,470,429 - - -203 | 305 - - |-5E+06| 3E+06 |20,772 | - -
2 3,644,970,090 -368 | 432 | -276 | 232 - - |-1E+07| 2E+07 | 68,739 |-73 | 20.8
3 8,801,925,043 -387 | 413 | -295 | 213 - - |-3E+07| 4E+07 |164,674 |-92 | 69
4 | 2479110377 - - =246 | 262 | -268 | 412 |-1E+07| 9E+06 (33,307 |-43 | 1.0
X 1 Zgo| tHHEY * As = 20772 mm2
2 7| THEEE + HEE® 232(E) Ac = 1,000,000 mm?
3 |t (E + HISE 232|E) Ar = 12848 mm?
4 g CTHEL(ZY + HIEE HAHED)
38 g
. g8
A. SEHHA e
@ YRUE 2|
X §EEUX 28
ftu = Mu/ St = 67.10 MPa (2I%h)
ftue = Muc/ St = 8.55 MPa (2I%)
ftua = Mua /St = 3.39 MPa (2!%)
ftup = Mup /St = -0.35 MPa (%)
ftct = pCZolM = 0.00 MPa (2I%h
fut = 6710 + 855 + 339 + -035 + 000 = 7869 MPa (2/%h
X SHREEHX 284
fbu = Mu/ Sb =  -5630 MPa (¥%)
fouc = Muc/Sb = -7.17 MPa (%)
foua = Mua/Sb = -2.84 MPa (%)
foup = Mup/Sb = 0.25 MPa (2%
ftcb = PCHAM = 0.00 MPa (21%)
fub = -563 + -717 + -284 + 025 + 000 = -66.06 MPa (¥x)




fvcu = (Muc + Mua + Mup)-Yvcu / (nsclv) = 093 MPa (2%

fucl = (Muc + Mua + Mup)-Yvcl / (nsclv) = -099 MPa (&%)
@ EZHE A
X SREUX HEY

ftu' = Mu/ St = 67.10 MPa (21%)

ftuc’ = Muc/ St = 11.20 MPa (21

ftua' = Mua/ St = 444 MPa (21

ftun' = Mun/ St = 33.32 MPa (21

ftct = pCcZeiM = 0.00 MPa (21

fut' = 6710 + 1120 + 444 + 3332 + 0.00 = 116.06 MPa (2/%h
X SR EHX 28

fou = Mu/Sb = 2145 MPa (¥%)

fouc' = Muc/Sb = -11.91 MPa (2=)

foua' = Mua/Sb = -4.72 MPa (&%)

foun' = Mun/Sb = -8.13 MPa (2=)

ftcb = pCcZeiM = 0.00 MPa (21

fub' = 215 + -1191 + -472 + -813 + 000 = -4621 MPa (&%)
X 232(E 288%™

fvcu = (Muc + Mua + Mun)-Yvcu / (nscIv) = 312 MPa (21%)

fvcl = (Muc + Mua + Mun)-Yvcl / (nsclv) = -333 MPa (&%)
B. AH&CHA| A EY
@ CRHE LHA|
X MEEUX 238

fts = Ms/ St = 4474 MPa (21%)

ftsc = Msc/ St = 5.70 MPa (213

ftsa = Msa / St = 2.26 MPa (2I%)

fttp = Msp /St = 291 MPa (2%

ftct = pCcZeiM = 0.00 MPa (21

fst = 4474 + 570 + 226 + 291 + 000 = 5561 MPa (2%
X SHREEHX 28

fbs = Ms/Sb = -37.54 MPa (&)

fbsc = Msc/ Sb = -4.78 MPa (&%)

fbsa = Msa /Sb = -1.90 MPa (&%)

fosp = Msp/Sb = 211 MPa (&%)

ftco = pcZdaM = 0.00 MPa (21%)

fsb = -3754 + -478 + -190 + -211 + 0.00 = -4633 MPa (&=)
X 232(E 8%

fvcu = (Msc + Msa + Msp)-Yvcu / (nsclv) = 093 MPa (2%

fucl = (Msc + Msa + Msp)-Yvcl / (nsclv) = -099 MPa (&%)




X SREUX HEY
fts' = Mu/ St = 4474 MPa (2%
ftsc' = Muc / St = 2.52 MPa (2I%h)
ftsa' = Mua /St = 1.00 MPa (21&h
ftsn = Mun / St = 7.82 MPa (2%
ftct = PCZAM = 0.00 MPa (21&h
fst = 4474 + 252 + 100 + 782 + 000 = 5608 MPa (2%
X SHREEHUX &8
fbs' = Mu/ Sb = -37.54 MPa (&%)
fos¢ = Muc/ Sb = -4.78 MPa (2=)
fbsa® = Mua/Sb = -3.15 MPa (&%)
fosn' = Mun/Sb = -5.65 MPa (2=)
ftcb = pCcZeiM = 0.00 MPa (21
fsb' = -3754 + -478 + -315 + -57 + 000 = -51.12 MPa (&%)
X 232|E &89
fvcu = (Msc + Msa + Msn)-Yvcu / (nsclv) = 214 MPa (21%)
fvcl = (Msc + Msa + Msn)-Yvcl / (nsclv) = -229 MPa (&%)
C. 23EH [CHRlMPa, £33, + Q1%
LOAD Steel Slab Concrete Hi
CASE A gl 2ol St i
@ FeHA () 78.69 -66.06 0.93 -0.99
@ AHETHA(E) 55.61 -46.33 0.93 -0.99
@ SeHetA(F) 116.06 -46.21 3.12 -3.33
@ AESHA(FR) 56.08 -51.12 2.14 -2.29
3) CHHH| x|t (=43 6.10.2.1]
7t CHHH|
lyc (55T ZHMO| =250 2ot CHHIAEHE) = 40500000 mm?*
ly (58 Zd4o| =2=0| ot YHEUX|Q| CHHIXZHE) = 81050134 mm#
@ BEMWE 45t @2F9| tHHH| KT
01 < Iy¢/ly < 09 = 01 < 05 2 09 e = O.K!
L}, S 5o M| Z&Hd| (=43t 6.10.22]
Dc (EHEYAUoM LxE e S2E =0]) = 261.81 mm# (F)
fc (YHEHX 9) = 116.06 MPa (£)
2:Dc/tw < Min (6.77 (E-fc) , 200) = 4496 < 20000 (5 e = OKI
Ct. S X| CHHEH| (=43 6.10.2.3]
A HREUX HE
@ FRUHE 2MAl ( QYEHX])
bt / (2tt) < 12.0 = 833 € 12.00 e = OKI
B. St EUX| HE
@ FRUHE SHAl( SFFEHX])
bf > 0.3-Dc = 30000 2 7854 oo = OKI




4) AMOHE [ A3 25A61]
7l 24 FE= 1A
Prt
—» Pc
o Prb
Pfuc
Pfu
4 <., Pfw
—3 Pfl
Pflc
A. THHE LA
Prt Pc Prb Pfuc Pfu Pfw PAl Pflc
(N) (N) (N) (N) (N) (N) (N) (N)
5,139,200 | 25,500,000 | 5,139,200 1,575,000 1,701,000 1,566,180 1,701,000 0
S ANFES AN . 4EEHx  (22UE)
B. AHEHE
& 22U WA
Y = ((Tfu+Tfuc)/2)-((Pfw+Pflc+Pfl-Prt-Prb)/(Pfuc+Pfu)+1)
= -21.66 mm
Mp = Pfu(Y2 + (Tfu-Y)2)/(2-Tfu) + (Pfw-dfw + Pfl-dfl + Pc-dc + Prt-drt + Prb-drb)
= -1,464,026,732 Nmm = -1464.03 kNm
5) ThHH =Y (=43t 6.104.1]
7t 2™ =4
THEH A Ac Au Ab Aw Ar
mm? 1,000,000 5,400 5,400 4,972 12,848
gEdE Fyc Fyr Fyt Fyw fck
MPa 315 400 315 315 30
Dcp = 45200 (RRHE)
fy = 315 MPa < 460 MPA oo = 0K
Lt =2 e
2-Dcp/Tfw < 3.76-V(Es/Fyc) 1= 822 < 959 (REZHE)
ZYUCHH (RRUE)



7. RRHE
X ZYCHH
A. SHSHX| MIEH| [=. 4.8 6104.1(3)]
Bfl/(2-Tfl) < 0.382V(Es-Fyc) = 833 < 306970 e, = O.K!
B. MIZH| &2t [=. 4.8+ 6.104.1.(6)]
2-Dcp/Tfw < 0.75(3.76)V (Es-Fyc) = 8218 < 2266112 = O.K!
Bfl/(2:Tfl) < 0.75(0.382)V (Es-Fyc) w833 £ 230227 s = O.K!
2-Dcp/Tfl + 9.35-Bfl/(2-Tfl) < 6.25V(Es-Fyc) = 160.10 < 5022411 ., = O.K!
C. H[X|X|Zo| HE [=. 4.8t 6104.1(7)]
Lb = 4500.0 mi < (0.124-0.0759-(MI/Mp))(ry-Es/Fyc) = 73380 mMI s = O.K!
o7|M, ry = 718 mm , Ml = 6372 kNm , Mp = -14640 kNm
D. #5RHE HE
- REUX|
Fy = MItu/Sts+Mtuc/Slts+Mtua/Slts+Mad/Ssts
0{7|A, Mtu = -885 kNm , Mtuc = -1128 kN-m , Mtua = -447 kN'm
Fy Mtu Mtuc  Mtua
~Madl= Str x [ - - - ] = 1062 KkNm
Sts Str Str
- SR EHX]
Fy =2u/Sbs+Mbuc/Slbs+Mbua/Slbs+Mad/Ssbs
0{7|M, Mbu = -885 kN'm , Mbuc= -1128 kN'm , Mbuz= -447 kNm
Mad2 = ssbs x [—2 . Mou Mouc MOUET " h1h kv
Sbs Slbs Slbs
- Mad = Min(Mad1l,Mad?2) = 210 kN-m
My = Mtu + Mtuc + Mtua + Mad = -1253 kN-m
E.¢ldepxH
T DP/D = 2L38 < D ettt ees = O.K!
07|M, Dp = -7756 mm , D' = 5600 mm
- Mnl = 13Rh-My = 1629 kN-m
Mn2 = Mp
= -146403 kNm ( Dp<D' )
Mn =Min(Mn1,Mn2 = -1464.0 kN-m
F.E2ZE HE
Mr = ¢fMn = -1464.0 kN'm
Mi = -885.46 kN-m
Mu = >nivi-Mi = 88546 KN'-m < Mri(= 14640 kNm ) e, = O.K!
D. SIREHX| HHUE [=. 4.3 6.10.4.2.(6)]
Lr = 444rtJ(Es/Fyc) = 9039.8 mn > 9000.0 mn ( =Lb)
Fn = Min(Cb-Rb-Rh-Fyc-(1.33-0.187(Lb/rt)-V (Fyc/Es)) , Rb-Rh-Fyc)
= 15856 Mpa
Fr = of-Fn = 15856 Mpa
Fi = 4621 Mpa



Fu = Sni-vi-Fi = 4621 Mpa < Fr(= 15856 Mpa ) s = 0!
L}, FEH HE
A TEHBZI HX] o2 [=. 481 61073]
- Bfw/Tfw = 4109 < 1500 = $EE2ZxY 0/dx]
B. MTHZE AE
Vp = 0.58Fyw-Bfw-Tfw = 908384 N = 9084 kN
Vn = CVp = 908384 N = 9084 kN
Vr = @vVn = 908384 N = 9084 kN
Vi = 37291 kN (&)
Vi = 49023 kN (&)
Vu = SNiviVi = 3729 kN < Vr(= 9084 kN ) . = O.K!
Vu = SNiviVi = 4902 kN < Vr(= 9084 kN L = OKI
B. MEHZE HE ( Bt
AU £ A72tA, dO < 1.5-Bfw = 6780 mm
SEHZI AEZA, d = 5000 mi< 6780 MN (=dO) e = OK!
Vp = 0.58-Fyw-Bfw-Tfw = 908.38 kN
Vn = CVp = 9084 kN
Vr = ovVn = 9084 kN
Vu = SNiviVi = 4902 kN < Vr(= 9084 KN ) e, = OKI
7) A ESHA | HE] HE
7 SR HE (=43 6.103.2]
Dc (EHdEYUiOIN =S He 52T =0)) = 22497 mm* (B)
fc (XHEHX ) = 4633 MPa (%)
few < Min(0.9-Es-ovk/(Bfw/Tfw)2 , Fyw) = 5922 < 31500 (B) e, = QK!
Dc (BHAYUHOIM =S Y= S5EH =0)) = 56419 mm* (F)
fc (¥=EUX 39) = 5112 MPa (8)
fcw < Min(0.9:Es-ock/(Bfw/Tfw)2 , Fyw) = 85.08 < 31500 (B) e = O.K!
L}. 31X A& (=43 6.105.2]
A HREUX HE
095Fyc = 29925 Mpa > 556 M (=fc) (&) e = OKI
095Fyc = 29925 Mpa > 561 Mpa (=fC) (B) e = O.K!
B. St EUX| HE
095Fyc = 29925 Mpa > -463 M (=fc) (&) e = OKI
095Fyc = 29925 Mpa > 511 Mpa (=fC) (5) e = O.K!
C HE ZE
0.08 mn < 24925mn( =X[ZE/800) e = OKI
8) A3d HE
7l @88 A
Mconst , Al23 |0 RHE = -9983 kN-m
fuconst , A|SE MEEHX 283 = 2186 Mpa (2%



- fleonst , AlZ3E SHREEUX &3H = -3288 Mpa (¥H)
- fweonst, Al3E SHEEHX €83 = -933 Mpa (%) B)
L. St Al Sd EE [=. 2.3 6.103.2]
A H|ZYUCHH & EHIX| ||
Bfu/(2-Tfu) < 12.0 = 8.33 £ 120 s = Q.KI

B. HIZHTHH Y=ZHX| HXX|ZO0| HE

It = TfuBfu’/12 + (Dc/3)Tfw’/12 = 40508317.8 mm*
At = TfuBfu + (Dc/3)Tfw = 622490 mm?
rt = VJ(t/At) = 80.67 mm
lp = 1.76rtV(Es/Fyc) = 362193 mm
Lb = 90000 mn > 36219 mn (=Lp) = EHEHUZZ 1
C. 4REHX &HE
Fcr = Min(1.904-Es/((Bfu/(2-Tfu))>V (2-Dc/Tfw)) , Fyc) = 31500 Mpa (=BEZX O/ALE)
Fn = Rb-RhFcr = 315 Mpa
Fr = ¢fFn = 315 Mpa = 5922 Mpa (=fC) = 0!
C-1. gH|E3== 18
Mn = Min( 3.14-Es-Cb-Rh(lyc/Lb)-v(0.772-(J/lyc)+9.87-(d/Lb)2) , Rh-My ) = 7.54E+08 kN-m
Fn = 165.13Mpa
Fr = o¢fFn = 165 Mpa 2 5922 Mpa (=fc) = 0!
D. SR EUX| EHE
Fn = Rb-Rb-Fyt = 315 Mpa
Fr = o¢fFn = 315 Mpa 2 5922 Mpa (=fc) e = 0!
E S5 2HE
- fow < Min(0.9-Es-ack/(Bfw/Tfw)2 , Fyw) = 93.33 < 31500 Mpa e = O.K!
F.HO HE
Vconst = -46.49 kN
Vn = CVp = 9084 kN
Vr = ovVn = 9084 kN
Vu = -4649 kN < Vr(= 9084 KN ) e = O.K!



10. 4 MTHA AT A A
10 .4.1 A4 E4%|
CHHEEXA
A 2t £3z|E EtH BZEZ| EIRE EHE (n= 7))
=] Is(mm?*) As(mm?) Ic(mm#) Ac(mm?) [ Ar(mm?) Iv(mm?#) dvc(mm)
2 926,470,429 | 20,772 146,346,667 | 140,000 3,871 1,531,033,419 118
3 926,470,429 | 20,772 146,346,667 | 140,000 3,871 1,531,033,419 118
4 880,278,757 | 19,372 146,346,667 | 140,000 3,871 1,790,159,694 153
6 681,371,557 | 15,772 146,346,667 | 140,000 3,871 1,498,607,404 168
7 681,371,557 | 15,772 53,333,333,333 | 1,000,000 3,871 8,383,686,813 |- 40
8 681,371,557 | 15,772 146,346,667 | 140,000 3,871 1,498,607,404 168
10 880,278,757 | 19,372 146,346,667 | 140,000 3,871 1,790,159,694 153
11 926,470,429 | 20,772 146,346,667 | 140,000 3,871 1,531,033,419 118
12 926,470,429 | 20,772 146,346,667 | 140,000 3,871 1,531,033,419 118
X nsc Z1 232[EQ| EHdAHl (= 69 )
nsr 2 2AHE2 BHdAH (= 10 )
Tc HFEHE 74| (= 112 mm)
Bc HISHE Z(RaF) (= 1,250 mm)
10 4.2 HEHAZAT] HA|
A HTAZN o2 ML (=43t 6.10.74]
BE5HE 25, N = 155125000 cycles
o2 M&ddE, Zr =  Max((238-29.5logN)-d?, 38-d%/2) = 9196.00 N
D. MTHAZAX] MA|
@ MEFAZTHS| HA S HiX|
ALY S F(dxH) Stud - ®22x200
A Q74 3 HiX|ZHA
Reg'N = Vh / Qn
T 47|M, Vh 3 FHHCHH
T & | 0--0---0 Qa TICHAAT 1712 LHH
g < i i i < Qa = Min(0.5-Asc-V (fck-Ec),Asc-Fu)
$9—— | 0--0---0 Q = 152053.08 N/JEA ( fu = 400 MPa)
l_Bl Q = 12924512 N/EA (HTiZx 3L L)
H = 909 > 40 . = OKI
B I'L-?ﬁ- FoF HiX[ZEE (mm)
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10 5 §% O[S % A
1) THHH Y U AAE A 51E L8
b CHHHY (JOINT 5 , x= 5470 m)
o] 24 Or&tol &
MNEEE F10T, M22
58 P, = 96000 N/EA ( 2 © OtEh
0 x 0
l l Hc 600 mm
Bc 1,250 mm
"}E Tc 800  mm
nsc 7
18 3nsc 21
11 nsr 1
18
L 0
WE=Pi=4
Fyt| 315 |Mpa| Fyc| 315 |Mpa|Fyw| 315 |Mpa| Fyr| 400 |Mpa Fyf‘ 315 ‘Mpa
Fu | 490 |Mpa|Fyc| 315 |Mpa| Es |205000 |[Mpa| Es |29,500 |Mpa
HZHEZ
X 4 B X ols | HiX] ZH== I
1Et H22 250mm 70mm 5 EA| 19355 mm?
2%t H22 250mm 750mm 5 EA | 1,9355 mm?
Lt S5 CHH [=.4.3}6.10.3.6]
HEEUX FRHHY  (Y=THH)
Aeu = Min(An+B-Ag, Ag) = 5400 mm?
o7|M, Ag = BfuTfu = 5400 mm?
An = (Bfu-dh-N)-Tfu = 4536 mm?
SHEEMX| FECHA  (QIFEHH)
Aeu = Min(An+B-Ag, Ag) = 4,536 mm?
o7|M, Ag = BfuTfu = 5400 mm?
An = (Bfu-dh-N)-Tfu = 4536 mm?




Ct. THHA
A. Section Preoperties for Gross Steel Section
B  Steel

Section Amm?) | z(mm) |  Az(mm?) AZ%(mm?) Io(mm*) I(mm?)
o5 HE 0 92 0 0 0 0
HSEEUX] 5,400 101 545,400 55,085,400 145,800 55,231,200
5 5 o 4,972 336 1,670,592 561,318,912 84,649,957 645,968,869
SHEE K| 5,400 571 3,083,400 | 1,760,621,400 145,800 1,760,767,200
St K 0 580 0 0 0 0
Total 15,772 - 5,299,392 | 2,377,025,712 84,941,557 2,461,967,269
CHHESER A2l :es = Y(Az) / J(A = 336 mm
SEZ0| Cfst THHXXIEHE st = ST- Y(A)es? = 681,371,557 mm*
B  Composite (3nsc)
Section Amm?) | z(mm) | Az(mm?) AZ’(mm?) To(mm®*) I(mm?)
Steel 15,772 - 5,299,392 - - 2,461,967,269
Concrete 47,967 400 19,186,992 | 7,674,796,748 2,558,265,583 10,233,062,331
Total 63,739 - 24,486,384 | 7,674,796,748 2,558,265,583 12,695,029,600
CHHSES A2 . es = S(Az) / S(A = 384 mm
SEZHO0| Cfjot CHH2KEHE ¢ Ist = >I->(A)es? = 3,288,253,798 mm*
B  Composite (nsc)
Section Amm?) | z(mm) | Az(mm?) AZ*(mm?) TIo(mm®*) I(mm?)
Steel 15,772 - 5,299,392 - - 2,461,967,269
Concrete 143,902 | 400 57,560,976 | 23,024,390,244 7,674,796,748 30,699,186,992
Total 159,674 - 62,860,368 | 23,024,390,244 7,674,796,748 33,161,154,261
CHHSE= A . es = S(Az) / S(A = 394 mm
SEZHO0| ot CHH2KEHE ¢ Ist = >I->(A)es? = 8414,389,280 mm*
g HEAS
T Yus Ybs Sts Sbs
Steel -244 264 -2,792,506 2,580,953
Composite(3nsc) | -292 216 -11,254,840 | 15,234,932
Composite(nsc) | -302 206 -27,891,924 | 40,782,869




B. Section Preoperties for Using Effective Top Flange Area of Steel Girder

B  Steel
Section Amm?) | z(mm) | Az(mm?) AZ*(mm?) Io(mm®*) I(mm?)
o8 HE 0 92 0 0 0 0
SR EUX 5400 101 545,400 55,085,400 145,800 55,231,200
g 7 o 4,972 336 1,670,592 561,318,912 84,649,957 645,968,869
SHEE K| 5,400 571 3,083,400 | 1,760,621,400 145,800 1,760,767,200
St S 0 580 0 0 0 0
Total 15,772 - 5299392 | 2,377,025,712 84,941,557 2,461,967,269
CHHSE =S 7'IEI es = S(A2) / S(A = 336 mm
ZES0| Cist CHH2AIZHE © Ist = 3I- J(A)es? = 681,371,557 mm?
B  Deck Steel
Section Amm?) | z(mm) |  Az(mm?) AZ%(mm?) Io(mm*) I(mm?)
Steel 15,772 - 5,299,392 - - 2,461,967,269
Top Rein. 1,936 59 114,195 6,737,476 0 6,737,476
Bottom Rein. 1,936 739 1,430,335 1,057,017,196 0 1,057,017,196
Total 19,643 - 6,843,921 | 1,063,754,671 0 3,525,721,940
CHESER A2 es = Y(Az) / 3(A) = 348 mm
ZEZH0| st CHH2XIRHE ¢ Ist = ST - Y(A)es? = 1,141,195409 mm*
B  Composite (3nsc)
Section Amm?) | z(mm) | Az(mm?) AZ*(mm?) TIo(mm®*) I(mm?)
Steel 19,643 - 6,843,921 - - 3,525,721,940
Concrete 47,967 400 19,186,992 | 7,674,796,748 2,558,265,583 10,233,062,331
Total 67,610 - 26,030,913 | 7,674,796,748 2,558,265,583 13,758,784,271
CHHSE= A es = S(Az) / SA = 385 mm
ZEZHO| st CHH2XIRHE ¢ Ist = 31 - S(A)es? = 3,736,544700 mm*
B  Composite (nsc)
Section Amm?) | z(mm) | Az(mm?) AZ*(mm?) To(mm®*) I(mm?)
Steel 15,772 - 5,299,392 - - 2,461,967,269
Concrete 143,902 | 400 57,560,976 | 23,024,390,244 7,674,796,748 30,699,186,992
Total 159,674 - 62,860,368 | 23,024,390,244 7,674,796,748 33,161,154,261
CHHESE= A es = S(A2) / S(A) = 394 mm
SEHO| Cfot CtHXXIEHE Ist = >l - >(A)es? =  8414,389,280 mm*
5 oA
T Yus Ybs Sts Sbs
Steel -244 264 -2,792,506 2,580,953
Deck Steel -256 252 -4,450,575 4,536,028
Composite(3nsc) | -256 252 -4,450,575 4,536,028
Composite(nsc) -302 206 -27,891,924 | 40,782,869




C. Section Preoperties for Using Effective Bottom Flange Area of Steel Girder

B  Steel
Section Amm?) | z(mm) | Az(mm?) AZ*(mm?) Io(mm®*) I(mm?)
o8 HE 0 92 0 0 0 0
SR EUX 5400 101 545,400 55,085,400 145,800 55,231,200
g 7 o 4,972 336 1,670,592 561,318,912 84,649,957 645,968,869
SHREE X 4,536 571 | 2,590,056 | 1,478,921,976 145,800 1,479,067,776
St S 0 580 0 0 0 0
Total 14,908 - 4,806,048 | 2,095,326,288 84,941,557 2,180,267,845
CHHSE =S 7'IEI es = S(A2) / S(A = 322 mm
ZES0| Cist CHH2AIZHE © Ist = 3I- J(A)es? = 630,891,847 mm?
B  Deck Steel
Section Amm?) | z(mm) |  Az(mm?) AZ%(mm?) Io(mm*) I(mm?)
Steel 14,908 - 4,806,048 - - 2,180,267,845
Top Rein. 1,936 59 114,195 6,737,476 0 6,737,476
Bottom Rein. 1,936 739 1,430,335 1,057,017,196 0 1,057,017,196
Total 18,779 - 6,350,577 | 1,063,754,671 0 3,244,022,516
CHESER A2 es = Y(Az) / 3(A) = 338 mm
SEHFO| Cfot CtHIXIEHE Ist = I - >(A)es? = 1,096,419969 mm?*
B  Composite (3nsc)
Section Amm?) | z(mm) | Az(mm?) AZ*(mm?) TIo(mm®*) I(mm?)
Steel 18,779 - 6,350,577 - - 3,244,022,516
Concrete 47,967 400 19,186,992 | 7,674,796,748 2,558,265,583 10,233,062,331
Total 66,746 - 25,537,569 | 7,674,796,748 2,558,265,583 13,477,084,847
CHHSE= A es = S(Az) / SA = 383 mm
ZEZHO| st CHH2XIRHE ¢ Ist = 31 - S(A)es? = 3,706,271,061 mm*
B  Composite (nsc)
Section Amm?) | z(mm) | Az(mm?) AZ*(mm?) To(mm®*) I(mm?)
Steel 14,908 - 4,806,048 - - 2,180,267,845
Concrete 143,902 | 400 57,560,976 | 23,024,390,244 7,674,796,748 30,699,186,992
Total 158,810 - 62,367,024 | 23,024,390,244 7,674,796,748 32,879,454,837
CHHESE= A es = S(A2) / S(A) = 393 mm
SEZH0| oot CHH2AIZHE ¢ Ist = ST - Y(A)es? = 8387,074753 mm*
5 oA
T Yus Ybs Sts Sbs
Steel -230 278 -2,738,478 2,272,505
Deck Steel -338 170 -3,242,173 6,456,152
Composite(3nsc) | -246 262 -4,453,834 | 4,187,596
Composite(nsc) | -301 207 | -27,890,571 | 40,461,294




. EUWX| 88 M
A 21
S 1Hsts | gdE 0FEE | @dF FMSHS | HIAE =okE(+) | B 5HE(-) |
T = (kN-m) (kN-m) (kN-m) (kN-m) (kN-m)
Mdcl Mdc2 Mdw Mllp Mlin
SoHohA SER 239.14 3038 12.04 60.50 -3.64
AL THA S Ef 159.42 20.25 8.03 50.95 9.67
o| 2 SHA| AFEY - - - 30.30 30.30
B. SSHCHA| HEl 23
B dFEUX
@ H2E &515(+) (= FI16+E 121)
ftdcl,nc = Mdcl / Sts = -87.32 MPa (23=)
ftdc2,3n = Mdc2 / Sts = -6.82 MPa (&%)
ftdw,3n = Mdw / Sts = -2.70 MPa (&%)
ftlp,n = Mllp / Sts = 217 MPa (&%)
fut = n( -8732 + -682 + -270 + -217 ) = -9407 MPa (&%)
@ H2178 Fot5(+) (F8= F716HS 0]18)
ftdcl,nc = Mdcl / Sts = -87.32 MPa (&%)
ftdc2,3n = Mdc2 / Sts = -6.82 MPa (&%)
ftlp,n = Mllp / Sts = -2.17 MPa (&%)
fut = n( -8732 + -682 + -217 ) = -9150 MPa (%)
® H2E 2515 (FEF F715ts 18)
ftdcl,nc = Mdcl / Sts = -87.32 MPa (%)
ftdc2,rein = Mdc2 / Sts = -9.37 MPa (&%)
ftdw, rein = Mdw / Sts = -3.71 MPa (&%)
ftin,rein = Millp / Sts = 1.12 MPa (2!%)
fut = n( -8732 + -937 + -371 + 112 ) = -9432 MPa (&%)
@ HHE &515(-) (8% F715H5 0113)
ftdcl,nc = Mdcl / Sts = -87.32 MPa (&%)
ftdc2,rein = Mdc2 / Sts = -9.37 MPa (&%)
ftin,rein = Millp / Sts = 1.12 MPa (2!%)
fut = n( -8732 + -937 + 112 ) = -90.79 MPa (¥%)
B StREEUX
O HIF HtE(+) (FEF F7H5E 1)
fbdcl,nc = Mdcl / Sbs = 105.23 MPa (2%
fbdc2,3n = Mdc2 / Sbs = 7.25 MPa (2I%)
fodw,3n = Mdw / Sbs = 2.88 MPa (2%
fblp,n = Mllp / Sbs = 1.50 MPa (21%)
fub = n{ 10523 + 725 + 288 + 150 ) = 111.01 MPa (2%)
@ HIE &35 (+) (= F7I6ts 0|12d)
fbdcl,nc = Mdcl / Sbs = 105.23 MPa (21
fbdc2,3n = Mdc2 / Sbs = 7.25 MPa (213
fblp,n = Mllp / Sbs = 1.50 MPa (21%)
fub = n( 10523 + 725 + 150 ) = 108.28 MPa (2/%h



® B gOIE() (BEF F71HE 1)

fbdcl,nc = Mdcl / Sbs = 105.23 MPa (2%

fodc2,rein - = Mdc2 / Sbs = 471 MPa (217

fodw,rein = Mdw / Sbs = 1.87 MPa (2I%h)

fbln,rein = Mlin / Sbs = -0.56 MPa (&%)

fub = n( 10523 + 471 + 187 + -056 ) = 10567 MPa (2I%h
@ H1E &35 (-) (HEF F7155 012d)

fbdcl,nc = Mdcl / Sbs = 105.23 MPa (21&h)

fbdc2,rein = Mdc2 / Sbs = 471 MPa (2%

fbin,rein = MlIn / Sbs = -0.56 MPa (&%)

fub = n( 10523 + 471 + -056 ) = 10390 MPa (217
At THAH MEl S

HEEUX]
@ H2E &515(+) (= FI16+E 121)

ftdcl,nc = Mdcl / Sts = -58.22 MPa (&%)

ftdc2,3n = Mdc2 / Sts = -4.55 MPa (&%)

ftdw,3n = Mdw / Sts = -1.80 MPa (&%)

ftlp,n = Mllp / Sts = -1.83 MPa (&%)

fut = -5822 + -455 + -180 + -183 = -66.39 MPa (¥%)
@ H2E &5t5(+) (= F75H5 0|1d)

ftdcl,nc = Mdcl / Sts = -58.22 MPa (%)

ftdc2,3n = Mdc2 / Sts = -455 MPa (&%)

ftlp,n = Mllp / Sts = -1.83 MPa (&%)

fut = -5822 + -455 + -1.83 = -6459 MPa (Y¥H)
® H2E 2515 (FEF F715ts 18)

ftdcl,nc = Mdcl / Sts = -58.22 MPa (&%)

ftdc2,3n = Mdc2 / Sts = -4.55 MPa (2=)

ftdw,n = Mdw / Sts = -0.29 MPa (&%)

ftin,n = MlIn / Sts = -0.35 MPa (&%)

fut = -5822 + -455 + -029 + -035 = -6340 MPa (¥%)
@ HH &515(-) (8= F715H5 0123)

ftdcl,nc = Mdcl / Sts = -58.22 MPa (&)

ftdc2,3n = Mdc2 / Sts = -4.55 MPa (&¥%)

ftin,n = MlIn / Sts = -0.35 MPa (&%)

fut = -5822 + -455 + -035 = -63.11 MPa (&%)

SR EHUX
@ HILE &35 (+) (= F7H51E 18)

fbdcl,nc = Mdcl / Sbs = 70.15 MPa (2%

fbdc2,3n = Mdc2 / Sbs = 4.84 MPa (21&h

fbdw,3n = Mdw / Sbs = 192 MPa (2%

fblp,n = Mllp / Sbs = 1.26 MPa (21%)

fub = 7015 + 484 + 192 + 126 = 7817 MPa (2%



@ HI1E &5t5(+) (Fd= F7t5H5 0|11e)
fbdcl,nc = Mdcl / Sbs = 70.15 MPa (2%
fbdc2,3n = Mdc2 / Sbs = 484 MPa (21Zh)
fblp,n = Mllp / Sbs = 1.26 MPa (21%)
fub = 7015 + 484 + 126 = 7625 MPa (21%)
@ HE &35 (-) (8T F7I5t5 18)
fbdcl,nc = Mdcl / Sbs = 70.15 MPa (2%
fbdc2,3n = Mdc2 / Sbs = 484 MPa (21
fodw,3n = Mdw / Sbs = 1.92 MPa (2%
fbln,n = Mlin/ Sbs = 0.24 MPa (2IZh
fub = 7015 + 484 + 192 + 024 = 7715 MPa (2%)
@ H1E &35 (-) (HEF F715t5 012d)
fbdcl,nc = Mdcl / Sbs = 70.15 MPa (21
fodc2,3n = Mdc2 / Sbs = 4.84 MPa (21
fbln,n = Mlin/ Sbs = 0.24 MPa (2IZh
fub = 7015 + 484 + 024 = 7523 MPa (2%)
D. L| 28| HEf S
B dFEUX
@ H Y &3t5(+)
fut = Mllp / Sts = -109 MPa (&%)
@ HY 55(-)
fut = Mlln / Sts = -109 MPa (&%)
B SHEEUX
@ H Y &5t5(+)
fut = Mllp / Sts = 075 MpPa (2I%h
@ HY &55(-)
fut = Mlln / Sts = 075 MPa (2I%h
E. SHYE 2%
SI= =3t 2X|  |Dc+Dw+LL(+) Dc+LL(+) [Dc+Dw+LL(-)| Dc+LL(-) LL(+) LL(-)
(Mpa) (Mpa) (Mpa) (Mpa) (Mpa) (Mpa)
o8 -94.07 -91.50 -94.32 -90.79 - -
kel ALY EHX| e (=) (=) (=) - -
52 111.01 108.28 105.67 103.90 - -
WX (21 (21 (2I7h (2I7h - -
oS5 -66.39 -64.59 -63.40 -63.11 - -
AHRSHH ALY EHUx| e (=) (=) (=) - -
5t 78.17 76.25 77.15 75.23 - -
EHUx| (21%h (21 (21 (21 - -
Abg - - - - -1.09 -1.09
]2 5 AVE EUX| - - - - (=) (=)
sk . - - - 0.75 0.75
EUX| - - - - (21Eh (21Eh




7t SeretA| el
A. Ho{ E7HX]| [£. 4.3 6.13.6.1.(4)]
B H1F 53 &)
Fcfp = Max(Fcfpl, Fcfp2) = 236.25 Mpa
07| A, fcf = 111.01 Mpa
Fcfpl = [(fcf/Rh)+o-@f-Fyf)/2 = 213.01 Mpa
Fcfp2 = 0.75-aepf-Fyf = 236.25 Mpa
Pcup = Fcfp-Aeb = 10716300 N = 1071.63 kN
5 HaF 55 )
Fcfn = Max(Fcfpl, Fcfp2) = 236.25 Mpa
47| M, fcf = 10567 Mpa
Fcfnl = [(fcf/Rh)+o-@f-Fyf)/2 = 210.34 Mpa
Fcfn2 = 0.75-o-@f-Fyf = 236.25 Mpa
Pcun = Fcfn-Aeb = 1071630.0 N = 1071.6 kN
Load Case Location fcf (Mpa) Fcf (Mpa) As (mm?) Pcu (kN)
Dc+Dw+LL(+) | SHRZX| 111.01 236.25 4,536 1071.63
Dc+Dw+LL(-) | 7S X 105.67 236.25 4,536 1071.63
B. HIHIO{ E3X|
85 H2F &st5E )
Fncfp = Max(Fncfpl, Fncfp2) = 236.25 Mpa
047|M, fncf = 94.07 Mpa
Fncfpl = Rcf(fncf/Rh) = 200.19 Mpa
Fncfp2 = 0.75-o-@f-Fyf = 236.25 Mpa
Pncup = Fncfp-Aeb = 12757500 N = 12758 kN
85 HOE 55D
Fncfn = Max(Fncfpl, Fncfp2) = 2363 Mpa
0f7|M, fncf = 9432 Mpa
Fncfnl = Rcf(fncf/Rh) = 200.73 Mpa
Fncfn2 = 0.75-o-¢f-Fyf = 236.25 Mpa
Pncun = Fncfn-Aeb = 1275750 N = 1275.8 kN
Load Case Location fncf (Mpa) | Fncf (Mpa) | As (mm?) Pncu (kN)
Dc+Dw+LL(+) | AR E2X| 94.07 236.25 5,400 1275.75
Dc+Dw+LL(-) | SR EUX| 94.32 236.25 5,400 1275.75




L. AFSSHA| AFEl
A HEEWX]
8 HF g5 )
Fps = fs/Rh = 66.39 Mpa
0{7|M, fs = 6639 Mpa
Pps = FpsAeb = 3585236 N = 35852 kN
g HIE #855E )
Fns = fs/Rh = 6340 Mpa
0j7|M, fs = 6340 Mpa
Pns = FnssAeb = 3423515 N = 34235 kN
B. St EX|
8§ H1F gstE(E|0)
Fps = fs/Rh = 7817 Mpa
0j7|M, fs = 7817 Mpa
Pps = FpssAeb = 422100 N = 4221 kN
8 HIE 255 E )
Fns = fs/Rh = 77.15 Mpa
07|M, fs = 7715 Mpa
Pns = Fns:Aeb = 4165910 N = 416.59 kN
Load Case Location fs (Mpa) Fs (Mpa) As (mmz) Ps (kN)
Dc+Dw+LL(+) | S FEHUX| 66.39 66.39 5,400 358.52
Dc+Dw+LL(-) | §FEAMK| 63.40 63.40 5,400 34235
Dc+Dw+LL(+) | SHREERX| 78.17 78.17 5,400 42210
Dc+Dw+LL(-) | SHREEAMX| 77.15 77.15 5,400 416.59

Ct. | 2 3hA| El

Location Af (Mpa)
217
1.50

0

el;

I | 4c
e | mlk
|
| A




Ago = 300 x 14 «x
Agi = 115 x 14

4200 m (2%
3220 mr (LS

X
N
I

Ano = (Bs-dh-Nt)ts 3528 mr (2%

Agi = 2/(Cs-dh-Nt)ts = 1876 mr (LD
SUX] HEHA Afu = 0 x 0 + 300 x 18 = 5400 mr
SR =8gH Pcu = 35852 kN
AR EE £ N =P/p, = 358524 / 96000 = 4 EA= 10 EAAE = O0OK!
(2 ¢, 5 )
Ll EEQ| HiX| & EE 7t4 HE
@ 2EO°| HiX| CLof O|2&
a : Bs
T
~—— @ ® : ® - —e Y £
s | 0 | S Ft:f:t:ﬁ:l
= A (o [ L4 — S ="
{0 | — P [ E— -
] R S e e P e e . 2 J
Ry (ool ! e w|]== 1 Cs Cs
C— e o 1‘ ¢ o —" Y -
|
& l 11
. ._
LIJ L2 J L3 J L2 L_l (Zatsh
i s i . o|gE S
Z] &
Ls 780mm L1 45mm L (4@ 75 = 300mm L3 90mm PL-300x14x780 1
Bs | 300mm | B: 37mm B2 | 1@ 40 =  40mm Bs | 146mm PL-115x14x780 2
Cs 115mm C1 38mm C |1@ 40 = 40mm Cs 30mm F10T, M22x90 20
@ =2E 7t4 4E
SEQ| FMUA HE (=43 6.13.26]
HABHUA 0 scmin= 66 mm < 85 mm(=V(752+ 402) ... = OK!
ACHEMZEA . p_max = 156 mm {=Min(156, 175} 2 75 MM s = O.K!
AttAZ HE
EA2HEHE 0 emin=28 mm< 37 mm(= YA CHEEA XSIPA™ECA) L = O.K!
ZHAHEEAHE] © e max = 112 mm {=Min(125, 8t)} > 45 MM s = O.K!
Ct. o] & &£ &AM
o X{o| CHHA . Afu = 5400
O|Smo| CHHA - Afs = Bsits + Csts-2 = 530 x ts=> Afu
ol2mol = J: ts > 5400 / 530 = 102 mm= 14 mm A2



en HE [=.4.3 6.13.5.2]
o

Bs

Bs

Ag = (1-Agi/Ago)x100 = 117 % < 15 % ( 2T MCHZZ dA )
Pcu = 39867 kN
Prol = @y-fy-Ago = 1,256,850 N = 1,257 kN
Pro2 = @u-fu-Ago = 1646400 N = 1646 kN
Pril = @yfy-Agi = 963585 N = 964 kN
Pri2 = @ufu-Agi = 1,262,240 N = 1,262 kN
Pr = Min(Prol, Pro2, Pril, Pri2) = 964 kN> 399 KkN(=Pcu) = Q.K!
.YEZEE
Ag = (1-Agi/Ago)x100 = 117 % < 15 % ( 2T MCHZAZ 47 )
Pcu = 39867 kN
Rri = @cfy-Agi = 912870 N = 913 kN
Rro = @cfy-Ago = 1,190,700 N = 1,191 kN
Rr = Min(Rri,Rro) = 913 kN2> 399 KkN(=PCU) e = O.K!
. S5ty
Q|% o|Z &
X Failure Mode A-A
= A Avg = (L1+L2)ts = 4830
T T
1 Avn = (L1+L2-dh-N)-ts = 3318 mr
*—— ®
m IR Atg = (B1+B2+B3)ts = 3,682 mr
=z o |
o i s ] Atn = (B1+B2+B3-dh:N)-ts = 3178 mr
TP T EERTES R T R = @bs(0.58Fy-Avg+FuA
B o o : - Rr = @bs-(0.58-Fy-Avg+Fu-Atn)
@ Sy = 1952 kN> 399 kN(=Pcu) .. = OK!
— (AF O ----- ® i
- i
@ !
Lll L2 1 Ls 1 L2 1L1 (gdtgh
Ls
X Failure Mode B-B
= B | Avg = 2x(L1+L2)ts = 9,660 mr
T T
1 Avn = 2x(L1+L2-dh:N)ts = 6,636 mn
*— [ o |
o IR Atg = 2x(B1+B2)ts = 2156 mr
=z 9 |BF@®----- e |
o i o < I ] Atn = 2x(B1+B2-dh:N)-ts = 1820 mm’
TP TR g T Rt = @bs(0.58Fu-Avn+Fy-At
{9_( | p e ° : r —(ps.(_ ‘FU-AVN+Fy- g)
@ 1 = 1682 kN> 399 kN(=Pcu) .. = OK!
*— [ o |
P
: =
[oa) B i
Lll L2 1 Ls 1 L2 1L1 e
Ls




@ U= oS¢t
X Failure Mode A-A

A Avg = 2x(L1+L2)ts = 9,660 mr
e 10 | Avn = 2x(L1+L2-dh-N)ts = 6636 m
G100 *—— | [} o | J
ERY) i L T - Atg = 2x(C2+C3)ts = 2156 mr
N Ot (A o |
< lg ; Atn = 2x(C2+C3-dh-N)ts = 1820 m
' R = gbs(0.58Fu-Avn+Fy-Atg)
B Y N VG5 - 1682 kN> 399 KN(=Pcu) .. = OKI
Ls
® HOH 42 EHX|
X Failure Mode A-A
= | Avg = 2x2x(L2+13/2)}Tfu = 24,840 mr
A Avn = 2x2x(L2+L3/2-dh-N)-Tfu = 17,064 m
| S— [ - ® °
m 1 iA Atg = 2xB2-Tfu = 1440 mr
= *----- °o-i @ °
B ]| e |- At = 2x(B2-dhN)Tu = 1,008 mr
=T P T AR AT T . Rr = @bs{(0.58FuAVn+FyAt
B bt ‘_1! o o - Rr = @bs-(0.58-Fu-Avn+Fy-Atg)
& i A = 1682 kN> 399 kN(=Pcu) .. = OK!
{ S— | o-i ® °
m B i
Lll L2 1 Ls 1 L2 1L1 (gdtgh
Ls
. EE ZE HE
A. EE MEHHE [=.4.36.13.27]
Pcu = 1,276 kN
Fub = 1000 Mpa
Ab = nd¥/4 = 380 mw
Rn = 048AbFubNs = 364927 N = 36493 kN
Ru = @sRn = 291,942 N = 29194 kN
Nb = Pcu/Ru = 5 EA
B.ZEE OIE ZE [=.4.36.13.2.8]
Ps = 359 kN
Pt = 200 kN
Rr = Kn:Ks-Ns-Pt = 160 kN(=Ru)
Nb = Ps/Rr = 3 EA

CE2E 7+ HdE
Nreq = 5 EA
N,Use S 00 B ettt ettt ettt sae e = O.K!



=2E7Y XY

Pcu = 399 kN

oxy 3uLE

Rnl = 12lctsFu = 1E+06 N = 1029 kN

&g 82

Rn2 = 12lctsFu = 1E+06 N = 1317.1 kN

ZETY THe SEZE

Rn = Rnl + Rn2 = 2346 kN

Rr = @bbRn = 1877 kN > 399 kN (=Pcu) ...
Bl AT D2 HE

AFn = Max( (A/N)Y3, 05x(AFth ) = 5500 Mpa

AF = 109 Mpa < 5500 Mpa (=AFN)

2o GTNE dE

Ps = 179 kN

ftin = Ps/ Agi 55.67 Mpa

ftou = Ps/ Ago 42.68 Mpa

D.

max(ftin ,ftou)

= 5567 Mpa < 29925 Mpa (=0.95xFyf)

H
nx
rot

3t 6.13.2.9]



3) StFE7X| o5

7b THHEH G AQ EE £
O| 2T STHHA
Ago = 300 x 16 x 1 = 4800 m (2%
Agi = 115 x 16 x 2 = 3680 mr (U
O| 2% =CHHA
Ano = (Bs-dh-Nt)ts = 4032 mr (2F)
Agi = 2(Cs-dh-Nt)ts = 2144 mw (4>
SR CHHA Al = 0 x 0 + 300 x 18 = 5400 mwr
SUWX| 28H Pcu = 42210 kN
AQ BE & N =P/p, = 422100 / 96000 = 5 EA= 10 EAAE = OKI
(2 ¥ 5 9)
L}. EEO| HiX| & EE 1A ZHE
@® 2E°| HiX| CL of O| 2% 11
| .—
pa) |
:
" @ ® : ® T
& : L Cs
= S I S U S A ﬁ
| o |8 FESESESEESEI=5-o-ooooooois
g — o ° | e ——4
B | Plemi o = ﬁ
i Bs Ju]
& i
LIJ L2 J Ls J L2 JLl (getzh
- T s - . 0|2R 4
4 =
Ls 780mm L1 45mm L2 | 4@ 75 = 300mm L3 90mm PL-300x16x780 1
Bs | 300mm | B 37mm B2 | 1@ 40 =  40mm Bs | 146mm PL-115x16x780 2
Cs 115mm C1 38mm C: |1@ 40 = 40mm Cs 30mm F10T, M22x100 20
@2E 13 4E
=SEQ| SMUH AHE (=43 6.13.2.6]
HABMUA: s _min= 66 mm < 85 mm(=V(752+ 40?) ... = O.K!
ACHEMZEA . p_max = 164 mm {=Min(164, 175} 2 75 MM s = O.K!
dctAz| HE [=.4 35.3.10]
EAATEAZ] : emin=28 mm< 37 mm(= YA CHEERNA, XpESIAZFECA) L = OK!
ZCHHTEHE] © e _max = 125 mm {=Min(125, 8t)} 2 45 MM s = 0!
Ct. o2& =MW 2%
2 Xjo] CHHA . Afl = 5400 mr
O|Smto| CHHA - Afs = Bsits + Csts-2 = 530 x ts> Afl
Ol2mo| & M: ts > 5400 / 530 = 102 mm= 16 nmmAtE



en HE [=.4.3 6.13.5.2]
o

Bs

Bs

Ag = (1-Agi/Ago)x100 = 117 % < 15 % ( 2T MCHZZ dA )
Pcu = 53582 kN
Prol = @y-fy-Ago = 1436400 N = 1436 kN
Pro2 = @u-fu-Ago = 1,881,600 N = 1,882 kN
Pril = @yfy-Agi = 1,101,240 N = 1,101 kN
Pri2 = @ufu-Agi = 1442560 N = 1443 kN
Pr = Min(Prol, Pro2, Pril, Pri2) = 1,101 kN> 536 kN(=Pcu) = O.K!
.SRHEE
Ag = (1-Agi/Ago)x100 = 117 % < 15 % ( 2T MCHZAZ 47 )
Pcu = 63788 kN
Rri = @cfy-Agi = 1,043280 N = 1,043 kN
Rro = @cfy-Ago = 1,360,800 N = 1,361 kN
Rr = Min(Rri, Rro) = 1,043 kN2> 638 KkN(=PcU) e = O.K!
. =S Hchnly|
Q% O] ST
X Failure Mode A-A
= A Avg = (L1+L2)ts = 5520
T T
1 Avn = (L1+L2-dh:N)ts = 3792 mr
*—— ®
m IR Atg = (B1+B2+B3)ts = 4,208 mr
=z o |
Do I ey N Atn = (B1+B2+B3-dh-N)ts = 3632 mr
|7 TS A T R = (bs(0.58Fy-Avg+FuA
B o ‘: - Rr = @bs-(0.58-Fy-Avg+Fu-Atn)
@ ] = 2231 kN> 536 kN(=Pcu) .. = OK!
— (AF O ----- ® i
- i
o !
Lll L2 1 Ls 1 L2 1L1 (gdtgh
Ls
X Failure Mode B-B
= B | Avg = 2x(L1+L2)ts = 11,040 mr
T T
1 Avn = 2x(L1+L2-dh:N)ts = 7,584 mn’
*—— ° o
o IR Atg = 2x(B1+B2)ts = 2464 mr
=z 9 |BF@®----- e |
o i o < I ] Atn = 2x(B1+B2-dh-N)ts = 2,080 mmr
TP TR g T Rt = @bs(0.58Fu-Avn+Fy-At
{9_( | p e ° : r —(ps.(_ ‘FU-AVN+Fy- g)
o 1 = 2345 kN> 536 kN(=Pcu) .. = OK!
*— [ o |
P
H —
m B i
Lll L2 1 Ls 1 L2 1L1 e
Ls




@ U= oS¢t
X Failure Mode A-A

Avg
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Avn
Atg
Atn

Ls L2

Rr

ne
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Ls

® 7t SR EUK|
X Failure Mode A-A
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o

Avg

*~———
o~
o 1
—
JoC
L

7c

B

T e—
o~

[aa] 1

*r—

> —

Bs

Avn
Atg
Atn
Rr

—
om

*—

ne
oz
od

= d’/4
= 0.48-Ab-Fub-Ns
= @sRn

Pcu/Ru

4

o ZE
422 kN
= 200 kN
= Kn-Ks-Ns-Pt
Ps/Rr

.EE N+ EE
4 EA
10 EA

N,req

N,use

380 mm
364,927 N
291,942 N

EA

160 kN (

EA

36493 kN
291.94 kN

Ru)

= 2x(L1+L2)ts = 11,040 mm

= 2x(L1+L2-dh-N)-ts = 7,584 mr

= 2x(C2+C3)ts = 2464 mr

= 2x(C2+C3-dh-N)-ts = 2080 mmr

= @bs-(0.58-Fu-Avn+Fy-Atg)

= 2345 kN2> 536 kN(=Pcu) .. =O0OK!

2x2x(L2+L3/2)-Tfl = 24,840 mm

2x2x(L2+L3/2-dh-N)-Tfl = 17,064 mr

2xB2-Tfl = 1440 mmr

2x(B2-dh-N)-Tfl = -288 mr

(pbs-(0.58-Fu-Avn+Fy-Atg)

4,243 kN> 536  kN(=Pcu) .. @ OK!
(=23 61327]
(=43 6.1328]

= OK!



Rn2 = 1.2:Lcts-Fu
2ETY WA BYLE

Rn = Rnl + Rn2

Rr = @bbRn =

Hi. AT D2 HE
AFn = Max( (A/N)Y®, 0.5x

1176000 N

1176

2352000 N = 2352

3528.00 kN
282240 kN = 536

(AFth )

AF = 075 Mpa < 5500 Mpa (=AFn)

AL AZET STNE HE

Ps = 211 kN

ftin = Ps/Agi = 5735
ftou = Ps/Ago = 4397
ft = max(ftin ftou) =

Mpa
Mpa

57.35 Mpa < 299.25 Mpa (=0.95xFyf)

kN

kN

kN (=Pcu)

55.00 Mpa

iz
rot

7k SeretA el
A AAHHTHE
Vp (kN) C Vn (kN) Vr (kN) Vu (kN) Vuw (kN)
908.38 1.00 908.38 908.38 169.92 254.88
B. %}ELRHE 3! +HH
Case 1 : Positive LL
Fcf (Mpa) fcf (Mpa) fncf (Mpa) | Muw (kN-m) | Muv (kN-m) | Mtt (kN-m) Huw (kN)
236.25 111.01 94.07 81.74 22.94 104.67 1084.98
Case 2 : Negative LL
Fcf (Mpa) fcf (Mpa) fncf (Mpa) | Muw (kN-m) | Muv (kN-m) | Mtt (kN-m) Huw (kN)
236.25 105.67 94.32 81.84 2294 104.78 1086.32
Lt. At A A El
A BAHHETHE
Vsp (kN) Vsn (kN) Vw (kN) - - -
139.00 156.45 156.45 - - -
B. 4 8RMUE I +uH
Case 1 : Positive LL
fs (Mpa) fos (Mpa) Muw (kN-m) Muv (kN-m) Mtt (kN-m) Huw (kN)
78.17 66.39 27.07 14.08 41.15 359.38
Case 2 : Negative LL
fs (Mpa) fos (Mpa) Muw (kN-m) Muv (kN-m) Mtt (kN-m) Huw (kN)
77.15 63.40 26.32 14.08 40.40 349.39

t6.13.2.9]



Ch. CHEX &

@® =2E9| HiX|
ﬁ’: : L —e  —————
0
_ yb_max,--|-e---e oo v :.:; — =1 Nv
% ii:é 4 yblj, ,,,,,,%,,,,, < o th/ ﬂs_j_ ._.I._.el._ N.A
e-o o o 4 11 /A
22— . — =
L1 L2 L2 L1 Bolt
Ls ( 4 3 9
Ls (Gah Ol2% =¥
4 =
Bs 330mm B1 53mm B | 3@ 75 = 225mm D 61lmm PL-500x11x330 2
Ls 500mm L1 50mm Lz | 2@ 75 = 150mm Ls 100mm F10T, M22x80 24
S22 S0 2 BOLT SAILX[S] HE|(ybi)
No. S A2 (mm) No. S A2 (mm) No. = & 2 2| (mm) No. Z A A 2| (mm)
yb 1 38 yb 4 0 yb 7 0 yb 10 0
yb 2 113 yb 5 0 yb 8 0 yb 11 0
yb 3 0 yb 6 0 yb 9 0 yb_max 113
@EE U4 4E
ZEO| SHUH d& (=43t 6.132.6]
ZHAFHEA 0 smin= 66 mm < 75 mmMin(7575) . = OK!
ZCHEMZEA . p_max = 144 mm {=Min(144, 175} 2 75 MM s i O.K!
ACtAHZ| HE
FAHATAHZ| : emin=28 mm< 50 mm(> YA CHEEA XSIIA™CA) = O.K!
ZHATEAZ] : e_max = 88 mm{=Min(125, 8t)} > 53 MM e, = O.K!
SET SHERUE
Ip = nms*n’-1)+g*(m*1))/12 = 129375 mm?
7|M, n=did ZE = m=GUF ZE 5 =HLF ZE 74, g=g& EE 74
gt SR EE MOUHE (=43t 6.13.6.1.(4)]
A. SeHCHA A E
2E MCHZE, Ru = 29194 kN
@ Case 1 : Positive LL
VuwOi| 2|5t =&l8ha M EH
Nb = nm = 12 EA
Pv. = Vuw/Nk= 2124 kN/EA
HuwOi| ofgh s=HHhar Tt
Ph = Huw/Nt= 9042 kN/EA
Mttofl oleh X|2|= 2 Eo| =8 8 #Ader T
X = (m-1)xg/2 = 75 mm
y = (n-1)xs/2 = 113 mm
Pmv = Mttxx/Ip = 61 kN
Phv = Mttxy/Ip = 91 kN
Prl = V[(Pv+Pmv)’+(Ph+Phv)’] = 199.07 kN




@ Case 2 : Negative LL

Vuwoll S8 4|83 HEH
Nb = nm = 12 EA
Pv. = Vuw/Nkt= 2124 kN/EA
HuwOll O$h B e Hchey
Ph = Huw/Nk= 90.53 kN/EA
Mttol O[3t 29|15 BEO| £ U +Xuke M
X = (m-1)xg/2 = 75 mm
y = (n-1)xs/2 = 113 mm
Pmv = Mttxx/Ip = 61 kN
Phv = Mttxy/Ip = 91 kN
Pr2 = V[(Pv+Pmv)’+(Ph+Phv)’] = 199.28 kN
"~ Prmax = Max(Prl, Pr2) = 199.28 kN < 29194 kN(=Ru)
B. AHETHA| & EY
2E MHZZ, Ru = 160.00 kN
@ Case 1 : Positive LL
Vuwol| of3t X arsr Mt
Nb = nm = 12 EA
Pv.. = Vw/Nb = 13.04 kN/EA
HuwOi| ofgh 4=Fear Tt
Ph = Huw/Nk= 2995 kN/EA
Mttof| eloh x| 2|5 2E2| =8 8l #Xge FEHE
X = (m-1)xg/2 = 75 mm
y = (n-1)xs/2 = 113 mm
Pmv = Mttxx/Ip = 24 kN
Phv = Mttxy/Ip = 36 kN
Pr2 = V[(Pv+Pmv)’+(Ph+Phv)’] = 7538 kN
@ Case 2 : Negative LL
VuwOf| ook =2 ghok HEHE
Nb = nm = 12 EA
Pv. = Vw/Nb = 13.04 kN/EA
HuwOfl 2|t =EHetak M EH
Ph = Huw/Nk= 29.12 kN/EA
Mt O[3t 29|15 ZEO| £ U +Xure MEHE
X = (m-1)xg/2 = 75 mm
y = (n-1)xs/2 = 113 mm
Pmv = Mttxx/Ip = 23 kN
Phv = Mttxy/Ip = 35 kN
Pr2 = V[(Pv+Pmv)’+(Ph+Phv)?] = 73.87 kN
. Prmax = Max(Prl, Pr2) = 7538 kN < 160.00 kN(=Ru)
Of dZg Mohes ZE
83tE, Vuw = 254.88 kN
Ag = NstsBs = 7260 mm?
Rr = @v-Rn = ¢@v-0.58AgFy = 22869 kN> 25488 kN(=Vuw)

= OK!



Hf. HZE Mciohy| HE
HAFEE, Vuw = 254.88 kN
A THHDI HE
Avnl = Ns:(Bs-n-dh)-ts = 5148 mm?
Avn2 = 0.85xNs-Ag = 6171 mm?
Avn = Min(Avnl, Avn2) = 5148 mm?
Rr = @bs:(0.58-Fu-Avn + Fy-Atg) = 1,170 kN> 254.88 kN(=VUW) e
O7|M,  Atg=0 IZ0 Metdt= o| ST CHHA 2 022 7HY
B.2§ Mt oty A&
ﬁt: : T
| a Avg = (B1+B2)ts = 3,053
-e-9 o o v Avn = (B1+B2-dh-N)ts = 2129
| ! Joul o Atg = L)t = 2,200
S E : ™ = Atn = (L1+L2dhN)ts -~ 1,540
- ® ¢ o o 2 Rr = ¢bs(0.58Fy-Avg+Fu-Atn)
op | 0 = 1050 kN> 255 kN(=Vuw)
L1 L2 L2 L1
Ls
Ls (Eeeh
AL @S EE
@ Case 1 : Positive LL
f = Mtt/Spl + Huw/Ag = 41159 Mpa < 31500 Mpa (=offyw) s r
O{7|A, Spl = 1/6xAgBs = 399,300 mw
@ Case 2 : Negative LL
f = Mtt/Spl + Huw/Ag = 412.03 Mpa < 31500 Mpa (=@ffyw)
o7|M, Spl = 1/6xAgBs = 399,300 mw
oL E7XE HE
@ Case 1 : Positive LL
f = Mtt/Spl + Huw/Ag = 15257 Mpa < 31500 Mpa (=0.95xfyw) v,
0{7|M, Spl = 1/6xAgBs = 399,300 mr
@ Case 2 : Negative LL
f = Mtt/Spl + Huw/Ag = 14931 Mpa < 315.00 Mpa (=@ffyw) s
O{7|A, Spl = 1/6xAgBs = 399300 mr
I 3TNE dE
Pcu = 199.28 kN
2ETY HHo| 3HYE
Rn = 12LctsFu = 252252 N = 25225 kN
Rr = @bbRn = 201.80 kN > 199 kN (=PcU) e,

mnr
mm
mm

mm

. = OK!

= OK!

= O.K!

= O.K!

= O.K!



10. 6 7t2H M|

10 .6.1 7724 MA|
1) 44 =A

AHEZ Y
=T 43T . SM400
r ZEE2 . H-294x200x8x12
| 2RO HASH HE (.4 384.1]
| 1.200 SHELW ABES 18
(L= 1347 m, AFZf = tw(min) = bw/ 256 = 270 / ( 256 x 12 ) = 088 mm
o 7|M, V(fca/fc) = V(140/17.6) =28 > 12 = 12
-~ - SE20 ALE S tw= 8 mi2 tw(min) ... = O.K!
3 £
—N--f--N 32 ZUX| AAFH HE [E.M 3831]
o - tfumin) =bfu' / 16 = 9 / 16 = 6 mm
— = = Hmin) =bfl / 16 = 9 / 16 = 6 mn
lklo_bfl SEEUX] AR EH ttu = 12 mm2 tf(min) ... = O.K!
tw SHEZ K| AFE S| tl = 12 mm> tf(min) ... = O.K!
2) 5t5 4+
nESiel s
W= ( 0200 x 0294 - 0192 x 0270 ) x 7850 = 0546 kN/m
25tE  (KL- 510 )
2otE Pr= 48 kN, Pm = 135 kN, Pl = 192 kN
EAHAS ;i = 15/(40+ 1347 ) = 0363 > 0300 — .. i = 0300
P =135 x ( 1+ 0300 ) = 175500 kN



1347

(=L

@ gotSof 2lgt £ H

[LOAD CASE 1]

*— @ '«

|
|

f
l 0.074

i m ®
0.074 1.200
(=a) (=a)
1.347 (=L)
[LOAD CASE 2]
P P
a m ?
1.200 J 0.147
(=B) (=Y)
1.347 (=L)
® 2 =T HEX|X])
o
Ma = Mda + Max(Mla1, Mlaz2)
Va = Vda + Max(Vlay, Vlaz)
EReks
Mm = Mdm + Max(MImz1, Mimz2)
Vm = Vdm + Max(Vimz, Vimz)

DHE
Mla1 =
Mim: =
Mk
Vlar =
Vimi =

DHE
Mlaz =
Mim: =
Mk
Vlaz =

Vimz =

= 0.000
= 0.368

= 0124
= 0.000

0.000 kN'm

0546 x 1347 2 / 8 = 0124 kNm [=Wd-L?%/ 8]
0546 x 1347 / 2 = 0368 kN [=WdL/2]
0.000 kN

0.000  kN-m

175500 x 0.074 = 12899 kN-m [=P-q]
175.500 kN

0.000 kN

175500 x 1109 = 194653 kN [=P-(1 +y/L)]
0.000  kN-m

12899 kN-m [=(Rla - P)(L/2)]

194.653 kN [=Ra]

194653 - 1 x 175500 = 19153 kN [=Ra-P]
+ Max( 0.000 , 0000 ) = 0000 kN-m
+ Max( 175500 , 194653 ) = 195021 kN
+ Max( 12899 , 12899 ) = 13.023 kNm
+ Max( 0000 , 19153 ) = 19153 kN



a4
HEMK|
ChHH bxh A(mm) n(mm) An(mm) A-n(mmé) To(mm)
| EHX| 200%12 2,400 6.0 14,400 86,400 28,800
S5 EUX| 8x270 2,160 147.0 317,520 46,675,440 13,122,000
otzf S x| 200%12 2,400 288.0 691,200 199,065,600 28,800
e Al - 6,960 - 1,023,120 245,827,440 13,179,600
es = YAn/YA = 1023120 / 6960 = 147 mm
Is = S(An?) + Slo - (JA)-es?
= 245827440 + 13179600 - 6960 x 1472 = 108,608400 mm*
Ysu = es = 147 mm
Ysl = Hs-es = 147 mm
B. 5|83 Ad
LHEO| Z 2= 0 Lt 58S H (.4 H334(b), H3.44]
bfu' / 129 = 744 mm< tlu = 12 mm — fca = 14000 MPa
Aw/Ac= 2160 / 2400 = 090 < 2
K=+v { 3+ 2160 / ( 2 x 2400 ) = 186
/b = 1347 / 200 = 674 > 460 (= 46 / K = 46 / 100 )
fca = 140 - 249 ( Kl/b - 46 ) = 13468 MPa
fca = 13468 MPa, fta = 14000 MPa, va= 8000 MPa
C. 88Z4E
@ e SEHHYE
fu= MaVYsu/Is = 0000 x E06 x 147 / 108608400 = 000 MPa < fta = OK!
fl= MaVYsl/Is = 0000 x E06 x 147 / 108608400 = 000 MPa < fca = OK!
v = Va/As= 195021 x E03 / 6960 = 2802 MPa < Va oo = OK!
0.00 2 28.02 2
_— _— = 0123 < 12
134.68 80.00 e, = OK!
@ 3L SHIE
fu= MmvYsu/Is= 13023 x E06 x 147 / 108608400 = 1763 MPa < fca = OK!
fl= MmYsl/Is = 13023 x E06 x 147 / 108608400 = 1763 MPa < fta = OK!
Vv=Vm/As= 19153 x E03 / 6960 = 275 MPa € Va oo, = OK!
17.63 2 2.75 2
— ) 4+ (———) = 0018 < 12
134.68 80.00 e, = OK!

5 BEZx HE

SEBUMNES WY 4+ Y BUX| 27420 MK [

71 x a x tw= 682 mm > bw(= 270 mm)
7IM, o= VEABHETHSH/AMUTETSE) = V{(Fy/2.9)/v}

) = 170 >

12 = 1.20

I
=



11. 1 SHEAR KEY 4|

|
i
- i
™ i
ol . i
o !
ol © o !
N <. !
ol . o !
=) i
s ° i
S [
[ S— |
D22 @250
1) g HEHE (33 M)
V,= 3231 kN
2) BAMTHEE v 2HY [=. 4.8 57.23]
(Dsfvysz .
Vg =———— (cotB+cota)sina )

095 x 3000 x 30968 x 3600

Vyg = x ( 1732 + 1.000 ) x 0707 = 245524 kN
250.0
o, = 095
fy = 3000 MPa
A,= D22 @250 - 2EA = 3096.80 mm?
z 09d = 3600 mm
S = 250.0 mm
V,= 3231 kN < Vg = 245524 kN ...0.K
3) Z|CHEAHTZE Vg oy £HE [£.M 38t 57.23]
cotB+cota
Vd,max = Vchfckbe 1+C0t29
1.732 + 1.000
Vamax= 052 x 065 x 350 x 1000 x 3600 x 200 = 2886.44 kN
v=06x(1-fy/250) = 052
(OR 0.65
b, 1000
Vi = 245524 kN < Vgn= 288644 kN  ..0K

4) Shear Key?| HEHHE

Vo= 3231 kN < V= 245524 kN < Vgn o= 288644 kN ..OK



